200400 OO0

JO0000000LMNtalD OO O
HRERERERN

OoO0: 20050 20 20
ot 00 ud og

Joboogobobgobbdd bgooooobggo
oo : 3603U147-0

o o



g g

O000boobOobOooooboooobOo LMNtal OO Oooooboonog
gooboobgobooboboboboobobuoboboboboobobon
O0bobo0oobobooboob0ooouoboO0bobob00oOobOOn LMNtald
gboboogboobobuoobobobooboboobobuoboobo
gogbbobuoooobboboooobobuooooboboooon
goboooobbooobbobbuooobobooooboobbooobboo
gdddoooooooooooooooooooooobbbobououaaan
00000 O0o0o0ob0o0obDDb LMNtalDODOODOOODODOOODODOLMNtal
ggbbobuoooobbooooboboboood
gobboboogobboboooon

o JUOUOUOUOOOLODO
e OUOOODLDOOOODDLDOUOOODLODLDDOO

e JOUOUOUOLODO
ggobobooodn

e HUOUUUODLDLDOUOOOODLDDOUOOO
e LMNtal OO DD DOODOUODOODODLOOOOOODODO
e OUOOODLODOOOODO

O00000000LMNtalDO00000000000000O00OLMNtalO
gbogboboobuodbogbouoboobbooboobouooboonbbo
goboobbuooboboboobbuooobbuooobbuooboboobbao
Uooobuoo LMNtalDODOOOOooooboobooobon
O0bo0o0oooooooboooboobOogn eyebotO O OO0 LMNtal O O
oboob0O0OO0LMNtalODDOOQODOOoOooboobooobooboooboon
goboobooboobobboobobooboooobOob LMNtalDODOOOO
gogobobooogoobodo
O000O0O0OLMNtalOOODOODOODOOOOOOOOOOO0ODO0OO0bOOD
gboooooubobobobobobobobobooobooskBooood
gbobooboooboooboowbhoobbooboooboobboo
gbobogobbogoboboobboboboogbbuooobobooobboo
O0o0o0oooob0obobooob0OLMNtalDOOOO0OOO0OODOODODOO
ggbbobuoooobbboogobbbuoooobobbooooobood



U110
1.1
1.2
1.3
14
1.5

g20
2.1
2.2
2.3
24
2.5

2.6
2.7
2.8

30
3.1

U40
4.1
4.2
4.3

OD0ooDoooo 1
LMNtal OO DOOOOOOOOoOQg ... oo oo 1
O000000000000 LMNtalOODODDOO & ... ... 1
O00O000 LMNtalODOODOODO .. 000 oo oo oo 2
OO0OD0 .. 3
OOO0O0O0 ... e 3
LMNtalOODOO 5
Atom O OO0 .. ..o 5
OOO0O0O0 ... 6
OOOD00 ... 7
LMNtalODODO ..o 8
OOO00O0 ... e e 9
251 O0OOOOO0OOO ... 9
252 0000000 ... 10
253 O0O0OOOOOOOO0O ... 10
OOO00 .. 11
OOOO00O000 ... e e 12
OO0 . . 12
Javal LMNalOOODOO 14
OO0O0 ..o 14
3.1.1 O000O0 .. 14
3.1.2 0000000000 ... 16
3.1.3  proxy ..o 17
eyebot 0 0 00O 19
eyebot OO . . . . . oo 19
eyebot OO . . . . . . . o 19
OO0O0 ..o 22



050 eLMNtalODOO

5.1 OODODOO ..o
5.2 UDODODOO ..o oo
521 UOD0OODOOOODDOOO ..o ..
522 OO0 ..o o
523 UD0OODOOOODODO ... oo
024 0O0OD0OODOODO ... o o
525 UOODOOOO ..o oo
526 UODODODOO ..o oo oo
0.3 U0 o o
53.1 UODODODOOO ... o oo
532 UDLOODOOOODODO ... oo
04 O0ODOODOODO ... o

060 eLMNtalODOO

6.1 OO0OOOO0OOOD00O0O ... ... ..
6.1.1 OOODO ... e e e
6.1.2 O0O0O0O00O0OO0OO0O0O ... .
6.1.3 O0OOOO ... e e e e
6.1.4 O0O000O0 ... .. e .
6.1.0 OUOOO0O0OOOO0O0O0O0O ... .. ... ... ... ....
6.1.6 OOOOOOOOOO0O ... ... ...
6.1.7 findatom O OO . ... ... ... ... ... ........

6.2 000000O0O0000O00O00 ... ... ... .. . . ...
6.2.1 O0O0OOOO ... . e e e e
6.22 00000000000 ... ... ... .. ... ....
6.23 OU0O0OO0O0OOOOOOOOOOO ..............
6.2.4 timer . . . . . . ..o
6.25 tmerODOOOOGOODOO ... ... . ...
6.26 O0O0OO0O0OOOOOOOOOOOOOOOO ©... ..
6.27 O0O0O0O0O0O0OO .. ... e
6.2.8 proxyODUOO ... ... o

6.3 OUOUOOOO0O0O0O0O ... ... .. .
6.3.1 O0O0O00O0O0O0O ... ... .. ..
6.3.2 O0O0OO0OU0OOOOUOOOOOOOOOOO ... ...
6.3.3 jumpUOODOOO ... ..

6.4 O00O0O0OO0OOO0OO ... ... . s

il

24
24
26
26
26
27
27
30
31
31
31
34
34



g7d
7.1
7.2
7.3
7.4
7.5

084
8.1
8.2
8.3

0o
9.1
9.2

g

gogon

ooooooooo

O0000000000000 ... 0 0o
tasktest.Imn . . . . . . ..o
wind.Imn . . . ...
thermodmn . . . . . . . ... ...

redcar.lmn . . . . . ..

goboboo

I I I
I
I I I

gobobooogn

Appendix. A OOOOOO0O

Al

JavaOOOOO eLMNtal DO DO OOOOOO 000000 oL

Appendix.B OO 0000

B.1

B.2

OOOD00 ...
B.1.1 atom.cpp . . . .. . . ...
B.1.2 atom.h . . .. ... ...
B.1.3 eyebotstub.h. . . . . ...
B.14 eyelocpp . . .« . . . .
B.1.5 eyeioh . . . . ..o
B.1.6 inst.h. . . . . ... .. ...
B.1.7 Imntalcpp . . . . . . . . ..
B.1.8 Imntalh . .. ... ... ... ... ... .. ...
B.1.9 Imntalconst.h . . . . ... ... ... ... ... ...
B.1.10 mem.cpp . . . . . . ...
B.1.11 mem.h . . . . ...
B.1.12 task.cpp . . . . ..o
B1l13 taskh . . . .o
OOO00 .. e
B.2.1 atomid.cpp . ... .. ... ...

il

51
o1
93
23
95
26

59
29
60
61

63
63
64

66

67

69
69



B.3

v

B.22 atomidh . . .. ... oo 114
B.2.3 bin2lmn.cpp . . . . ... 115
B.24 gental.cpp . . . . . ... 119
B.2.,5 splitlmn.cpp . . . . . . ..o 120
B.2.6 template.aid . . . . ... ... 121
B.2.7 translmn.cpp . . . ... ... L 122
O0O000000000 .o 130
B.3.1 eyeconv.sh . . . . . .. ... 130
B.3.2 runeyesh . . .. ... 131

B.3.3 runpcsh . . ..o 131



2.1
2.2
2.3
24
2.5
2.6

3.1
3.2
3.3

4.1
4.2
4.3

5.1
5.2

6.1
6.2
6.3
6.4
6.5

7.1
7.2
7.3
7.4
7.5
7.6

I 5
Append : 00O00O0D0O0OOODOODOODOO ... ... ... .. 6
I 7
I I 8
oo0oobooooboboooooobobobooooooo .. 9
I 0 11
I 17
OO0 PrOXy . « v v v v o e e e e e e e e e e e 18
proxyUOUOOO .. oo oo 18
eyebot UOOODOOODOODOOO .. ... 20
eyebot 000 . . . . . . oo 21
eyebot 000 . . . . . . . . 21
I 0 28
O00000 gridOO ..o o 0000 33
OO0 .. 37
0000000000 .00 o 40
OO00D0000000000 . ..o oo 41
I P 42
jump OO0 O0OOOODOOOOOOO ..o .. 48
eyebot D OO OOOO .. o000 51
eyebot DO OODOODO . ..o o oo o D2
eyebot D OO OOOO .. o000 oo 52
000000000 .00 53
sharp0 PSDOOO GP2D12000 (DOOOOOOO) ... .. 54
I P 5}



HEN

2.1 LMNtalOO

vi



010 oot

1.1 LMNtalOOOOOOOOOoogoog

0D00000000000000000000 LMNtalfl] [2][3]000000
000000000000000000000000000000000000
000000000000000000000000000000000000
LMNtal 000 00000000000000000000000000000
00 [R0000000000000000000 LMNtalJOOOOO0000O
D0000000000O0LMNtal D0000000000000000000
00000000

00000000000000000000000000000000000
00000000000000@MO0000000000000000000
0D00000000000000000000000000000000000
000000000000

o JUOOUOUOOOOODO
e HOUOUOUODLDODOOOODLDLDDOUOOODLDLDDOO

o JUOUOUOOLODO

UbooobdobUOLMNtalDOODOOOobOooboobobooboooboooog
goboboooooo0obooooboooboobOob LMNtalOODODOOOO
gobbbogobbboooobboogod

1.2 0JU000000O0OOOO0OO0O0OLMNtalOOOOO
HEN

000 LMNtalOOO [4] [5] [6] [7)0 JwaDOOO0O00000000 jar00
00000 293KBO00000000000 JaaD 0000000000000
0D00000000000000000000000000000000000
D0 LMNtal 000000000000 000000000000000000



1.3. 000000 LMNtalOODO DO OO 2

ooooboopoobobooobooooboobobLMNtalOOODOOODoOoDO
gogbobobooooboboooon
gbobodbboodbbuooobbuooobbuooobbuoooboboo
gobbooboogoboboobbooobooobbooobooonboboo
gboboobbuooobboobbuooobuoobobooobbooobboo
gobbodgboobogobbuoogbbuoggbbooobboooboboo
OoooooooboLMNtalOOOOOOOoOoooobooooooooooon
UboooobobOoLMNtalDODOODOOobooooobobooooobooboog
goo0obooboobooooooboo0bobobDoDbOob LMNtalOO DO O
gogbbobugoobbooogboobuoooobbouooooboboood
gbobobobobobobJawallODO0OOO0DOO0OOOOOOODOODOODOO
gbobbogboogobbogbbooobboooboobbooobboo
gbobbodgboboobbuooboooobooobbooobbuooobbao
gogbbobugobooobbbuoodoboboooobbobuooooboboao
gboobooboobioobXmsecOODOOODOODODOODOODLDOOMMO
gobbogobbogobbuoguoooobuooobbuooobbooboda
gbobbooobboobooobuoobbuooobbuooobbobbod
gobooobbogbuooobbuoobboogbbuooobobooobboo
gbobbodobuogbbubbooobboogbbuooobbooobao
goboobobbooogbobooobbooobbooobbooboobbao
ggbbboooobbbuoooobbbooogbon

1.3 000000 LMNtalOOOOOO

00000000000000000000000000000000000
000000000000000000000000000000000000
000000000000000000000000000000000000
0000000 LMNtal 00000000 00000000000000000
ooooooo
0000000000000000000000 LMNtaldO OO eLMNtalO
0000000000000000O0O0LMNtal 0000000000000
000000000000000000000000000000000000
000000 LMNtal 00 0000000000000000
0000000000000000000000000000000 eyebot
[10] [11] 0000 O eyebot O OO

e 000000000 ULLOLLUUUULLOULDLDDDDLDDDDODDDDO
ggboobooogn



14. 0000 3

e C++0000D00ODOOODOLOOODOLODODODODCOOUODOOD
gobooboooooon

e ROM512KBO OS O 128KB, 000000 128KB * 30 OO RAMIMB O O
ggbbbooobbbuoooobobod

gobooobbboooobobO0o LMNtalODDODOOOOoOOOoooobooo
eyebot UOOOOOOOOLMNtal DODOODOOOOODOODOOOOOOODOO
ggbobuooogbbobuoooobobobogn

1.4 0O0O0O0O

LMNtal 0 GHC, KL1IOOOOOOOOOOOOCHRODODOOOOOOOMO
00000000000000Gamma000000000000000000
0D00000000000000000000000000000000000
0000000Javal LMNtal 000 000000000CO0000 KL1O
00000 KLICOOOCHROODOODODODO (201 [21] 2200000000

00000000000000000000000000000000LEGO
Mindstorms 00000000 RCX [15] 00 Scheme D 00000000000
0000000000000 0000000000 [18)00RCXO00000O
Jwa0O0OO0O000000000

00000000000000000000000000000000000
0000000000000 (RTOSO0)00000000000000000
000 (170

1.5 000000

gobbobuooobobboooobobobooon

o [ 20
LMNtalOOOOOO JavaaOOOOOOOOOOOO

e 1301
LMNtalO JavaO O OO OOOOO0OOO0O0ODOOOOOOODO

o [ 410
eyebot U O ODODOOOOOOOO

e 1501
O00000 LMNtal OO O eLMNtal OO OO OOOOOODOOO



1.5. 0O0O0o0od 4

geld
Os000000000eLMNtalD OO0 0O0OO0O0ODOOODOO

e 170
O000000000oOoUOoUoelMNtalOOOODODOOOOooOoOoOo
O0o00oUoouoooouoouoouoo

e 180
JavaOOOOOOOOOOOOOOOOOO0OO00O0OO0O0OO0O00O000O0
0000000000 oU0oUooUoUoooooooo

9o
gogbbooboooobboboooon

Appendix
O0000OJavaldO eLMNtal O OO OO0OO0OODOOOOeLMNtal OO
O0ooooooobooooon



(120 LMNtalll OO [

0 0 0 O OLMNtal(Linked Multisets of Nodes transformation language) O O O
00000000000000000000000 LMNtalOO OO [2]3]000
O000000000000000O000O000O000O000O000O00000800
O00o0oo0oO0O0o0ocoOoOo0OoobooOoOoOooOOO0OoOoOOO0OOOOb0OO0n0O

2.1 AtomUO 000

AtomOOLMNtal OO O0DOOO0O0O0OOOO0OO0OD0O0AtomOOO0O0O0OO
OO00000DoobDboO AtomO0000D00OO0DOOOCOAtomOOOOOO
OO00000C0OO0000O0X,YyoooDoOo AD AtomO00O0O0DO YV,XOO
O00AD AtomO00000D0ODOODO

AtomOJ000000OCOOOCOODOOOODOOOOOODOO

X Y
e e [a(x), b(X,Y,2), c(Y), d(z,wW), e<WD
O

U2 0b0000000000000000d

U000 LMNtalODOODOOOOOoOOoOo2400000000000000O0
gboboboodgbboogbbuoobuooobbuoooboobbooobboo
O00bO0DbOoD0o00ogo0 AtomOOD0OD0OO0O0O AtomUO OO Atom O
gboboboodgbbuogbboobbuooobbuooobbuoobobboobao
O00ob0ob0obAtomOODODOODOODOODOOOOOOOOODbPOODLO
oo Xy,200000000o000b000ooo

O00bO0O00obO00obO0O0bO0OKLID CHROOooOoooooooo
gobooobobboobbbuo Xboooooboboooooboobobooo
ggoggbobuoooobbbogoobobbuoooon



22. 00OO0ggg 6

22 0O0O0OOOO

gboboobobooobbooobbuooobboobbooobbobboo
goooo

Res Lstl N1 N2 Res N1 N2 N3 N4
(D) | = C—(—O—0
Lst2 —j
N3 N4 ]
O——0)
<rulel> <rule2>

z0

7.0 X0 X 7.0 7 X Z _
ﬂ () - ﬂ (@) ' v
Y A A Y Y

0 22: Append : OOO0OO0D0OO0OOOOODOOOO

g2200000000000000

-
. N

append(Lstl, Lst2, Res), res(Res),

c(V1, N1, Lst1l), c(V2, N2, N1), n(N2), nol(V1), no2(V2),
c(Vv3, N3, Lst2), c(V4, N4, N3), n(V4), no3(V3), nod(V4d),

( append(X0,Y,Z0), c(A,X,X0) :- c(A,Z,Z0), append(X,Y,Z) ),
( append(X0,Y,Z0), n(X0) :- Y=Z0 )

}
N J

0000000000000 000Append00000O0OLMNtalOOOODO
OO00D000O0000Atom cOODO0O0ODOOOOODODOODODODOODDOL,2,34
0000000 0Db0D000000 AtomnOO0000O0D0OOODOOappenddd
b abbuoggon

gobbogooboogobboouobboooobooobooooooo
O000o0Doobob0b0obOb rulelDOOOOOOrulel O append O OO
gobboggbbbuogbobbcbbogoboogobobuoogbbogao
ggbbboooobbbuoogbbbuoobbbuodb abcecbbboogd
gobogubbuogguboobobooobbuooobboobbooonobooa




23. 0odgdg 7

00000000000 o0bOOooooDoooooooDooooDooDoOooon
0ood0odooOdoDodDoooooooooooonoon
rulel0O000000O00Atomappend 000 N2O0000O0O0O0OODOOO
O00Oappend D 00000000 nO0000O0O0O0O0OOrule20000000
rule20 00000 append0 nO0 00000000 Oappendd000OOONO
000d00doodoDodoDodooooooDooooooDoooooog

23 O0OO0OOO0

gbbotobbooobbboodobbuoobobboobuooobbooobboo
gbobooooboobbooobbooobbooobbooobboobobo
goboboboobobobooboboobobboobooboobobod
gogdg

{ { {a(X)}, b(X,Y), ({a(X)} = {d(X)}) }, c(Y) }
- ~
- N
o D . Cell
(OH—® ©
O : Atom
N Y,
- Y,

0230000000000 b00bo0boobg

O0bD00b00o0oooboAtomD 0000000 DOOO0ODOOOODOAtomO
gobbdooobooobbuobbbuobboobbbobbboobbbao
0{}00000 compound0 O O0000OD0OOO0O0O0O0O0OOOOOOOOOO
CelODOODOO

gbobogboboogbbooobbuooobooobbuooobboooboboo
0000000000 (stabley DOOO0OOO0OOOOODOOOOOOODODOOO
OO0 Atoma0O000O0OD0OOODOOOObDODOODOOcOOODOOODOODODOO
O00ooobobobdbdbabc000OD0DODOODOOOODOODLMNtal
gobobooboboooobbooobbooobbuooobbuoobobbabo
gbbodgboobbdobouoobbuodbbobbobuooooboobbod



24. LMNtalO OO 8

2.4 LMNtalOOO

LMNtal DO O O0OOO0OO0O0D0OO0ODOODO0OOOODOO

ooogPp oooooboooooo T
T == 0 (null)
P = 11 "

0 (2}?) En: )) O  p(X) (atom)

P aromy o 1,7 (composition)
o PP (composition) 0 (T} (cell)
o AP (cell) o  {T}/ (stable cell)
0 APy (stabl§ cell) O @p (rule variable)
0 (T T)  (reaction rule) O  $p(FVspec) (process variable)

0 2.1: LMNtal O O

D000 XO00OO0DO0OO00O0000000X000000000 X000
gbooboXooboooooooboobooobo

pO0O0000O0O0p0 AtomJ 0000000 OOODOOOOODOOOODOOO
O00ob00obO0ob0obOobOobOOoboDobO0b0O0bD AtomdOOOoOOOO0OpO
ggbbobuoooobboooooboo

gboobooob TobOopOOOOODOOODODODODOODODOODODO
gbbougbubbbogbobodobboobuoobbooboobbboon
ggbbobuoooobbbouoooobood

gbooobopbhUOoboobOOobDbOObO0ObOo0bOobDbOOobOObPODO
gobbooboboggbbuobbooobbogobbobbooobboo
pODO0OO0O0ODOO0ODOOPOODODODODDODODOODOOPOODO
gobooodg

o{pr00obooooooprPOObODOODOOOOOODOODODODOD
gogbbobuogobobboooobobbobooooboo

024 00000000000000000OO0

gbooboobboobooboobb X=YOoooooobooobdod
0ooooXoyYyOoOoooooooooooooot

lDooDo0O0O0O000000000000000000000O0D0D0000000000000
oobOoboooobOoboobooooboobooboooooboooooboooOoooooOon
oobobooobOoboobooooboooooboooooobooooOobooboOoboooaon
gooobooon



25. 0D0o0gdgdg 9

2.5 UOOOOOO

251 0O00O0OO0OOOOO

gbbouogobooobobooobooobobboooboooboboboo
gbobobgobooboboobobobobuobooboboobobon
AtomJ00000CO0ODOOOOOOODODOOODOOODOOOODDOOOOO
gboobuoobooboobobbobo

(O30 | (e C

{p(X, %)}, b(X) :-

U 25 000000b0buo0ogbbbuoooobobogd

gbobobodoboboodobbboobuooobbuoobbooboooboo
gobobodgbobodgboboobbuoobobboobobooobboobbao
gogbbobooodgbobbodo

O0000oooOOoooOo0o0oboAtom0O0000O0ODOOCOOOODODODOOOO
gbooogoogo

{a0), O, cO, {a0}}
gobboboogobobod

{aO, $pO} :-
gboooboobobobobooospOOOObDOOO
b(O, cO, {d0}

O0000«()000000000000000000000D00000000Q
goooood



25. 0D0o0gdgdg 10

252 0000000

000000$p(FVspec)d FVspecd 00D O0000000000000%p0
000000000000000000000000000000%00000
Atom 00000000000 0D0O0O0OOO0OOOOOOCOO20

FVspee 000 000000O00000[]00000000*00000000
00000

[, [FVspec ::= [, X]*[, *]

XOooObhoobuooo«sb Xgboooooobuooobbobboob oo
gogbboobobobbodoodaobo

e $p(X)Y) $p00D00D0OOXYOOO

e $p(Xx) $pUIIIIOIOODXOOODODODODODODODODODODODODODOOOO
gooo

e $p() $pODDDDDDDOOOD

e $p(x) $pOOODDODOODODOOOOOOOOOO

253 UU0OUObouoooooo

gboboboobboodgbbuooobbuoobbuobboobbbooboo
googobbogobobogbbooobuoobobooobbooobboo
gobbuoodobbbuoobbooobbuooobboooobboooboo
ggboboobuoooobobooogn

g26b0000dobbbooogn

{{{£0, aX) }, b&,Y), e(W) }, c(¥,Z2), d(Z,W) }
oooooooobobooon

{{{$p0O, a(X0) }, b(X0,Y0), $q(X) }, c(Y0,Y), $r(X,*) }

N000000000000{aX),{b(X)}}000000000 {$p(X),{b(X)}} 0000
000000000$ 00 b(X)0O00000000000 X0 aX)00000000000
XO$pO0OO0O000D0000

3000000000000000LMNtal 0000000 [3]000FVspecdO+0000
00000000000000000000000000000000000000+00000
0000000000000000000000000000000000000000000
00,0+00000000



26. 0DoddQ 11

@ ol ||[leo
O @ ED O

- J -

U 2600000000

000000000000$p()0 £()00%$q(X)0 e(W)DO$r(X,Y)D d(Z,W) D
oooooo

gbobooboobobooboboboboboobobooobobobd
OO0000ODOOOO0Oo0o0ooODObOO0UAtomOO00O0O0DDOOOOOOOODOO
gbobooboboboboboboobobobooboboobobon
UbooodbdOFVspecOOODODOOOOODOODOODODOODODODODO
O0000bO0O0oO00OO00oOOoo0obO0bOOoob00bDAtomOO0O0DOOODOODO

Oobooooooooobooboooo{aOr:-...0000000000
oooooooooooooo{aO,pOrdiioooooooooooonon
AtomJ00000OCO0ODOOOOOOODODOOODOOODOOOODOODOOO
{aO}¥O0OOO0OOObB(O)ODDOOODDODOODOODOOOODOOOOODDOOOOODOO
gboboobboodbbuooboobbuoobbuoobbooobboo
gobbogobboooboooobobooobbooobbbooooboba
0000000000000000000000000040

2.6 U0O0O0OO

gboboboobouooobboogbboobbuooobboobooaboo
gboboboobuodgbbuooobbuoobboobboobbooobbao
gogbbobuooobbboooobobuooooboo

goooooooooooo
[{a(), @p}, {b(O), eq}r, {cO} :- {aO}, {(bO}, {cO, ep, Qq} j

‘00000000000000000000000000000000000000000
obobooboobooboooooboooooboobooooboboooooboooooboan



27. O0O0ggooon 12

O0000000a)00000000000000b)DD0D0OODOODOO
O00000c()OD0O0O00O0D0O000OO000D0DODOO0OODOOOOooOooOOO
gbboogobbuoogbbooobobbuooobbooobooobobobo
goodogoooooobobobbbobbbobobboooooooouoooan
gogbbobuogoobbooodobobobooogbbob

gobogobbogobbogbuoooboboogbboobboooboboo
gbobogobbuboboobbooobbooobuooobbuooobboo
ggbbbuogoobbogoubbbuoooooobbobouooooobobogao
ggbbbuoobobbooogbbboooobbouood

2.7 OOooooood

LMNtalDOOOOOOOoO0oOOobOobobooobooooooboboboog
gbobooboboobobobobobooboboboobobooon
O0oooooOoboLMNtalOOOODOOOoOooOooboboooooooooDo
O0b000ooboobobooboobooobOJaval LMNtalOODOOOOODOOO
ggbbobuoooobbboooobbboogooo

a(2),b(3).a(X),b(Y): —c(X +Y)

O00000000000D00O0c¢)DO0ODO

O000000000000000+4+(2,3,c) 0000000000000 0O0O+
00000000000000000000000ceh)D00O0DODOOODODOO

gbobooboobobooboboboooboboboboobobobog
gbogobgoobobbobboboobooboobo

a(2),b(3).a(X),b(Y) : —int(X),nt(Y),int(Z2),Z = X +Y|c(Z).

gbobboobugbobooobbboobbooobboobbuooobobdad
goboboooobbooobbooooZooobooooboooooooboooobooo
ggbbobuogoobbobuoooobbbuoodgg cogoobbbooon

O0000b0bO0b0OObOO0LMNtalD WebOOOOOGOOOoOOoOOOO
gobooobobogbbuoobbuoobboobbuoobobooobboo
gogno

2.8 00O

O0o0oooooboobooooo LMNtalODOOOOOoOOobooooog
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gobboboogbbodao
OAO0OOOBOOOODOODOBOOADDODOOOOOAODBO
gbogbbobobbobobbdooobdobuoboobbobboonon
gbobdobobboobuodboobbobbbobbobobobobon
gbbuooobuoboboomuoboooboboboboobuooooobb
gobbobuogooboboboboogobbbuoooobobouoooon

root OO0 O0O
00000000000 ooogooooooooogb rootoooonO
OOroot 0000000 UO0ODOOCO0ODOOOOOOOO0ODOOOODOO

000000 Atom
Oooooooo Atom0000000O00DODOOOOOODODODOOOO
OO00O0oobDobooOd AtomO

goooodg
gogbbobuoooobbbuoogoon

simple process
AtomO 00000000 DODOOOOOODOOO

compound process
CllDODOOODODDODDOOOODDODOOOO

0 0 Cell compound

0000000000 DOO000O cellDOOOODDODOOOOODODOOO
0000 {}00 compound 00 0000000000000 0OOOO0ODO
O00Ocompound D 0000000 DOOOOOOODOOOOO

g
gobbobuoooobbbuoooobbbooogbon

gogooo
gogbbobuogddaarty0bboogoooobooooooon
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eLMNtal OO DO OOD0OOD0OOD0OODOOJaval LMNtalOOOOOOOOOOO
O0boobooooboboobooooobbodgboOdJaval LMNtalOODOODOOO
ggooood

3.1 0OO0

LMNtalOODOOODOOOOO0OOOO0OO0OO0O0ObOO0O0O0OO0bOoO00oDo0g0on
gbhobooboboboobobtdJavalboboooooooooooon
gbobooboboboobooboboobobooboboobobon
O000boopoobOobo0oobooboobo0oboboooooOooODLMNtald
gbogoboobobooboobuooboobobooboobooboobobo
ggbobobooogooboobodgo

3.1.1 0oood

JawvaODUODOOOODOOOOOOOODOOOOOOOOOOOO0OOODbO0OD
g

[a(X), b(X) :- ¢ ]

gogbbboogbbobuoooobood

(1) 000000000 al(arty:l, 00 a0000)0000000 (findatom)

(2) a00000000000O0OD0O00O00O0O00O0OODO0O0OOOOOOOO
O00000000000000 (deref)

(3) 00000000000 b A(arity:2, 00 bOOOO)OD0O0OOO0O0O0OO
O (func)

(4) al,b.100000cO0DDOO0OO0ODDOOOODOOODODOO
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gbboboobobooodgbbooobubbooobbooobboobobo
gobboogobbbooouobbuooobbooobboobooonobooba
gobbooobobboooobbJavadobbogoobboooboog
gbbogobbuogoboobobooobooobbooobboobboo
ggbbobooogobon

Compiled Rule ( a(X) b(X) :- c) b
-—atommatch:
spec [2, 3]
--memmatch:
spec [1, 3]
findatom [1, 0, a_1]
deref [2, 1, 0, 0]
func [2, b_1]
jump (L100, (0], [1, 21, [1]
-—-body:L100:
spec (3, 4]
commit [( a(X) b(X) - c )]
dequeueatom [1]
dequeueatom [2]
removeatom [1, 0, a_1]
removeatom [2, 0, b_1]
newatom [3, 0, c_0]
enqueueatom [3]
freeatom [1]
freeatom [2]
proceed (]
_ )

ggboooodgboo

O000O0obOboOobooOoon deref[2,1,0,0]0000000100000
ggbbuogdgbbboouoobbuooobbboooobbouooobbbogo
gobboooboobobobooobbbooobboobbooobboobobo
gobboobbooobuogbbooobbuooobbooobboobboo
ggbboboooobbboooobobbuooonooon

LMNtalDOOOOOOOoOooobobooooboooooobobobooboo
ObO0JavaODOOOOODOODOODOOOODOOODOOODLOODODOODODO
ggbbbuooobobbbooogbooboooobbbuooooboo
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gooogdobboodbuooobbuoobbuooobuoobobbooobbog
gbooobobooobobooobuoobooLMNtalOD OO0 oooooon
gbbogoboodbbuoobboboogbboobbuoobobooobbg
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gbodboOdJwvalO0O0ODOO0OOOOODOOOOODODODOODODODOO
ggbbobuooobbbouooobobbbuoodoboo
gobbuogobboobbuoogoooobboobboobboooooon
gobboobbuogbbuooobuooobbooobboobboobboo
gobbodgbogobooboobbooobuoobobooobbooobboo
gbobobobbuogbbuoobobbuoobobboobboobboobbao
gobobuogdbbuogobbooobboogbooobbbooonoboo
ggbbobuoooobbooooobobo
gboboobobobobobobobobpusshooooobooooon
gbboboddbUlrootU0 popUOUOOO0OOOOO0DOOOODLDDOOOODODODOO
gobobobooogoon
gbbbuogoobboobbuooobbodobbuoobboobbbobbo
gbboobuogobbuooobbuoobobboobobooobobooobobo
gbobodobbodobboodobbuoobbooobbooobuooobboon
gbboobuodgboobobooobboobooboobbooboobbod
goggobbbboodoooobbbbboooooobobbobbobooooon
gobbooobobogobbuodgbobobbboooboboobboobboo
gbobbodobobbdoobooobboobboobbooobboooboo
gobobobogbbuoogobbuooobbuoogbbobobbuooobbao
gbobddJavalO0O0O0O0OD0OODOO0ODOODOODODOOODOOODOO
gobbogobbogboboooboobobboobbooobboonoboo
gobbooood
gbbogbuogobooobbooobboogboboobbuoooogoboa
gbobobooboboobuoobobodbobobbbobobaobboboobo
gobbogobbooboboobboodbooobbuoobbooooobooda
O0oooooOoOoooobo0ooooo0obbo0oobobOOoO00DOOU findatom
gobooobbuoggbobbuooobbuooobboobbooonboboa
ggbbbuoooobbooodgobobo
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C
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m A al I D
(fa) - {c} 5

w7 FTARE v ﬁ
=)V
(4) c
BEl ]

IDD§IID§IDD§DDD

031: 00000000 O0COO0)000000000popd0OOODOD
00000000 (0 CcOo00oooooUoooD)b0obo»0O0ACDD)OOOO
O000pushdDOOO COODODOOODODODOODOCODODOODOOODOO
popd (2) (1)D 000 a00000 BO popd (3) a00 ADODOO ({a}:—{c}P)
0000000000 cO0BOOODODOOOODODODOOOBOOODOOCM) (1)
0000 cO00000BO popd(5) (1)0000 b,cd pop0 00 AO popO O
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JawvalOUOODODOOOODOOOODODDOOOOOODOOODbDOOOOoDbDDO
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3.1. 0odQf

18

w —inside_proxy

Sout )* outside proxy

. J

0 3.2: 000 proxy

Q

T8

COFELNEE — COEOCAOVINBE

0 3.3: proxyU o



19

140 eyebotl L0 [

4.1 eyebot[ [
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4.2 eyebot [ [

eyebot 0000000000 DOOCOOOOO0OOOO (O4.2,4300)0
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25MHz 32bit CPU (motorola 68332)
e 1000ID0DOODDOODOODOODOODDOPCOODODODO
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oo 120000000
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o [JUOOOU

e JUOOOOOO

gobobooboooodgbbodb 1oemdbod 3embugoooog
ggbbobooogoboo

goboooboobobooboobooobooobooooobogb coogoo
gooobooboooocoobooooboboooooboboobobooo
ggbobuooooboboooooobooo

gbboobbodiblomsecOO0bDoOonoboobuooouooboonbnDo
gbobooboobo wathOOoooooobobobobooboooboooooo
goobooo

goboboogbbbooobbogobobbobbuooobbobooobobod
gbboodgbbuogobboobbuoooboobbuoobbooobboo
gogbobouooogooo

4.3 UO0OOO

eyebot OO DOOD0OOO0OO06G8DO geccOUODODOODOOOOOODOODOO
gogbbboogbbobuoooobbbooobboboooobbboooon

e COUODOODODUODOOODOODEeyebotDOODODODOODOODO
e 10U UODUODUODDODDUODDOODN eyebot OO

e eyehot OO DOODODOODOOONO

O00O0Oeyebot 0O O0DOODOOOOODOOOOODOODODOOODOODO
EEN

> gcc68 hoge.c -o hoge.hex # LU UUODDON
> dl hoge.hex # eyebot DO OOO

O00000000Ogee68,dlDODO0OO68kDO gee, /dev/ttySOD 0 OO OOOO
ggbbbuooogbbboooobbbooogbon

gooboooboooooocoooooo Cc++booooooooobooooo
Udb g++68, gas68U LD DODOUOUOOOOODODOOOOOODOODO

cobobOobOooboOoboobooboobOoo
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\
#include "eyebot.h"
int main(){
LCDPrintf("hello world!");
return O;
}
\ J

OO0000OOeyebot.hOOODOOOOOOOOOODOOOODOCOODOOOO
bhobooobdbuobodbdeyebot.hODOODUODOODODOOOOOLOODOO
O000000bO0o0b0oooDn LCDPrintfleyebot 00O DO OOOOOOO
Oprintf0 0000000 0ODO00ODO0OO0OOOOODO0ODOODOOOODOO

O000000 LinuxO000OOO000O000OO0WindowsOOOOOOoOoOoOooO
Ub0O0dWindowsUUOOOOOUOOooooooooooooboooboooboo

eyebot 0 PCOOOOODODOOOOOOODOOOOODOOOODODOOOO
S512KBO0 ROMOOCOOD128KBOODOO0O (OS)D0O0O0OO0OOOOOOOoOoO
U0 34KBO 128kBO0O000O0OOO0O0OOO0OOO0ODO0OOOOO0ODOOO0
gboboogbbuogobboobbuoogbbobbuoobobooobboo
gbooboobooboon

gboobobooboboobooboboobo128kBO00ooooon
Oobo0d0b0OeyebotUO0DOO0OO0OO0OO0O0OOOO0OO0O0OODOOO 128KB
gobboobobooobboboobboodgbbuooobbuooobbao
gbogboobooboobo

eyebot 100 0000000000000 0O0O0O0O0OOO0ODOOOOOO [11]
gogbbobuoooobbbooooobobooogboboooo
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LMNtal DO DO OOOOO0OOO0OOoOoDOoboboooooboooooooDo
ooboooboooobobooboobo ceObOOoDOOOODbOODOO
gboboogbbuooobboobbuooboogbbuoobobooobboo
gboobgobooboobobbob
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ggobbobbouoooobbobobbodooooobbobbooooo
gobobooobbooobboobbooobbbooobbooobon

gbobooogboboogbobobuoboobobobobobobg

e JOUO0OODDOUOOUODODLDOOUOUODLDODOOOODDO

00000000000oooDooooOoOOS$p00O0OO0O00OOOOOODO
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gbogbuoobuogbugboobobobuooboobooboooon
gbooobooboboboboosopitboon

e 100 findatomO 0D ODODOO0ODO 22)0000000000O0O0OOO

rootJ0UOO0O0OOO0OODOOOOOO0ODOOOOO0ObLOObOO0O0DbO0d
gobboooobogobbobbooobbooobbobbooobboo
gboboodobbuoooboboobbuoobbooobbuoobobooobbon
ERERE
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000o0ooobooboooooobooboboobobobooobooobooo
ggbobboooobbtboooodobobbooooobbuoooobbboo
o0oo0oo0oobooobboobobo0oobooobboooboobooooboo
ggn

00ooooboobobbO0oO00ooogd copymem, dropmem OO0 00000
0000b00ob0oboo0boobobobooo0oooobOgn notfune OO
o0oo0oooobooobboobboooboboooooooboooboboo
gbbooooboooobboouobbobbuooobbuooobboobnboo
O0000Onatoms(0 000000 OOOOOOOOODOOOOOOOSpjOO
gogoboboooobobboooon

0000000000000 00000D000Db000DbD0O00O flat LMNtal O
gobodoboooobooobboobbbooobbuooobbooobboo
gooboboooon

gobobooobbooobboobuooobboobuoobbouobboo
ooob0o0oooboo+00b0Db00ooobobJavad 0000000004000
O0000D000bO00b0bOo0obU0obooOoboeLlMNtalOODODDODOODDOOOO
0dobobooooobobooooobobbooooooo sobitDbbooon
ggoboboooobbboooobbbooon

0000000000 0eLMNtalO LMNtal D O OOOOOOOOOOOOO
gooono

p
c N

a, b, c(X), {dX}, {{e}}. # DOOOOOOOOO
cX), dX)} :-f. # D00 o0o00ODOODO

a, b :-g.
H

a(2), a(3), a(b).

a(X), a(Y) :- int(X), int(Y), int(Z), Z =X + Y | a(2).
H
}
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5.2 O0OOOO

5.2.1 UOOOOOOOODOOO
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e JUOOOOOU

e JUOOOOOU

e 100

gobboooobobuooobobuoobbobbbooobbuooobobod
gbooobooooboon

gbboddb0reactU000Oreact U0 0D UOO0OODOO0OOOOOODOO0O
gobdb0O0reactD00O0OO0OO0ODOODOODODOODOODOODODOOOOOOO
O00000Db0bO0000bo0bOoboboooooobDobOostablenDOnog
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(1) 0000000000000 000000000000OeyebotOOO
O000O00OD00OeLMNtalOOOOOeyebot OO DOODOODOODOOOO

(2) 0000000 O0OOOLMNtalOOODOOOOODOOOOODOODOOOOO
O0b00bobOo0ooobDooooboobOogn eyebot OO Oeyebot OO
OeLMNtalUODOODODUOODOOOOODODOODOOOODOODOO

(3) 000000000000 react000O00OOODOOOO
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5.23 UO0OO0OOOOOOOO
J0oooboobobobobDbooboo0obOgeyebotdoonog

000000 (1 word)

NO: 0000000000000000 (1 word)
000000000000NO word)

N1: 000 00000000000000 (1 word)

000000000000 (N1 word)

gobbouoobbuobuooobobbuooobbogobbooobbobao
gboogood

5.24 0OU0OU0OODOOOO

gooobobgbobsibobobooooboboboboboooan
O0ooOog9ooooooogooo

[> eyeconv.sh filename[.lmn] )

gogbboboooobbbooogb
gogbbbuoooobbboogobobbuoooobbbouoooooboobod

e splitlmn

LMNtalOOOODOODOOOOO0OO0DOO LMNtalO OO temp_taskXX.lmn
gooobooboboboboooboon

Imntal.jar
Javall LMNtal D OO0 00O O Otemp_taskXX.Imn O JavaO OO O OO
gboooboobobobobooobuooboobuoobuoboboobnoo

translmn
Jawwva0OOOOOOOOOODOOOOOODODOODOOOOssvOOOOoOO
00000000000 000000 temp_taskXX.tmpOOOO OO OO
ooooooo

gental
temp_taskXX.tmp O OO DO O0O0OO0O0OOOOOO0ODOOODODOO0OOOODO
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translmn T 3
system atom - —EOIDERS
838 H  TRLIDEHRI7ZAIL / - system atomE/EJ"]
template.aid » file.aid || H FEREF i
I  -ID>atom% Pk

[ZfE35,

/v taskO.Imn—>" | | —task(.tmp \ ------------------------------- 3
LMNtal

»taskl.lmn—> ¥ | —taskl.tmp tal file eye

source \ / bot
task2.lmn[—> ¥ —task2.tmp

BRHIEIZHE Imntal.jar —d | translmn -

FREO—FICTE#RL, TERELT
ssvT X AMERIZHEET

y

gs1: 00000000

UbOOobDOoboOLMNtlOOODOOOooooobooboboobon Javal
LMNtal OO OO0 O0O000O0O0O0ODOOLMNtal DO 000D O0D0Oooooo
gobbuoggbbboboobbogobbuoggbbooobbboooba
gobbbdproxyUUODODODOOOUOLDOOOOOO0ODOOOO

gobbobodmpUddnoooooooboooo
[D LMNtalO O OO

{aX), bX) :- c. } ]
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e Oooooo ~
spec [1, 3]
findatom [1, 0, a_1]
deref [2, 1, 0, 0]
func [2, b_1]
jump (L100, [0, [1, 2], []]
spec (3, 4]
commit [C a(X) b(X) :- c )]
dequeueatom [1]
dequeueatom [2]
removeatom [1, 0, a_1]
removeatom [2, 0, b_1]
newatom [3, 0, c_0]
enqueueatom [3]
freeatom [1]
freeatom (2]
proceed (]
N\ J
(f.tnq)(D 0o00oo0oo0o0ooooooo ~
28
4 1 0 65539
12100
20 2 65541
201
30 10
30 2 0
31307
35 1
35 2
K204 )

templateaid D00 0000000000000 O0OODOOOOODOeLMNtal O
gbooboboooboibboboobooobobobuoboobob.aadbog
Oobo0bDO0OOtranslmnO00 aidO0OO000OO00OO0OD0O0ODOOOOODOOOO
gbhoboooooIbdooobobdbOdDtemplateaid 000000000
gobooboooooobooboobodbtranslmn 0000000 0O0ODOOO
gooooobooboobooboboobobooboo Ibbooboboobon
goooooooooboo Ibooooooooooobobobo IDO aid
gbboobboodgbooobbuoobobboobbooobuooobboo
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ggbbobuoooobbbuoooobobbdoooobobooooboobooo

0000 switchOOOOO interruptFlagD OO0 00000 1000000
UoooboobobboOnDO nextReact U0 UO0OUOO0OODO react 00000
gogobbobbuooooobbooooobbboddd timer 0o
gobooogd

gogooobobobobbobobooobobbbbboboododddooooooooon
lockOOOOODO 1000 interpret D00 O000OO00ODOO0OO
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6.2.8 proxy U U

proxy UOOOODOOOO Javall LMNtal OO OO OOOODOOOOOOOO
gboboodbbDUdproxyU star U0 O OO0ODDODOODODOOOOOOOODOO
UobDb0O0O0Ostar D000 proxy U D UOOOOOOO0O0OODOOOOODOOO
gobooobbboooobbuooobobbodtJavab0DO00onoooon
ggn

6.3 UUOOUOoooood

6.3.1 0O0OOOOOOOO

translmn OO0 OO0 Onewatom D 00000000000 O0OOOODODOOO
000000 newatom OO OO UODOOO0O0OO0O00OOO newatom_int 0 O O [
O0000OeLMNtal OO D OOOO0D0OO0O0O int000O functor0 OO0 OO0
ooooooooo

atom O int, link OO0 int0000000000O0O0O0O0OODO0OOfunctord int
00000000000 0000Javad 00000 functor0 000000000
000000000 getfune, eqfunc 0000000000 OOOODOOOOO0O
OD0000oooooodoooooooooobb0dddd newatomindirect
00000000 functorOOODODOOOODODODO getftune0O000O0OOO0O0O
0000000000000 0000000000000 functorD 000003
0000000000000 0o0oooD0o0O functor 000000 OOOQOG
Oo0o0booooooboooooooooooooooooooooooooa
oood

6.3.2 U0OUOO0OOOOLOOLOOOOOOOOO

gboobooobooboobooboobobobob00translmn 0000
Ob0obOoboOobobo0oboboooboobobDonod findatomdOOOOOOO
O000O0o0DO0O functorOOO0DOOODOOOOOOODOODOOOODOOO
Ofunctor OO0 O0DOO0O0OO0O0OOOODOODOODOOOOOODOODOOD

oo0ODOOO00o0oooooooobDbboOoooooobooDOooDDOn findatom
O00000D00D0000 findatomO O OOderefDOO00ODOOOOOOOOO
gbooboooboobood
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tlol1]2]3]4]5]6/|7

/// Jump01345

t10]1|3/4(5]6(7]8

<€
<

Jump03467

tF)457891011

U 65 jumpOdO0oOOoDOOO0O0OO0O0

6.3.3 jumpOOogog

Jwa0OODOOO0O00000000000000000000000 jump O
000000000000000000000000000000000000
000000000000000000000000000000000000
000000000eLMNtal 0000000000000

jump000000000C0translmn000000000000000000
000000000000000000000000 300000000000
jump0000000000jump000000000000000000 650
000

jump0i00000000 arglij 00000 tlargi]] 0000000000
0000000000000 00000000000000000000000
000000 jumpd000000000000000000000

6.4 U0OOOOOOOO

gobbobuooobobbboooooobuoooobbon
ggbbobuoooobbbooogoog

e analog0(X)
XOODOOOOOoOoOOO (10bit) 0000000 analogl...analog7 0 00O

e dig in4(X)
XOODDOOoOoOoOoOo (0or 1)0diginr0 000000

e quadleft(X), quadright(X)
XO0ooooobooooobobooooooboooo

e key(X)
eyebot 0 KEYRead APIDOODOOOODOOOOOOODOOO
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e picture(X)
000000 grid0DDO0O0O0ODODOO

o tick(X)
XOOOoOtmerOOOOOOOoOoOooooooooooooooooo
dodo0ooooooogpooogooooboooooooouonog

gogbbbuooobbooooobon

o get(X)
0000000000000000000000000000000000

e timer(N, X)
N*1oms 000000000000 XOOOoOOoooooooooooo
goooouoTIMEROOODODDOOOO

e timeronce(N, X)
tmer U000 once 0000000 0O0O0OOOOOODODO TIMERDO OO
googdd

e timerkill(IN, X)
N, XO0oooooooo TIMEROOOODODDOOOoooooooo

e leftmotor(X), rightmotor(X)
gbooboobo Xoooooo

e putint(X), putchar(X)
XO0Ooobhoobhoooo LCboooooooo

e dig_out0(X)
00000000 XOOOoOoOOOdigout7y OO OOonooonoOg

e dig_outall(X)
digoutO OO digout70 00000008t O XOOOOOODOOOO
go0sibdbob0ddigont 00000000 OoOoOooooonoon

e servo7(X)
ODoddobodoooooodooooooooo Xgoouoooooao
Oodb 1,2, 00b0dooobo3ddeooboooooooonoaa
O0Oservol2O0 0000

e quadleft_reset, quadright_reset
000000000000 000D00oDO
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e send(T, N)
O00TOOOO recy(TO,N)ODODODOOOTOO sendDO0OOOODODOOO

e picture_remove(X)
picture U0 00O 0ODOO0O0O0O0O0 XOOOOOOoOooooooooOo

grid00000000O00O0O0DOO0O
gobbobuooobbboooobbbooon

e inside_proxy(X,Y), outside_proxy(X,Y), star_proxy(X,Y)
proxy U 00O OO0

e pix(PX, PY, NX, NY, R, G, B)
00 eid0000000000000000
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070 OO0OO0OO0OooOgo

O000O0OeLMNtal OO ODODODOOOOOO000D0DODOOOeLMNtalOO OO
goboobobboobooboo

7.1 0O0O0O0O0OOOOoOoOoOooOooOon

O0000O00OOeyebot00O0OO00OOOOOOODOO (O 7.1,7.2,7300)0
O00o00o0o0oooooooo0ooooooobo0oooooooooooo
00000 wind.ImnO OO redcar.lmn 00 O

O 71 eyebot D0 ODOO0O0O0DO0O0O0O0 windlmnOOOOODOOOOOO
gboobogoobooboodoboon
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0 72:eyebot 00 0000000000000 0OOOOOOPSD(DO)OOOO
goooo

O 73 eyebot 00000 0O0OOOOODOOOOOOOOOOODODO LEGO Mind-
stomO0 00000000000 DODOOO0ODOOOODOO0OODOOOO0O LEGO
gboboboogbogobbuoboogbobouooobobobuobogbobo
gbooobbooboobobobob
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R

0740000000000

7.2 tasktest.lmn

/{ N
append(c(1,c(2,c(3,n))),c(4,c(5,n)),result).
append(X,Y,Z), n(X) - Y=Z.
append(X,Y,Z), c(A,X1,X) :- c(A,Z1,Z), append(X1,Y,Z1).
oA

{{{aX)}, bX, I}, c(¥), send(T)}, {recv(T), a(z), {c(Z)}}.

{send(T), $p, @p}, {recv(T), $q, @} :- {@p}, {$p, $q, @q}.
Hi(2).

i(X) (- X <10, Y = Xx2 | i(Y).

}.
N J

O0bD00b0o0b0oob0o0b0oobooboObboUbeLMNtal D DO OO
oooobooboobooboboobobobob LMNtalOODODODooog
gogbbobuooobboboooobobuooooboo

{result_1(c_3(1,c_3(2,c_3(3,c_3(4,c_3(5,n_1))))))13,
{{}, {a_1(_34), c_1(_30), {b_2(_24,_30), {a_1(_24)}}, {c_1(_34)1}}},
{i_1(16)}

gogoo

7.3 wind.lmn

gboboboooobobogobboooobboooobooooobboooo
000000000 (0000000 EC202A050A 20000 50pulse/round) O
gobgoboogbbuooobbuooboboogbbuooobboooboboo
gbobbogboobbuoogbbuoobbuooobbuoooboonobog
goooon

O00o00oooboobooboboo740000 eeyebot00DO0O0noonooon
goboboggooood
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quadleft_reset, quadleft(timer(3)), analog3(timer(3)).
quadleft(X) :- int(X), int(Y),
Y = (((X + 1000100) mod 200) / 2) - 50 | wind(Y).
wind(Y) :- int(Y), int(VL), int(VR), VL = 50 + Y, VR = 50 - Y |
leftmotor (VL), rightmotor(VR).
analog3(X) :- int(X), X > 500 |
end, analog3(timerkill(3)), quadleft(timerkill(3)).
analog3(X) :- int(X), X =< 500 | .
end :- leftmotor(0), rightmotor(0).

}
- %

gboooooodgbobib3msecdD0DO0O0OOLOOOOOOODOOOODOO
gobobooboboooobboobbuoobobboobboobbuooobbao
gboooobdg

0000000000000 00000D0O00C0000000Owind(Y)O
000000000000 00DO00000D0wind(Y)ODODODOOODODOOOO
gobbobuoooobbbuoooobbbooooboogao

gboboobooboboobobobooboboooboobobobd
O00oo0ooDOobo0oOooooOoDO Ge2D1200 10em O 600, 25cm O 300 O
ooooOoOo(@rs00)0000000O0O0OODODOODOOODOOOOO 500
oboooobobooobooboboboboobodbDbenddoonooon
00000000 o0obuooboboo0oboobOobod analog3OoQd
uggn

Output
(3.1V)
|
|
|
|
|
I I
| |
| |
10cm R0cm  Distance

0O 7.5: sharpd PSDO OO GP2D12000 (DOODOOODOO)

00 eedd000000O0DODOOOOOOOODDOOOOODODOOO
gboboodbbuooobbooboobbooobbuooboboboobboo
gbobobobobbobobobobwindOODOOoOOoOoooobobOog
gbobboodabboodgbbuooobboobuooobboobobobobboo
gobobooobobooooooboobOowindOOODOOODDOOODOODOO
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oboobOobooboooboobooooboob0bDd0windd endd 00000
gbobobobdwindOOODODOOOODODODOODODODOODODbDODODOO
ggon

7.4 thermo.lmn

0D0000000000000000000000000 LCDOOOOOO
0D0000000000000000000000LM35DZ000000000
00000000000000000V,40004V0000000000 eyebot
0000000000 0VO 004VO 1000000000000000000 25
00000000000000000

00000000000 760000000000000000000000
[13] (140000000

5V

—AAA
91k Q2

LM35DZ I

— |0.1uF LM324N >—

— Output
10k
GND

B IEIEREE(91+10)/10 = 10.1 D IERERIENE[E R

Ure:0ooogn

buf (c(84, c(101, c(109, c(112, c(58, n)))))),
analog2(timer(25)).

analog2(X1), analog2(X2), analog2(X3), analog2(X4), buf(B) :-
int(X1), int(X2), int(X3), int(X4), int(X),
X= (X1 +X2 + X3+ X4) / 4 | data(X), buf(Y), putstr(B, Y).

Z
Z

putstr(c(A, Z1)) :- int(A) | Z = c(A, putstr(Z1)), putchar(A).
putstr(n) :- Z = n, next.

next, data(X) :- int(X), int(X1), int(X2),
X1 =X/ 25, X2 = ((X * 10) / 25) mod 10 |
putint(X1), putchar(46), putint(X2), putchar(10).




7.5. redcar.mn 56

gboobobubotdTemp:OO0OO0OO0OOO0OO0OOODOODOOOODO
030000000 bbboooobbobouoon

20000000000000250msecd 0 analog20 0000001000
O000O0ODanalog20 40000000000 0O0O0DOOOO0ODOOOODOO
gbo4b00b0opobo203b0bb0bbdTemp: 00 OODOODOO
gbobboogboboodgbo20gbgbobbobooobuoobbbogbbaog
goooo

gboboggboodboobbuogbbooobboobbuooobood
gogbbobuogobbbooooboo

7.5 redcar.lmn

gbobboooooogbbuooobbobboogbooobbooooboo
gboobgo200b00obgobbobbooboobboobooboobod
gogooobod

{
# motor drive
# 0: not found, 1: go, 2: turn left a bit. 3 turn right a bit.
recv(l, 0) :- leftmotor(50), rightmotor(-50),
putint(0), putchar(10), tick(timeronce(10)).
recv(l, 1) :- leftmotor(50), rightmotor(50),
putint (1), putchar(10), tick(timeronce(20)).
recv(l, 2) :- leftmotor(-50), rightmotor(50),
putint(2), putchar(10), tick(timeronce(5)).
recv(l, 3) :- leftmotor(50), rightmotor(-50),
putint(3), putchar(10), tick(timeronce(5)).

tick(0) :- leftmotor(0), rightmotor(0).

-~

picture(get), countred.
picture(X), countred :- picture(Y), genl(X, Y, 0).

# generate counter

genl(T, Left, C), pix(T, PY, NX, NY, R, G, B) :-
int(C), int(C1), C1 =C + 1 |
pix(Left, Count, Ti, NY, R, G, B), genc(NX, T1, C1),
count (Count, PY, 0, left).
genc(T, Left, C), pix(T, PY, NX, NY, R, G, B) :-
int(C), C < 40, int(C1), C1 =C + 1 |
pix(Left, PY, T1, NY, R, G, B), genc(NX, T1, C1).
genc(T, Left, C), pix(T, PY, NX, NY, R, G, B) :-
int(C), C =:= 40, int(C1), C1 =C + 1 |
pix(Left, Count, T1, NY, R, G, B), genr(NX, T1, C1),
count (Count, PY, O, center).
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genr (T, Left, C), pix(T, PY, NX, NY, R, G, B) :-

int(C), C < 79, int(C1), C1 =C + 1 |

pix(Left, PY, T1, NY, R, G, B), genr(NX, T1, C1).
genr (T, Left, C), pix(T, PY, NX, NY, R, G, B) :-

int(C), C =:= 79 |

pix(Left, Count, NX, NY, R, G, B),

count (Count, PY, O, right).

# count red pixel
count (T, Prev, Count, No), pix(PX, T, NX, NY, R, G, B) :-
int(R), int(G), int(B),
R>(G=*2), R> (B *2), R> 64,
int(Count), int(Countl), Countl = Count + 1 |
count(NY, T1, Countl, No), pix(PX, Prev, NX, T1, R, G, B).
# lower priority rule . if not red
count (T, Prev, Count, No), pix(PX, T, NX, NY, R, G, B) :-
count (NY, T1, Count, No), pix(PX, Prev, NX, T1, R, G, B).

# sum data

count(N, P, C, left) :— int(N), N =:= 0 | N = P, redleft(C).
count(N, P, C, center) :- int(N), N =:= 0 | N = P, redcenter(C).
count(N, P, C, right) :- int(N), N =:=0 | N = P, redright(C).

# send data to task 1
# 0: not found, 1: go, 2: turn left a bit. 3 turn right a bit.
redleft(L), redcenter(C), redright(R) :-
int(L), int(C), int(R), C > 20, C >= L, C >= R |
send(0, 1), continue.
redleft (L), redcenter(C), redright(R) :-
int(L), int(C), int(R), L > 20, L >=C, L >=R |
send(0, 2), continue.
redleft(L), redcenter(C), redright(R) :-
int(L), int(C), int(R), R > 20, R >=L, R >= C |
send(0, 3), continue.
redleft (L), redcenter(C), redright(R) :-
int(L), int(C), int(R), L =< 20, C =< 20, R =< 20 |
send(0, 0), continue.

# end
finish, picture(X) :- picture_remove(X).

# continue
continue, picture(X) :- picture_remove(X), next.
next :- picture(get), countred.

}

O000000OOpicture000000 genl(e, ) 000000000 OO300
count U O ODOOO0OO0OOUOO0O0OO0OOO0OO00bDbOoO0oagboboDon
gobogbbubbuogobbuogobbuoobooboboobbooobboo
gbboogobbodgbuooboobbbbboobuoobbooobbobobad
gogogoobbbbobobbbebbbbbbbhbbOb00o0oooooon
gboboodgbbuoodbbtecount 0000 boooboooobbon
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00000000000 redleft, redcenter, redright 0 0 00O O0O0O0O0OOO
redleft, redcenter, redright 0 30 000000000000 0ODOOOOODOODO
000oDo00bO0oDOoo0bOooooooboooooooooooboooooonoa
0000000000000 0D0reecv0d0D0DOOO0ODO0DOOOODDODOODODDOO
Oo0ooooooooooooooooad
000001000000 00000000000000bO0oDooogog
oooooooooon
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8 oot

8.1 UUHLOUOLUOLUOLOUOOOOOnO

gobooboboogoboogobbuoooboobbuogobooobooo
ggbbbuoooobbbuoogobbbuoooobbbouooobobobod

/{ N

gen(100010) . # or gen(10).

gen(N) :- int(N), int(N1), N =\= 0, N1 = N - 1 | gen(N1), a(N).
gen(0) :- stop.
stop :- stop.

}
- %

a(N)(N:00000)00ODO0O0O0OO0 10000000 1000000000000
00000000 aN)DDDOODOOO0Ooooooooo

O00OeLMNtal 00D OO0 o(N)DODDODODDOOODODOOOODOO 2word =
Sbyte DD DM IOOODODOOONO pooled allocation 0 0 OO0 D DOOOOOOMO
gobooobobboooobboobJavalO0OOOO0OQODbOOO0OOOOOOOO
w0000 oooooood ppaux00Ooooon
O00000DoOoooog

psaux 0000000 0OOODOOOOOO

USER PID %CPU %MEM VSZ RSS TTY
yajima 20592 99.9 1.2 218496 13276 pts/1 # 10000
yajima 20751 43.0 7.4 219548 77032 pts/1 # 100010000

gobooodg

e CPU : PentiumM 1.5GHz
e OS : Vine Linux3.0

e Memory : 1GB

gogoo
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goooood 60

oboobOi1GBOOOOOoOODbOOD 6200000010000 62MBOODO
goooobOoobOooboobobolioboobe2byte 00D OODO0
ggbbobuooobbbuoooobbbuoobob sboogboboboood
ggbbobuoooobbooooooboboood

goobgopooggpoe2obdwhioboboboobobooobonbg
gogbbobuooogbboboooobobobuoooobobboooobobbogt
ggbbobuogogbbboogoog

8.2 UUOUOODOON

OO000O00O0OeLMNtalDODODOODODODOODOODOODODODODOD
gboboobobobooboboobobooboooboboobobon
O000booboobOo0ob0obooooO0oboooobOobobDOn LMNtalO O
gboobgobobobobboboobooboon

{

}

{0000000D0O0O0, analog(50) 00 }eanalogl. # DO OOO
{ analog(50), $plr@analogl :- ...

gobblbogoobbbooooboboboboooobbboooobo
gobbobuoooobbobuoooobbbooogbon

e JOIDUODODOODODODODO LMNtalDODOODOODODOOD LMNtal O

gogobboobbtbodooooobboobboodoooobbooboobooa
gbbodgbogbbuoobbooobuodoobobuooboooboabn
gogobboobboooooobbbobbooooobobobbougo
ggobbbbuoooooobbbbbodoooooobboobbougo
gogobbbobooooooobbobobboooooooboboobobood
ggboboooodgboo

gogobobbbl1gobbobobbtbouooooobobobobbbouooood
gbogbboobobobboodbouooobooboobooboobon
gggobbbbbbboduooooobbboduuoooooooon
gogoboboboboboodooooobbboooooobobobbboooon
O00O0bo0oOobooOobDeLMNtalDODOOOOOOODOOOODOO
UdbO0OreotdOOogoonbbbulgggbbbuoooobobogd
gogbbbugoobbbuooobobbbduooobbogao
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gbboobboobbboodbreotgboggbboobuooobbon
gobogoboboodgbbuoobbouooobbooonoooobboonboo
ggbbbuoobbboooobbbuoooobboooon

ggbbbuoooobbboogobbbuoooobbbouooooboobod

hoge :- ANALOG1 > 500 | fuga
hoge :- TIMER =:= 10 | fuga

gobbobuogobobboooobboboooobobogao

hoge, analogl(ANALOG1) :- int(ANALOG1), ANALOG1 > 500 |
analogl (ANALOG1), fuga.
hoge, timer(TIMER) :- int(TIMER), TIMER =:= 10 | timer(0), fuga.

gobboboggbbobuooooboboogd

e HUUbOOUODLDLOOLOUODLOODLDLOODLOUODLOUODLOODLDOO
U000b000bodbddbeyebotD 0000 onooonooonooon
goboboobobobobobooooboboiomstdbobonbgn
ggbbobuoooobobuooobuoooobobbuoooobom

e OO DDOOOOOODOOLeLMNtalDODOOODODOOODOOODO Java
O0boobooboobibOUeLMNtal DD OO OODOOODOOODOOODO
gobboobuoogobobboobbooooboboboooon

gbbooobboodbboobboobooobboobbuoobbood
gogbbobuogobobbbooooboobuoooobboooobobbooad

8.3 UILOUOLUOOLUOOUOOOoOn

gobbooboooobbuooobbooobbuoooboboobbooboba
gbobogobbobbuooobbuoobboogbbuoobobooobboo
googobbogobboobbooobbooobbobbooobboo
OwindlmnOOOOOOODOOOOODOOODOODOODOOODO1IODOOOO
gobbooobbobbooobbooboboogbbuooobbooobboo
gboboogbbuooobboobbuoodboobbuooobobooobboon
gogbooobooon

gobbbooobbbuoooobobod

e HOUUODLDDLDDOUOOOODLDOOO
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e JOUOUUODLDDODOUOOODLDDLDUOOODLDLOOUOODO

OO0O00O0OeLMNtalOOOtimer OO0 O0O0O0OO0OODOOOOOOODOODO
Udb0O0OtmerD0 00000000 OODOOO0O0OODODODODOOO0OO0OO
gobbobboodgbbooobbooobboobboooboobboo
gobobooooboobobobbooobbooobboobbooobboo
ggbbobuogoobbodao

goboboooooobbuoooboobobooobboobbooobooba
ggbbbuooobbbuoooobbbuoouooobbbouoobbbooo
00000000 findatomOOOOOO0OOOOODOOODODOODOODOO
Uvibboboobobooobboobobbuooobbuobobbuooobbao
ggbbobuoooobobbooooobood

gbobbodgboboodgbboobbuooboooobboobbuooobbd
goboggbbuogobbuodgbbooboboobbooobbooobboo
ggoooogo

gbobogogbbodgbobuooobooobugoboooobbuooboboo
gubudgodbobogbobuoobobboobboobbooboooboon
0000000000000 findatomOOOO0ODOODOO eLMNtalOOODOO
gobbodgbbboooobbuooubbbdbaantydbbooobbogoon
0000000000000 0o0D0obD0DoDOoDO functorDO0DODODOO
gboboobbuootobboobbooobboobbooobbooobbao
gbobogbbogbobooobogoboooboooboboboooboon
findatom, findmem OO0 0000000000000 0OO00DO0OO0OOOOOO
ggbboobuoooobbooogn

ggbobobooodn

e HOUOUOODLODLDOOOOODLDDOO
e JUOOOOUOUOUOOOLDO

ooboobooboodbdfindaetomd 00000000 ODOOODOODOO
O00000D0 findatomOO0O0O0O00ODOODOOOOOOODOODODOODOOO

JawvaODUODOUOOOOODODOOOOODOOODOOODOOOO0ODOODOOODOn
O0Db00b0o0bO0oobooooooboOoboOfindatomOO00OO0ODOOODOO
O00bO0bOo00o0obo0obooooOb eLMNtal DO ODOD0OOO0O000OO
gobooobbogobboobbuooobbuoobobboobbobboo
gboboodgbbuodgbbooobbuoobbooobboobboobbao
godboOJwvalUOO0OOODOOOODOOODOODOODOOODODOODOODOODO
O0b00obo0oooboobo0oooobodbOdeLMNtal 00D OO findatom
UbboobodbatyUDOOO0DLOO0OO0O000oooboboooobooobognbg
ggon
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oy oo

9.1 0UO0OO

gbO0b0bbobO0bO0bOobOobOobdgeyebotDOOOOO LMNtall OO
eLMNtal OO0 O0OD0OD0OOeLMNtal 0D OO

e JOUOOODLDLODOOOODO

gobbooooboboobobooobobboooobbooobb LMNtal
ggboobooogn

gobobooogbon

e DU 0ODUOODLDUODDODDODDOO200 grid0DOODOO

gbgobgobobboboobooboobon

gogbbobuoooobbbuoooobbobboooon

gogobbobbooooooobbobobboooooobbobobouago
gboogod
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Appendix. A OO0 OO0 O

Al JavaOODOOOeLMNtalDOOOOOOOO

eLMNtalOD O ODOOO JavaOODOOODODODOOODOOODOOeLMNtal O
gbobooobbuoooboobbuoobbooobbuoobobooobboon
gboboboobooboboboooboboooboobobooooobJavatd @
gboooboobodbeLlMNtalDODODOOOOOOODOODODOOOOOOO

goodooooooooooooogo (1--5)

- 1 deref [-dstatom(I/A), srcatom(A), srcpos, dstpos]

-- srcJ00 Atom(int 000000000 dst 0 int or atom[

- 2 derefatom [-dstatom(I), srcatom(A), srcpos]

-- 00000000000 000000src000 atom.

- 3 dereflink [-dstatom, srclink, dstpos]

--0oono

- 4 findatom [-dstatom(A), srcmem, funcref(A)]

— funcref 00 000000000000 2X) 000000000 O0O0O

ooopooooooooooooog (6--9)

- 5 lockmem [-dstmem, freelinkatom]

-- 00b0ooooooooooboooon

- 6 anymem [-dstmem, srcmem]

- 0000000mm.findmem OO0 00000000 O0DO0O
- 7 lock [srcmem]

-- 000obooboooooooo

- 8 getmem [-dstmem, srcatom]

-- 0000000O0o0ooooo
- 9 getparent [-dstmem, srcmem]
-- 000000o0O0o0ooooo

ooooooooooooooooOoOg (10--19

- 10 testmem [dstmem, srcatom(A)]
-- O srcatom 0 OO0 0O0O0MMIODOOM
- 11 norules [srcmem]

-- 0O000ooooooao
- 12 nfreelinks [srcmem, count]
- 0000%p(x) 0D0D0O0OOO0O00O0OOODOOOO

- 13 natoms [srcmem, count]

-0 int 00000000000 natoms, 0000000 O0OOOODOO
- 15 nmems [srcmem, count]

--0gooog

- 17 eqmem [mem1, mem2]

-- 0gooog

- 18 negmem [mem1, mem2]

-- 00000000000 000000O000000ooooooooo0og

- 19 stable [srcmem]

-- 00000000

00000oooooooooooooooO (20-24)

- 20 func [srcatom(I/A), funcref]

-- getfunc[tmp,srcatom] ; loadfunc(_int) [tmpfunc,funcref] ;eqfunc[tmp,tmpfunc] OO0 0O
- 21 notfunc [srcatom, funcref]
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-- 000b0o0obooboboooboobooobg

- 22 eqatom [atoml, atom2]

-- atom(addr) 000000000 atomO int 00000000 javad0OO0000OO
oo0DoDooooooooo

- 23 neqatom [atoml, atom2]

-- 00

- 24 samefunc [atoml, atom?2]

-- getfunc[funcl,atoml] ;getfunc[func2,atom2];eqfunc[funci,func2] 0O 00O

ooboooooooOooO0 (25--29)°

Oo0000fwmecO00000O0O0OO0OO0ODOODOO"

O00getfunc 0000000000000 O00O0OOgetfuncO 1link OOO0O
000000 1ink O allocatomindirect DO 000 1link 000 atem 0000000000

- 25 dereffunc [-dstfunc(I), srcatom(A), srcpos]

-- derefatom[dstatom,srcatom,srcpos];getfunc[dstfunc,dstatom] D000 000 int?
- 26 getfunc [-func, atom(I/A)]

- 000000000000 atomIDO0int 0000 signed int 00 vars[func] 000
- 27 loadfunc [-func, funcref (I/4)]

-- 0 INT OO loadfunc_int 00O Ovars[func] O funcref 0000

- 28 eqgfunc [funcl, func2]
- goooa
- 29 neqfunc [func1l, func2]
- goooa

0oooooooooooogg (30--39)

- 30 [locallremoveatom [srcatom(I/A), srcmem]

- 000000001 00000prexy 0000000000 MMO intO0OO
0000M0O0000000000 funcref 00int 0000000000 OOOO
- 31 [locallnewatom [-dstatom(I/A), srcmem, funcref(I/A)]

--— 0 INT 00O newatom_int [0 [0 Odstatom 0 atom 000 atom, int OO0 link.
- 32 [locallnewatomindirect [-dstatom, srcmem, func]

-- 0o0o

- 33 [locallenqueueatom [srcatom]
-- 00000000000000000000

- 34 dequeueatom [srcatom]
--0ooo

- 35 freeatom [srcatom(I/A)]

- intJ00000000000000000O0Ofree00000 atomO int O
0000000000000 0000Matom0000 am.freeatom O OO0

- 36 [locallalterfunc [atom, funcref]
-- Joooooooo
- 37 [locallalterfuncindirect [atom, func]

--0ooooobooo

J0o0oooooooooogo (40--49)

- 40 allocatom [-dstatom(I), funcref(I)]

-- 0O INTOODO-dstatom OO int(1ink 000000 O0O0OO

- 41 allocatomindirect [-dstatom, func]

-- 0 INTOOOgetfunc OOOOO func 00 atom 00000000 func(1link) O
dstatom(link) 00O 0O0OO0OOO

- 42 [locallcopyatom [-dstatom(I), mem, srcatom(I)]
-- 0 INTOODOOOOODOOoOOO
- 43 local addatom [dstmem, atom]

--0oooooooo

Jo0poooooooOooogd (50--59)

- 50 [local]lremovemem [srcmem, parentmem]
- UJ000O0Oparentmem OO OO0

- 51 [locallnewmem [-dstmem, srcmem]

- goooa

- 52 allocmem [-dstmem]

--gJoooooood

- 53 newroot [-dstmem, srcmem, node]

-- 0000000000
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- 54 movecells [dstmem, srcmem]

- 000000101 000000000000000000
- 55 enqueueallatoms [srcmem]

- J00ooooooooooooooo

- 56 freemem [srcmem]

-- removemem J OO0 OO OOO

- 57 [local]laddmem [dstmem, srcmem]
—-—removemen J OO0 dstmem U0 OO0 O0OO0O0OOOODOODO
- 58 [locallenququmem [srcmem]
--00000o00o0oooooooo

- 59 [locallunlockmem [srcmem]
--oooooooooog

- 60 [locall setmemname [dstmem, name]
-- Q0ooo

0ood (61--62)

00o00oooooooooooog (e3--64)

- 63 getlink [-link,atom(A),pos]

-——atom 00 0int 0000000000 DOODODOODOO

- 64 alloclink [-link,atom(A/I),pos]

-- 0000001ink 00000000000 atom 000 1ink OO0

oooooooooooogd (e5--69)

- 65 [locallnewlink [atoml, posl, atom2, pos2, memi]

-- alloclink[linkl,atoml,posl]; alloclink[link2,atom2,pos2];
unifylinks[link1,link2,mem1] 0000

- 66 [locallrelink [atoml, posl, atom2, pos2, mem]

-- alloclink[linkl,atoml,posl]; getlink[link2,atom2,pos2];

unifylinks[link1,link2,mem] OO 00O

- 67 [locallunify [atoml, posl, atom2, pos2]

-- getlink[linkl,atoml,posl]; getlink[link2,atom2,pos2];

unifylinks[link1,link2,mem] 00O OO

- 68 [locallinheritlink [atoml, posl, link2, mem]

- goooooooo

- 69 [locallunifylinks [linkl, 1link2, mem]

- 00000000 atem0 000000000 int 00 1link 0000000000 int 000000

ooo0o0ooooOoOo0oooOoOoOoOoooooOono (7o--74)

- 70 removeproxies [srcmem]
- 71 removetoplevelproxies [srcmem]
- 72 insertproxies [parentmem, childmem]

- 73 removetemporaryproxies [srcmem]
-- proxy 00 JavaOUOOODO0O0OOOMembraneManager 1 000000000000

gooooooooooogd (75--79)

- 75 [locallloadruleset [dstmem, ruleset]
- 76 [locallcopyrules [dstmem, srcmem]
- 77 [locallclearrules [dstmem]
--J00000o0o0oU00ooooooooo

O0oboooooOobo0ooOooOo0oO0ooOoooDOOooOOnDO (80--89)

- 80 recursivelock [srcmem]

- 81 8recursiveunlock [srcmem]
--pgoooooooog

- 82 copymem [-dstmap, dstmem, srcmem]

-- 00000000000 000000 10000ooooao
- 83 dropmem [srcmem]

-- 00000000000¢p000000000D000O00O0O0O0¢p1 0000
00o000000000000000000O000O00C00DO0OO0
dropmem, OO0 proxy_star 000000000 0O0O0O0O0O0O0O0OCO

ooog (200--209)

- react [ruleref, [memargs...], [atomargs...], [varargs...]]
- jump [instructionlist, [memargs...], [atomargs...], [varargs...]]
- commit [ruleref]
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- resetvars [[memargs...], [atomargs...], [varargs...]]
- changevars [[memargs...], [atomargs...], [varargs...]]

- spec [formals,locals]

- proceed

- stop

- branch [instructionlist]

- loop [[instructions...]]
- run [[instructions...]]
- not [instructionslist]

00o00ooooooog (220-229

- 220 isground [-natomsfunc, link, srcset]

--goog

- 221 isunary [atom]

-- 00000int 000000000000 isint 000000000 DOOODOODODOODO
- 225 isint [atom]

-- 000 it 0O00oooog

- 226 isfloat, 227 isstring, 228 getclass

-- 0gooo

0000o0ooooooooOd (400--419+0PT)

- 400 iadd [-dstintatom, intatoml, intatom2]

-- 200 int(Qink) 0000000000 O0O0OCODO int(link) OOOOO0O
- 401 isub, 402 imul, 403 idiv, 404 ineg, 405 imod

-- iadd 0000

- 410 inot, 411 iand, 412 ior, 413 ixor

--00obooooa

0000D0D00oo0ooognO (420--429+0PT)
- 420 ilt, 421 ile, 422 igt, 423 ige, 424 ieq, 425 ine [intatoml, intatom2]
-- 0000000000000 int(1link)

ooooooooooo

000o0b0O00b000000000000 (216--219)
- 216 eqground, 217 copyground, 218 removeground, 219 freeground

00oo0oOoo0 (230--239)
- 230 getruntime, connectruntime

000000000000 0o0gnO (240--249)
- 240 newset, 241 addatomtoset
--gJobooboooooooo

00000000 (600--640)
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gogbobobooggoobodgo

e runtime system : 2572 [
e JDOOODOOODO @ 11220

e [0 00O shellscript, makefile [

gog3roodbooboobooboonbd

B.1 0O0OO0OOO

B.1.1 atom.cpp

1 #include "atom.h"

2 #include "lmntal.h"

3 #include "eyeio.h"

4

5 //11111111771171171171777

6 // 0000000D00O0ODOOODO

7

8 AtomManager: :AtomManager (void)

9 {

10 atoms = new (Atoms *)[MAX_ARITY];

11

12 for(int i=0; i < MAX_ARITY; i++){

13 atoms[i] = new Atoms(i, MAX_BLOCK, BLOCK_SIZE);
14 }

15 proxies = new Atoms(2, MAX_BLOCK, BLOCK_SIZE); // in, out, star 0 200000
16 pixes = new Atoms(7, 120, 1024); // 0O 30O
17}

18

19 AtomManager: :~AtomManager (void)

20 {

21 for(int i=0; i < MAX_ARITY; i++){

22 delete atoms[i];

23 }

24 delete proxies;

25 delete pixes;

26 delete[] atoms;

27 '}

28

29 Atoms::Atoms(int arity, int max_block, int block_size){
30 Atoms::arity = arity;

31 atom_size = arity + 1;

32 maxBlock = max_block;

33 blockSize = block_size;

73
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34 block = new (WORD#) [maxBlock+1]; // O0OODODO
35 dbg("block ptr:%x\n", (WORD)block);

36 for(int i=0; i < maxBlock+1; i++) block[i] = NULL;
37 nBlock = 0;

38 freelist = 0;

39 }

40

41 Atoms::~Atoms(void)

42 {

43 for(int i=0; i < nBlock; i++){

44 if (block[i] != NULL) delete[] blockl[i];
45 }

46 delete[] block;

47 '}

48

49 ///11717777177777717777717771777/7177771777777/
50 // atoms OO0

51

52 WORD Atoms::newAtom(int func, int mem)

53 {

54 WORD atom;

55

56 if (freelist == 0){

57 addBlock(); // todo: OO OO

58 }

59 atom = freelist;

60 freelist = *((WORD *)freelist);

61

62 *((WORD*)atom) = mem << 24 | (func & Oxffffff);

63

64 // dbg("new atom %8x on arity:%d, mem:%d, %8x\n", *((WORD*)atom), arity, mem, atom);
65 return atom; // block 100000000 OOODOO WORDOO OO
66

67

68 void Atoms::freeAtom(WORD atom) // ptr to freeing atom
69 {

70 WORD temp;

71 temp = atom;

72 *(WORD *)atom = freelist;

73 freelist = temp;

74 )

75

76 void* Atoms::addBlock()

77 o

78 int i;

79

80 if (nBlock < maxBlock){

81 block[nBlock] = new WORD[blockSize];

82 }

83

84 if (block[nBlock] == NULL) return NULL;

85

86 for(i=0; i <= blockSize - atom_size*2; i += atom_size){
87 block[nBlock] [i] = (WORD) (&(block[nBlock] [i + atom_sizel));
88 }

89 block[nBlock] [i] = 0; // OO

90 freelist = (WORD) (&(block[nBlock] [0]));

91

92 return (void*)block[nBlock++];

93 }

94

95 // 00000000000 D0DODOODOOODOOOOOO woRDODOOO
96 WORD Atoms::next(AtomIt* ait)

97 {
98 int i;
99 WORD a;

100
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goooo 75

101
102
103
104
105
106
107
108
109
110
111
112
113
114
115
116
117
118
119
120
121
122
123
124
125
126
127
128
129
130
131
132
133
134
135
136
137
138
139
140
141
142
143
144
145
146
147
148
149
150
151
152
153
154
155
156
157
158
159
160
161
162
163
164
165
166
167

while(block[ait->block] != NULL){// block 00O O0OOOODODO

a = (WORD) (&(block[ait->block] [ait->index]));
// 0000000000000
ait->index += atom_size;
if (ait->index > blockSize - atom_size){
ait->index = 0O;
ait->block++;

}
if (((x((WORD*)a)) & Ox1 == 1) && ((*((WORD*)a)) == ait->target)){
return a;
}
}
return O;

}

// movecells DO srcmem D00 000 dstmem 000000

// 0000000000000 000000000D000oOoooOoooo
// 0000000000000 00O00000000O000

void Atoms::moveAtoms (BYTE dstmem, BYTE srcmem)

{
for(int i=0; block[i] !'= NULL; i++){
for(int j=0; j < blockSize; j+=atom_size){
// addr < OxQ0ffffff OO0 OOOOO 0('=srcmem) 000
if (((block[i][j1 >> 24) & Oxff) == srcmem){
block[i] [j] =
(((WORD)dstmem & Oxff) << 24) | (block[i][j] & OxOOffffff);
}// sremem 000000000 dstmem 00000000
}
}
}

void Atoms: :dumpAtom(){

int i, j, k;
WORD a;
for(i=0; block[i] !'= NULL; i++){
for(j=0; j <= blockSize - atom_size; j+=atom_size){
a = (WORD) (&(block[i] [j1));

if ((x(WORD*)a) & Ox1 == 1){ // OO0 0O 0O freenode OO OO0
putword(atom_size + 1);
putword (* (WORD*) a) ;
putword(a);
for(k=1; k <= arity; k++) putword(((WORD*)a) [k]);

}
void Atoms::debugout(){

int i, j, k;
WORD a;
for(i=0; block[i] != NULL; i++){
for(j=0; j <= blockSize - atom_size; j+=atom_size){
a = (WORD) (&(block[i]l[j1));

if ((*(WORD*)a) & Ox1 == 1){ // D000 0Ofreenode JO0OOODO
dbg ("%x@%x>", *(WORDx)a, a);
for(k=1; k <= arity; k++) dbg("%x, ", ((WORDx)a) [k]);
dbg("\n");
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168 ////111177771171111177771177771177

169 // AtomManager 0000

170

171 WORD AtomManager::newAtom(int functor, int mem)
172 {

173 if (functor & 0x01 !'= 1){

174 dbg("atom name must be odd number.\n");
175 return 0O;

176 }

177

178 // pix 00O

179 if (functor == PIX_7){

180 return pixes->newAtom(functor, mem);
181 // proxy 00O

182 }else if (FUNC_NAME(functor) > PROXY_BORDER){
183 dbg("proxy newed\n");

184 return proxies->newAtom(functor, mem);
185 Yelsed{

186 WORD arity;

187 arity = FUNC_ARITY(functor);

188 return atoms[arity]->newAtom(functor, mem);
189 }

190 }

191

192 void AtomManager::freeAtom(WORD atom)

193 {

194 if (ATOM_GETFUNC(atom) == PIX_7){

195 dbg("pix removed\n");

196 pixes->freeAtom(atom) ;

197 }else if (ATOM_GETNAME(atom) > PROXY_BORDER){ // proxy OO
198 proxies->freeAtom(atom) ;

199 Yelsed{

200 WORD arity;

201 arity = ATOM_GETARITY (atom) ;

202 atoms [arity]->freeAtom(atom) ;

203 }

204 }

205

206 void AtomManager::initIt(AtomIt* ait, WORD functor, WORD mem)
207 A

208 ait->index = 0;

209 ait->block = 0;

210 ait->arity = FUNC_ARITY(functor);

211 ait->target = mem << 24 | (functor & Oxffffff);
212 }

213

214 WORD AtomManager::next(AtomIt* ait)

215 {

216 if ((ait->target & OxO0ffffff) == PIX_7){
217 LCDPrintf ("findatom pix_7 called.\n");
218 return O;

219 }else if((ait->target & 0x0000ffff) > PROXY_BORDER){
220 return proxies->next(ait);

221 Yelsed{

222 return atoms[ait->arity]->next(ait);
223 }

224 }

225

226 void AtomManager: :dumpAtom()

227 A

228 for(int i=0; i < MAX_ARITY; i++){

229 atoms [i]->dumpAtom() ;

230 }

231 proxies->dumpAtom() ;

232 pixes->dumpAtom() ;

233

234 putword(0); // OO size = 0
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235 }
236
237 void AtomManager::moveAtoms(BYTE dstmem, BYTE srcmem)
238 {
239 for(int i=0; i < MAX_ARITY; i++){
240 atoms [i]->moveAtoms (dstmem, srcmem);
241 }
242 proxies->moveAtoms (dstmem, srcmem); // 0000000 OOCOCOOO
243 // pixes->moveAtoms(dstmem, srcmem); // root 0000000 ODOOOO0O
244 '}

B.1.2 atom.h

© 00N U WN -

47
48
49
50
51

#ifndef ATOM_H
#define ATOM_H

#include "lmntal.h"

/%

atom info
0x00000001 : 00O 1 (DOOO (DO o0)OOOOO
0x0000fffe : atom id0ODOOOOODOOODOO32k000O
0x000£0000 : arity

// 00000000000 atom id00O0ODO

0x00£00000 : flag ( reserved )
0x£f£000000 : mem

link
0x00ffffff : ptr to atom
0x0£000000 : linked atom’s link no.
0x£0000000 : flag ( reserved )

or
0x00000001 : flag (1 : data)
Oxfffffffe : data (int 31bit)

freelist
0x00000001 : OO0O0O0OOO0O0O0O@MOOO atomOO00O0O
Oxffffffff : ptr to next free node.

*/

typedef struct{

int index;

int block;

int arity;

WORD target; // 000000000 mem&arity&idl
} AtomIt;

I117717717177777111117111777
// 00000

class Atomsq{
public:
Atoms(int arity, int max_block, int block_size);
~“Atoms (void) ;
WORD newAtom(int id, int mem);
void freeAtom(WORD atom) ;
WORD next (AtomIt* it);
void dumpAtom() ;
void debugout () ;
void moveAtoms (BYTE dstmem, BYTE srcmem);
private:
void* addBlock();

int arity;
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52 int atom_size;
53 WORD** block;
54 int nBlock;
55 WORD freelist;
56
57 int maxBlock;
58 int blockSize;
59 };
60
61 // atoms[max_arity] OO OO0 atomManager.addatom() OO OO0 Marity 000000
62 class AtomManager{
63 public:
64 AtomManager (void) ;
65 ~AtomManager (void) ;
66 WORD newAtom(int id, int mem);
67 void freeAtom(WORD atom) ;
68 void initIt(AtomIt* it, WORD atomid, WORD mem) ;
69 WORD next (AtomIt* it);
70 void dumpAtom() ;
71 void moveAtoms (BYTE dstmem, BYTE srcmem);
72
73 // todo to private
74 Atoms *pixes;
75
76
77 private:
78 Atoms **atoms;
79 Atoms *proxies;
80 int maxArity;
81 I;
82
83 #endif

B.1.3 eyebotstub.h

O 00 N U WwN -

// dummy for eyebot library

#define OSExit(i) exit((i))
#define LCDPrintf(f, ...) fprintf(stderr, f, ##__VA_ARGS__)
#define KEYGet() 1

#define 0SGetAD(x) 0O

#define MOTORDrive(h, x)

#define SERVOSet(h, x)

#define QUADRead(h) O

#define QUADReset (h)

#define OSReadInLatch(x) 0O
#define OSWriteOutLatch(x, y, z)

#define 0SWait(x)
#define LCDPutInt(x)
#define LCDPutChar(x)

#define CAMGetColFrame(x, y)
#define CAMInit(x)

B.1.4 eyeio.cpp

1
2
3

#include "lmntal.h"
#include "eyeio.h"
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4 BYTE getbyte(){

5 #ifdef PC

6 return (BYTE)fgetc(stdin);
7 #else
8

9

char c;

0SRecvRS232(&c, SERIAL1);
10 return (BYTE)c;
11  #endif
12}
13
14 WORD getword(){
15 WORD w;
16 w = (WORD)getbyte() << 24;
17 w |= (WORD)getbyte() << 16;
18 w |= (WORD)getbyte() << 8;
19 w |= (WORD)getbyte();
20 return w;
21 }
22

23 void putbyte(BYTE b){
24 #ifdef PC

25 putchar(b);

26 #else

27 0SSendCharRS232((char)b, SERIAL1);
28 #endif

29 }

30

31 void putword(WORD w){

32 putbyte(w >> 24 & Oxff);
33 putbyte(w >> 16 & Oxff);
34 putbyte(w >> 8 & Oxff);
35 putbyte(w & Oxff);

36 }

37

B.1.5 eyeio.h

extern void putbyte(BYTE b);
extern void putword(WORD w);
extern BYTE getbyte();
extern WORD getword();

W N

B.1.6 inst.h

1 #ifndef INST_H

2 #define INST_H

3

4 // 0000000COO0OO0O0O0COOOOOCOOO00O0
5 // eyebot 00O OOO0O 1000000

6 #define FAIL -1

7

8 #define UNDEF 0

9

// 00000000000 00000000 (1--5)
10 // dereflink

11 #define DEREF 1

12 #define DEREFATOM 2

13 #define FINDATOM 4

15 // 000000000000O000OO00O0000 (5--9)
16 // lockmem, lock, getmem, getparent

17 #define LOCKMEM 5

18 #define ANYMEM 6



B.1.

goooo

80

19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76
7
78
79
80
81
82
83
84
85

// 00000000000000O0

// 000000000000000C000  (10--19)

// norules, nfreelinks, stable

#define TESTMEM 10

#define NATOMS 13

#define NMEMS 15

#define EQMEM 17

#define NEQMEM 18 // OD0OOOO0OOOOOOOO
// 00000000000000000000 (20-24)

// notfunc

#define FUNC 20
#define EQATOM 22
#define NEQATOM 23
#define SAMEFUNC 24

// 000000000000 (25--29)

// dereffunc

#define GETFUNC 26

#define LOADFUNC 27

#define EQFUNC 28

#define NEQFUNC 29

// 000000000000000 (30--39)

// enqueueatom, dequeueatom, alterfunc, alterfuncindirect, newatomindirect

#define REMOVEATOM 30
#define NEWATOM 31

// INTOOOO NEWATOM O NEWATOM_INT O OOOO
#define NEWATOM_INT 39

#define FREEATOM 35

// 0000000000000000 (40--49)
// addatom

#define ALLOCATOM 40

#define ALLOCATOMINDIRECT 41

#define COPYATOM 42

// 0000000000000 (50--59)

// allocmem, newroot, enqueueallatoms, unlockmem, setmemname

#define REMOVEMEM 50
#define NEWMEM 51
#define MOVECELLS 54
#define FREEMEM 56
#define ADDMEM 57
// 00 (60--62) 0O0OOOO0O0O0OOOOOOOOO (63--64)

#define GETLINK 63
#define ALLOCLINK 64

// 0000000000000 (65--69)

// inheritlink

#define NEWLINK 65
#define RELINK 66
#define UNIFY 67
#define UNIFYLINKS 69

// 00000000000000000000000 (70--74)
#define REMOVEPROXIES 70

#define REMOVETOPLEVELPROXIES 71

#define INSERTPROXIES 72

#define REMOVETEMPORARYPROXIES 73

// 0000000000000 (75--79)
// loadruleset, copyrules, clearrules, loadmodule
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86

87

88

89

90

91

92

93

94

95

96

97

98

99
100
101
102
103
104
105
106
107
108
109
110
111
112
113
114
115
116
117
118
119
120
121
122
123
124
125
126
127
128
129
130
131
132
133
134
135
136
137
138
139
140
141
142

// 0000000000000000000000000000 (80--89)
// recursivelock, recursiveunlock

#define COPYMEM 82

#define DROPMEM 83

// 00 (90--99)

111111777771771777777777717177777771171177777
// 0000000

// 0000 (200--209)
// jump, resetvars, changevars, spec, stop, branch, loop, run, not

#define REACT 200
#define COMMIT 201
#define PROCEED 204

// commit 000000000000 0O0O00O0COOOOOCOOOOOO

// 000000000000000 (210--219)
// inline, builtin

// 00000000000 00000000 (216--219)
// eqground

// 000000000000 (220--229)

// isground, getclass, getclassfunc, isintfunc
#define ISUNARY 221

#define ISINT 225

1111777777717771777777111771177777771717777
// 000000
// 0000000000000000

// 0000000000000 (400--419)
#define IADD 400
#define ISUB 401
#define IMUL 402
#define IDIV 403
#define INEG 404
#define IMOD 405
#define INOT 410
#define IAND 411
#define IOR 412
#define IXOR 413

// 0000

#define ILT 420
#define ILE 421
#define IGT 422
#define IGE 423
#define IEQ 424
#define INE 425

111177777711717777777771117777777771171777777
// eyebot 00D ODOO (1000-)

#endif

B.1.7 Ilmntal.cpp

W N

#include "lmntal.h"
#include "task.h"
#include "atom.h"
#include "mem.h"
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56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71

#include "eyeio.h"
I11111077777177777777777111711177777711177
// 000

TIMER timer [MAX_TIMER];
int interruptFlag;

#ifndef PC

// 000000000
EYEHANDLE eyeHandle;

// 0000000
void timerHandler ()

{
int i;
// 0000010000
for(i=0; i < MAX_TIMER; i++) timer[i].count++;
// 00000000000000000000
interruptFlag = 0;
for(i=0; i < MAX_TIMER; i++){
if (timer[i].count >= timer[i] .border){
interruptFlag = 1;
break;
}
}
}
#endif

int main(int argc, char**x argv)

{
dbg("lmntal main start\n");
int taskcount;
WORD w, len, len2;
Task *tasks; // 00000
// timer OO 00O
for(int i=0; i < MAX_TIMER; i++){
timer[i].count = 0;
timer[i] .border = Oxffffffff; // OODOOOO
timer[i] .atomFunc = 0;
timer[i] .taskNo = 0;
timer[i] .once = 0;
}
#ifdef PC

// 00000 offset 000
// 0000000000000 0000000000000O000DO0o
// lmntal.h O LINK_OFFSET 00000000000 OOODOODO

// atom 00000000 8bit O LINK OFFSETO0 00000000000

WORD *dummy ;
dummy = new WORD;
dbg("link offset = %8x, address upper 8bit = %8x\n",
LINK_OFFSET, (WORD)dummy & Oxf£000000) ;
delete dummy;
#else
// eyebot 000
0SInitRS232(SER115200, RTSCTS, SERIAL1);
0SFlushInRS232(SERIAL1);
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72

73 // 00000000

74 eyeHandle.leftmotor = MOTORInit (LEFTMOTOR);

75 eyeHandle.rightmotor = MOTORInit(RIGHTMOTOR);
76 eyeHandle.quadleft = QUADInit(QUAD_LEFT);

7 eyeHandle.quadright = QUADInit(QUAD_RIGHT);

78 eyeHandle.servo7 = SERVOInit(SERVOT7) ;

79 eyeHandle.servo8 = SERVOInit (SERV08) ;

80 eyeHandle.servo9 = SERVOInit (SERV09) ;

81 eyeHandle.servol0 = SERVOInit (SERVO10);

82 eyeHandle.servoll = SERVOInit(SERVO11);

83 eyeHandle.servol2 = SERVOInit (SERVO12);

84

85 // timerHandler 000

86 eyeHandle.th = 0SAttachTimer (1, timerHandler);
87

88 // 0000000

89 CAMInit (NORMAL) ;

90

91 #endif

92

93 LCDPrintf ("press button to load tal.\n");

94 KEYGet () ;

95

96 // 000000O0Ooooo

97 w = getword();

98

99 for(int i=0; i < w; i++){

100 // 00000000000wDO0O0O0O0  oOD0OOoOooooono
101 getword(); // 00000

102 }

103

104 // 0000000000000

105 taskcount = (int)getword(); // O0O0O0O0OO0OO0O
106

107 tasks = new Task[taskcount];

108 Task: :tasks = tasks;

109

110 for(int i=0; i < taskcount; i++){ // 00O OOOOOO
111 tasks[i] .setId(i);

112 if (tasks[i].loadRules() != 0){

113 dbg("task[%d] loadRules failed.\n", i);
114 return -1;

115 }

116 }

117

118 LCDPrintf ("press button to start\n");

119 KEYGet () ;

120

121 // 000000000

122 for(int i=0; i < taskcount; i++){

123 if (tasks[i] .reactInitRule() != 0){

124 dbg("task[%d] reactInitRule failed.\n", i);
125 return -1;

126 }

127 }

128

129 dbg ("***kxkx**x initialize finished. ******x*\n\n");
130

131 // 000000

132 int ret, endflag;

133 do {

134 endflag = 1;

135 for(int i=0; i < taskcount; i++){

136 if (interruptFlag == 1 || Task::interruptAtomCount > 0){
137 endflag = 0;

138 break;
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139 }
140 ret = tasks[i].react();
141 if (!tasks[i].isStable()) endflag = 0;
142 }
143 // 000000000
144 if (interruptFlag == 1){ // 000000000
145 for(int j=0; j < MAX_TIMER; j++){
146 if (timer[j].count > timer[j].border){
147 timer[j].count -= timer[j].border;
148
149 // todo: 0O0O0O0DOOOODOOODOOOODOOOOODOO
150 // 000000000000 0O00O00O0bOO0O0DO
151 // 00000000000000000000O0OO0O
152
153 // 000000000000000000O0
154 Task: :interruptAtomCount++;
155 tasks[timer[j].taskNo].genAtom(timer[j].atomFunc) ;
156
157 if (timer([jl.once == 1){ // 1000000000
158 tasks[timer[j].taskNo].decTimerCount () ;
159 timer[j].count = 0;
160 timer[j].border = Oxffffffff;
161 timer [j].atomFunc = 0;
162 timer[j].taskNo = 0O;
163 timer[j].once = 0;
164 ¥
165 }
166 }
167 }
168
169 // 000000000
170 if (Task: :interruptAtomCount > 0){ // DO O0DOO0DOODO
171 dbg("interrupt occurred.\n");
172 for(int j = 0; j < taskcount; j++){
173 // 0000000000D0000O00D0000O00000
174 tasks[j].reactInterruptAtom();
175 }
176 }
177
178 }while(!endflag);
179
180 dbg ("*kk*kkkkkkkkkkkkreact finished.skkskxkxkkkkkk\n") ;
181
182 // 00
183 LCDPrintf ("press button to output data\n");
184 KEYGet () ;
185
186 // 000000
187 putword ((WORD) taskcount) ;
188
189 // 0000000
190 for(int i=0; i < taskcount; i++) tasks[i].dumpQ);
191
192 return O;
193 }
B.1.8 Imntal.h
1 #ifndef LMNTAL_H
2 #define LMNTAL_H
3
4 // 00000
5 #include "inst.h"
6 // 0000
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10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73

#include "lmntal_const.h"

I1117777777777777777777777777777171777777777777
// for eyebot (for PC : define PC)

#ifndef PC

#include "eyebot.h"

#define LINK_OFFSET 0xO
#define dbg(f, ...)

typedef struct{
MotorHandle leftmotor;
MotorHandle rightmotor;
QuadHandle quadleft;
QuadHandle quadright;
// servol-4 [0 encoder DO Oservo5,6 100 OIDOODODO
ServoHandle servo7;
ServoHandle servoS8;
ServoHandle servo9;
ServoHandle servol0;
ServoHandle servoll;
ServoHandle servol2;
TimerHandle th;

} EYEHANDLE;

extern EYEHANDLE eyeHandle;

117171171717777777777717777177777/777777/7177/77/7
// for PC

#else
#include <stdio.h>
#include <stdlib.h>

typedef unsigned char BYTE;

// eyebot 0O O0OO0OOODO
#include "eyebotstub.h"

// for GCC only? 00 DDDOOOODO

#define dbg(f, ...) fprintf(stderr, f, ##__VA_ARGS__)

// PCO0 new0000D0O0DOOD ox00f££££f 000000 D 0x££000000 00000
// for win #define LINK_OFFSET 0x0a000000

#define LINK_OFFSET 0x08000000

typedef BYTE colimage[62] [82][3];
#endif

II11177771177777777771177717777777717777777
// 0000

typedef struct{
WORD count;
WORD border;
WORD atomFunc; // 00000000 DOOOOOO
int taskNo; // 00000000
int once;
} TIMER;

extern TIMER timer [MAX_TIMER];
extern int interruptFlag;

[1111777777177777777777717777777777711177117777
// 0000000



B.1.

goooo 86

74
75
76
7
78
79
80
81
82
83
84
85
86
87
88
89
90
91
92
93
94
95
96
97
98
99
100
101
102
103
104
105
106
107
108
109
110
111
112
113
114
115
116
117
118
119
120
121
122
123
124
125
126
127
128
129
130
131
132
133
134
135
136
137
138
139

// atom 0 0000000000000 WORDOOOOOOOOOOODOOOOO
// 000000000 SETO newatom 0O 00000000

// atom 00 functor OO0

#define ATOM_GETFUNC(atom) (*((WORD*) (atom)) & OxOOffffff)

// atom 0 name 000

#define ATOM_GETNAME(atom) (*((WORD*) (atom)) & 0xOO000ffff)

// atom O arity 000

#define ATOM_GETARITY(atom) ((*((WORD*) (atom)) & 0x00£f0000) >> 16)
// atom OO 00O IDODODO

#define ATOM_GETMEM(atom) ((*((WORD*) (atom)) & Oxff000000) >> 24)

// 000 atoml.pos1 000 atom2.pos2 00000000
#define APOS_SETLINK(atoml, posl, atom2, pos2) \
(((WORD*) (atom1)) [(pos1)+1] = \
((atom2) & O0xOOffffff | ((pos2)<<24) & 0xff000000))
// 000 atom.pos 0 INTOODO i00000
#define APOS_SETINT(atom, pos, i) \
((((WORD*) (atom)) [(pos)+1]) = (i)<<2 | 0x01)

// 000 atom.pos 0 O0O0O0O0OODOOO
#define APOS_GETATOM(atom, pos) \
((C((WORD*) (atom)) [(pos)+1]) & 0x00ffffff) | LINK_OFFSET)
// 000 atom.pos 000000000 O0O00ODO
#define APOS_GETPOS(atom, pos) \
(((((WORD*) (atom)) [(pos)+1]1) & 0x£f£000000) >> 24)

// 00000000000
#define APOS_GETLINK(atom, pos) \
(((WORD*) (atom) ) [(pos)+1])
// atom.pos 00 000000O00OO
#define APOS_ALLOCLINK(atom, pos) \
(((atom) & 0xO0ffffff) | (((WORD) (pos) & Oxff) << 24))

/%
// 00000 2bit: x0=0 00, 01=INT, 11=STRING?(UNDEFINED)
// 000 atom.pos 00000 0, O0ODOOOOOOOODOOO 1000
#define APOS_ISDATA(atom, pos) \
((((WORD*) (atom)) [(pos)+1]) & 0x00000001)
// 000 atom.pos 0 INTOOOOODOOOOOOOOO 1, 000000 0000
#define APOS_ISINT(atom, pos) \
(CCC(WORD*) (atom)) [(pos)+1]) & 0x00000002) == 0x01 ? 1 : 0)
*/

// 000000000000000000
#define LINK_ISLINK(link) (!((link) & 0x00000001))
#define LINK_ISINT(1link) (!(((link) & 0x00000003) ~ 0x01))

#define LINK_GETATOM(link) (((link) & 0x00ffffff) | LINK_OFFSET)
#define LINK_GETPOS(link) (((link) >> 24) & Oxff)

// link1 0000000001ink2000000000000000
#define LINK_SETLINK(link1, 1link2) \
((((WORD*)LINK_GETATOM(1link1)) [LINK_GETPOS(link1) + 1]) = link2)

// LINK GETLINK 0O O0OO00D0000000 (000 30bit0)
#define LINK2INT(link) \
(((signed int) (link)) >> 2)
// INTOO LINKOOOODO (allocatom OO
#define INT2LINK(i) \
((WORD) ((i) << 2 | 0x01))

#endif
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B.1.9 Imntal const.h

W00 ~NO® U WN -

// 00000

// MAX_MEM < 255
// MAX_ARITY <= 16
// MAX_TASK < 100

#define MAX_ARITY 16
#define MAX_MEM 250
#define BLOCK_SIZE 32
#define MAX_BLOCK 16
#define MAX_VARS 64
#define MAX_RULES 32
#define MAX_TASK 16
#define MAX_TIMER 16

#define EXECSTACK_LEN 16
#define GENSTACK_LEN 16
#define MAX_SYSATOM_INRULE 8

typedef unsigned int WORD;

#define FUNC_ARITY(func) (((func) >> 16) & Oxff)
#define FUNC_NAME(func) ((func) & Oxffff)

// 0000000 funcl funcname 0O O O00O0O0O0
#define PIX_7 0x70001

// 0000000000000 eo00000
#define SYSATOM_BORDER 0xe000

// 0000000000000 00O00000000o0ooDooDOo
// 00000000000 oo
#define MAX_ACTIVE_SYSATOM 18
#define ANALOGO_1 0Ox1e001
#define ANALOG1_1 0x1e003
#define ANALOG2_1 0x1e005
#define ANALOG3_1 0x1e007
#define ANALOG4_1 0x1e009
#define ANALOG5_1 0x1e00b
#define ANALOG6_1 0x1e00d
#define ANALOG7_1 Ox1e00f
#define DIG_IN4_1 Oxl1leO1l1
#define DIG_IN5_1 0x1e013
#define DIG_IN6_1 0x1e015
#define DIG_IN7_1 0x1e017
#define QUADLEFT_1 0x1e019
#define QUADRIGHT_1 0x1eO1b
#define KEY_1 0Ox1le0O1ld
#define RECV_2 0x2e01f
#define PICTURE_1 Ox1e021
#define TICK_1 0x1e023

// 0000000000000 00000O000O0O0OOMmfo00000
#define NONACTIVE_SYSATOM_BORDER 0xf000
#define GET_1 0x1£001

#define TIMER_2 0x2f003

#define TIMERONCE_2 0x2f005

#define TIMERKILL_2 0x2f007

#define LEFTMOTOR_1 0x1£009

#define RIGHTMOTOR_1 0x1£f00b

#define PUTINT_1 0x1£00d

#define PUTCHAR_1 0x1f00f

#define DIG_OUTO_1 0x1f011

#define DIG_OUT1_1 0x1£f013

#define DIG_OUT2_1 0x1£f015

#define DIG_OUT3_1 0x1£f017
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66
67
68
69
70
71
72
73
74
75
76
7
78
79
80
81
82
83
84
85
86
87
88
89
90
91
92
93

#define DIG_OUT4_1 0x1£f019
#define DIG_OUT5_1 0x1f01b
#define DIG_OUT6_1 0x1f01d
#define DIG_OUT7_1 O0x1f01f
#define SERVO7_1 0x1£f021

#define SERVO8_1 0x1£023

#define SERV09_1 0x1£025

#define SERVO10_1 0x1£027
#define SERVO11_1 0x1£029
#define SERVO12_1 0x1£02b
#define QUADLEFT_RESET_O 0x0f02d
#define QUADRIGHT_RESET_O 0x0f02f
#define SEND_2 0x2f031

#define DIG_OUTALL_1 0x1£033
#define PICTURE_REMOVE_1 0x1£f035

// 0000vwOOOPSDOOOODO
// todo : OO

// Proxy: fffa(65530) 0O
#define PROXY_BORDER Oxfffa
#define INSIDE_PROXY 0x02ffff
#define OUTSIDE_PROXY 0x02fffd
#define STAR_PROXY 0x02fffb

B.1.10 mem.cpp

W00 ~NO U WN -

25
26
27
28
29
30
31
32
33

#include "mem.h"
#include "atom.h"
#include "eyeio.h"

MembraneManager: : MembraneManager () {
// 000 freelist 00O

mem = new MEMBRANE[MAX_MEM] ;

// mem[1] : task root mem[0] : NULL
mem[1] .parent = 0;

mem[1] .next = 1;

mem[1] .prev = 1;

mem[1] .child = 0;

mem[1] .atomCount = 0;

freelist = 2;
for(int i=1; i < MAX_MEM - 1; i++){
mem[i] .next = i+1;
mem[i].parent = 0; // OO0O00O0O parent=00000000
}
mem[MAX_MEM - 1].next = 0; // freelist 0O OO 0
mem [MAX_MEM - 1] .parent = O;

}
MembraneManager: : "MembraneManager (void)
{

delete[] mem;
}

111117777711177117777771111111777771177
// 000000
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34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76
7
78
79
80
81
82
83
84
85
86
87
88
89
90
91
92
93
94
95
96
97
98
99
100

// 000000000id0000000000ODOO
BYTE MembraneManager: :newMem()

{
BYTE m;
m = freelist;
freelist = mem[freelist] .next;
mem[m] .atomCount = 0;
return m;
}

// id00000000000000000DOfreelist0000O
void MembraneManager: :freeMem(BYTE id)
{
if (mem[id] .parent != 0){
dbg("unremoved mem %d cannot free.", id);
}
mem[id] .next = mem[freelist].next;
mem[freelist] .next = id;

}

// 0 id00 parent 00000 0O0OO0OOODOOCOO
// id000000000000000 (newMem O removeMem 0 000
void MembraneManager::addMem(BYTE id, BYTE parent)
{
BYTE mO, mil;

dbg("add %d to %d’s child.\n", id, parent);

if (mem[parent] .child == 0){ // DO0OOODO
mem [parent] .child = id;
mem[id] .parent = parent;
mem[id] .next = id;
mem[id] .prev = id;

Yelse{
mO
ml

mem [parent] .child;
mem [mO] .next;

mem[id] .parent = parent;
mem[id] .prev = mO;
mem[mO] .next = id;
mem[id] .next = mi;
mem[m1] .prev = id;

}
dbg("added mem %d ’s parent is %d\n", id, mem[id].parent);
mem[id] .child = 0;

}

// srecmem 0000 dstmem 00000000
void MembraneManager: :moveMems (BYTE dstmem, BYTE srcmem)
{

BYTE childl, child2, nextl, next2;

childl = mem[dstmem].child;
child2 = mem[srcmem].child;

if(child2 !'= 0){ // 000000000
mem[childl] .parent = dstmem;
if(childl == 0){ // dst 0000

mem[dstmem] .child = child2;
Yelse{ // dst 0O OODOOO
nextl = mem[childl] .next;
next2 = mem[child2] .next;
mem[childl] .next = next2;
mem[next2] .prev = childl;
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mem[child2] .next = nextil;
mem[nextl1] .prev = child2;

}

// 0id000000000000000OCO0O000COOO0O0O0O¢pUOOOOOOODOO

void MembraneManager: :removeMem(BYTE id)

{
BYTE mO, ml, mp;

if (mem[id] .parent == 0){
dbg("removemem : mem %d belongs nowhere.\n", id);

}

// 0000000000000O000000OO000OODOOOOOODOOOOOO

mp = mem[id].parent;
m0 = mem[id].prev;
ml = mem[id] .next;
if(m0 == id){ // 0000
mem[mp] .child = 0; // 0000
Yelsed{
if (mem[mp].child == id){ // 0000000000
mem[mp] .child = mil;

}
mem [mO0] .next
mem[ml] .prev

ml;
mO0;

}
mem[id] .parent = 0; // 0000000000000 OO
}

// 000000000000 00
void MembraneManager::initIt(MemIt* it, BYTE parent)
{

it->parent = parent;

it->index = mem[parent].child;

}
BYTE MembraneManager: :next (MemIt* it)
{
BYTE ret;
ret = it->index;
if (it->index '= 0){
it->index = mem[it->index] .next;
if (it->index == mem[it->parent].child) // 0000
it->index = 0; // 00 null O0O0OO
}
return ret;
}

void MembraneManager: :dumpMem(BYTE memID)
{
BYTE c;
putbyte(’\x£f£’); // 00O
putbyte(memID); // O ID

dbg("output memID : %d, child : %d\n", memID, mem[memID].child);

¢ = mem[memID].child;

if(c '=0){ // 0000000
do{
dumpMem(c); // O0OOO
¢ = mem[c].next; // cO0O0O00000O0O

}while(c != mem[memID].child); // cO00OOO00OOO0OOO

}
putbyte(®\x00°); // 00O
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168

169 ///111177777777777177777777117117777777177777
170 // O000Oproxy OO

171 // see Java OO0 AbstractMembrane.java

172

173 #define ATOM_RENAME(atom, newfunc) \

174 ((*x(WORD*) (atom)) = ((*(WORD*) (atom)) & Oxffff0000) | newfunc & Oxffff)
175

176 // O mem 0000 Proxy OO0

177 void MembraneManager: :removeProxies(BYTE thismem, AtomManager &am)
178 {

179 WORD outside, a0, al;

180 AtomIt ait;

181

182 am.initIt(&ait, OUTSIDE_PROXY, thismem);

183

184 while((outside = am.next(&ait)) != 0){

185 a0 = APOS_GETATOM(outside, 0);

186

187 // outside 00O O0DOO00ODOOOOOO

188 if (mem [ATOM_GETMEM(a0)] .parent != thismem){
189 al = APOS_GETATOM(outside, 1);

190

191 if ((ATOM_GETFUNC(al) == INSIDE_PROXY) ||
192 (ATOM_GETFUNC(al) == OUTSIDE_PROXY &&

193 mem [ATOM_GETMEM(a1)] .parent != thismem)){
194 // 000000000000 0D000D0O0Oooog
195 // 00000000000000000D0OD00O0O000g
196 WORD linkl, link2;

197 linkl = APOS_GETLINK(outside, 0);

198 1link2 = APOS_GETLINK(al, 0);

199

200 // proxy 00 00O0OODOOOOOOOODODOO

201 // outside, a1l 000000000 Ooutside, a1 000
202 LINK_SETLINK(link1l, 1link2);

203 LINK_SETLINK(link2, link1);

204 am.freeAtom(outside) ;

205 am.freeAtom(al);

206 Yelse{

207 // 0000000 outside DO DOODOOODOOOO
208 // 000 star000Q00O0O

209 ATOM_RENAME (outside, STAR_PROXY);

210 }

211 }

212 }

213 // 000000000 insideproxy 0 star 0000

214 am.initIt(&ait, INSIDE_PROXY, thismem);

215 while((a0 = am.next(&ait)) != 0){

216 ATOM_RENAME (a0, STAR_PROXY);

217 }

218 }

219

220 // 0000000000 outside 00 OO0OO0OOOOODOOO
221 void MembraneManager::removeTopLevelProxies(BYTE thismem, AtomManager &am)
222 {

223 AtomIt ait;

224 WORD outside, a0, al, a2;

225

226  am.initIt(%ait, OUTSIDE_PROXY, thismem);

227

228 while((outside = am.next(&ait)) != 0){

229 a0 = APOS_GETATOM(outside, 0);

230 // outside 00 0OO00ODOOOOOO

231 if (mem[ATOM_GETMEM(a0)] .parent != thismem){
232 // ATOM_GETMEM(a0) !'= 0 OOOOOO

233 al = APOS_GETATOM(outside, 1);

234 if (ATOM_GETFUNC(al) == OUTSIDE_PROXY){
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235 a2 = APOS_GETATOM(al, 0);

236 if (mem[ATOM_GETMEM(a2)] .parent != thismem){
237 // ATOM_GETMEM(a2) !'= 0 OOOOOO
238 WORD linki, 1link2;

239 linkl = APOS_GETLINK(outside, 0);
240 1ink2 = APOS_GETLINK(al, 0);

241 LINK_SETLINK(linkl, 1link2);

242 LINK_SETLINK(1link2, link1);

243 am.freeAtom(outside) ;

244 am.freeAtom(al);

245 }

246 }

247 }

248 }

249 }

250

251 // 000 star 0000000000000O00C0O0 or00O

252 void MembraneManager::insertProxies(BYTE thismem, BYTE childmem, AtomManager &am)
253 {

254 AtomIt ait;

255 WORD star, oldstar;

256

257 am.initIt(&ait, STAR_PROXY, childmem);

258

259 while((star = am.next(&ait)) != 0){

260 oldstar = APOS_GETATOM(star, 0);

261 if (ATOM_GETMEM(oldstar) == childmem){ // 000000000000
262 WORD 1link1l, 1link?2;

263 linkl = APOS_GETLINK(star, 1);

264 1ink2 = APOS_GETLINK(oldstar, 1);

265 LINK_SETLINK(link1l, 1link2);

266 LINK_SETLINK(link2, link1);

267 am.freeAtom(star);

268 am.freeAtom(oldstar) ;

269 Yelse{

270 // star 0 inside_proxy 00O

271 ATOM_RENAME (star, INSIDE_PROXY);

272

273 // 00000000000000000 outside_proxy 000
274 if (ATOM_GETMEM(oldstar) == thismem){

275 ATOM_RENAME (oldstar, OUTSIDE_PROXY);

276 // newlink(oldstar, 0, star, 0) JOOO0OO0O
277 Yelsed{

278 // 00000000 outside, star D0 0000000
279 WORD outside, newstar;

280 WORD linkl, link2;

281

282 outside = am.newAtom(OUTSIDE_PROXY, thismem);
283 newstar = am.newAtom(STAR_PROXY, thismem);
284

285 // newlink

286 linkl = APOS_ALLOCLINK(outside, 1);

287 1link2 = APOS_ALLOCLINK (newstar, 1);

288 LINK_SETLINK(link1l, 1link2);

289 LINK_SETLINK(linkl, 1ink2);

290 // relink

291 link1l = APOS_ALLOCLINK (newstar, 0);

292 link2 = APOS_GETLINK(star, 0); // oldstar get
293 LINK_SETLINK(linkl, 1ink2);

294 LINK_SETLINK(link2, link1);

295 // newlink

206 linkl = APOS_ALLOCLINK(star, 0);

297 1ink2 = APOS_ALLOCLINK(outside, 0);

208 LINK_SETLINK(linkl, 1link2);

299 LINK_SETLINK(link2, link1);

300 }

301 }
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302 }

303 1}

304

3056 // 000000000 star 000

306 void MembraneManager: :removeTemporaryProxies(BYTE thismem, AtomManager &am)
307 {

308 AtomIt ait;

309 WORD star, outside;

310

311 am.initIt(&ait, STAR_PROXY, thismem);
312

313 while((star = am.next(&ait)) != 0){
314 outside = APOS_GETATOM(star, 0); // star DO O OO star or outside
315

316 // 00000000o0od

317 WORD linkl, link2;

318 linkl = APOS_GETLINK(star, 1);

319 1ink2 = APOS_GETLINK (outside, 1);
320 LINK_SETLINK(link1l, 1link2);

321 LINK_SETLINK(1ink2, link1);

322 am.freeAtom(star) ;

323 am.freeAtom(outside);

324 }

325 }

326

B.1.11 mem.h

1 #ifndef MEM_H

2 #define MEM_H

3

4 #include "lmntal.h"

5 #include "atom.h"

6

7 // 0000000000000 (<285) 0000
8 // mem[0] : NULLOOOODO mem[1] : root O
9 typedef struct mem_t{

10 BYTE parent;

11 BYTE next;

12 BYTE prev;

13 BYTE child;

14 short atomCount;

15 } MEMBRANE;

16

17 typedef struct{

18 BYTE index;

19 BYTE parent;

20 } MemlIt;

21

22 class MembraneManager{

23 public:

24 MembraneManager (void) ;

25 “MembraneManager (void) ;

26 BYTE newMem() ;

27 void freeMem(BYTE id);

28 void addMem(BYTE id, BYTE parent);

29 void removeMem(BYTE id);

30 void initIt(MemIt* it, BYTE parent);
31 BYTE next(MemIt* it);

32 void dumpMem(BYTE memID) ;

33 void moveMems (BYTE dstmem, BYTE srcmem) ;
34 // proxy00000atem 00000000 amOO000OOO0OODOO
35 void removeProxies (BYTE thismem, AtomManager &am);

36 void removeTopLevelProxies(BYTE thismem, AtomManager &am) ;
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37 void insertProxies (BYTE thismem, BYTE childmem, AtomManager &am);
38 void removeTemporaryProxies (BYTE thismem, AtomManager &am);
39
40 short getAtomCount (BYTE id) { return mem[id].atomCount; }
41 short incAtomCount (BYTE id) { return ++(mem[id].atomCount); }
42 short decAtomCount (BYTE id) { return --(mem[id].atomCount); }
43
44
45 MEMBRANE *mem;
46 private:
47 BYTE freelist;
48 };
49
50 #endif
B.1.12 task.cpp

1 #include "lmntal.h"

2 #include "task.h"

3 #include "eyeio.h"

4

5 Task::Task(void){

6 for(int i=0; i < MAX_RULES; i++) rules[i] = NULL;
7 execStackHead = 0;

8 genStackHead = 0;

9 nextreact = 0;

10 remainRuleFlag = 1;

11 timerCount = 0O;

12}

13

14 Task:: Task(void){

15 for(int i=0; i < MAX_RULES; i++){

16 delete[] rules[il;

17 }

18 for(int i=0; i < MAX_ACTIVE_SYSATOM; i++){
19 if (relatedRule[i] .count > 0){

20 delete[] relatedRulel[i].buf;

21 }

22 }

23 }

24

25 void Task::dump(){

26 am.dumpAtom() ;

27 mm. dumpMem (1) ;

28 }

29

30 // 0000000000000 0ODO0O0OO0O0O00DOO00O00ODOODODOODOoOO

31 int Task::interruptAtomCount = O;

32

33 // 000000000000DOO0OCOCOO0000D0OODODOODODOOOOOOoOO
34 Task * Task::tasks;

35

36

37 /11111177777777777777777777777777777777777777777777777777777777177777
38 // 0000000

39

40 // 00000000

41 int Task::loadRules()

42 A

43 int i, j;

44 WORD w;

45

46 // 0000000000

47 w = getword(); // 0000
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48 initrule = new int[w];

49 for(i=0; i < w; i++){

50 initrule[i] = (int)getword();

51 }

52

53 // 00000000000O0Oo

54 for(i=0; i < MAX_RULES; i++){

55 w = getword();

56 if(w == 0) break;

57

58 rules[i] = new int[w+1];

59 for(j=0; j < w; j++){

60 rules[i] [j] = (int)getword();

61 }

62 rules[i] [j] = UNDEF; // OO UNDEF=0 0O ODODO
63 }

64 if(i==0){ // 1 0000000000000 0O0O0O0ODO0ODODODOO0ODOOOODOO
65 rules[0] = new int[1];

66 rules[0] [0] = FAIL;

67 }

68

69 // 000000000000 0D000oooooo

70 for(i=0; i < MAX_ACTIVE_SYSATOM; i++){

71 relatedRule[i] .count = getword();

72 if (relatedRule[i].count != 0){

73 relatedRule[i] .buf = new int[relatedRule[i].count];
74 for(j = 0; j < relatedRulel[i].count; j++){
75 relatedRule[i] .buf [j] = getword();
76 }

7 }

78 }

79 return 0;

80 1}

81

82 /,/ 0000000OOOO
83 int Task::reactsysatom()

84 {

85 int j;

86 WORD atom, w, value, task;

87 dbg ("sysatomcount: %d\n", sysatom_count);

88

89 for(int i=0; i < sysatom_count; i++){

90 atom = sysatom_buf [i];

91 dbg("sysatombuf [%d]=%x, value=)x\n", i, atom, ATOM_GETFUNC(atom));
92 switch (ATOM_GETFUNC (atom) ) {

93 case GET_1: // get_1

94 // get 00000 DOD0O0OO0OODOOODOODODODOOOODOOO
95 // 00000000000

96 w = APOS_GETATOM(atom, 0);

97 getSysValue (w) ;

98 // 000000000

99 interruptAtomCount++;

100 execStack[execStackHead++] = w;

101 dbg("get: interruptAtomCount: %d\n", interruptAtomCount);
102 // get OO0

103 mm.decAtomCount (ATOM_GETMEM(atom)) ;

104 am.freeAtom(atom) ;

105 dbg("get\n") ;

106 break;

107

108 case TIMERONCE_2:

109 case TIMER_2: // timer_2

110 w = APOS_GETATOM(atom, 1); // analog 00

111 value = LINK2INT(APOS_GETLINK(atom, 0));

112

113 for(j = 0; j < MAX_TIMER; j++){

114 // timer 000000000



B.l. 00000

115 if (timer[j] .border == Oxffffffff) break;
116 }

117 if (j == MAX_TIMER){

118 dbg("timer overflew\n");

119 return -1;

120 }

121 // 000000

122 timer[j].count = 1; // Oxffffffff 0000000001 00000
123 timer[j].border = value;

124 timer[j].taskNo = id; // OOOODOO ID

125 timer[j].atomFunc = ATOM_GETFUNC(w) ;

126

127 // 10000000

128 if (ATOM_GETFUNC(atom) == TIMERONCE_2){

129 LCDPrintf ("regist timeronce");

130 timer[j].once = 1;

131 Yelsed{

132 timer[j].once = 0;

133 T

134

135 // 000000

136 am.freeAtom(atom) ;

137 am.freeAtom(w);

138 mm.decAtomCount (ATOM_GETMEM(atom)) ;

139 mm.decAtomCount (ATOM_GETMEM(w)) ;

140 LCDPrintf ("timer regist\n");

141

142 // 00000000000

143 timerCount++;

144 break;

145

146 case TIMERKILL_2: // kill 2 timer 00000000 OODOO
147 w = APOS_GETATOM(atom, 1); // analog 00

148 value = LINK2INT(APOS_GETLINK(atom, 0));

149

150 // w, value 0000000000 OCOOOO0OOO
151 for(j=0; j < MAX_TIMER; j++){

152 // LCDPrintf ("%d=%d,%d=%d, %d=%d\n" ,timer[j] .atomFunc, ATOM_GETFUNC(w),
153 // timer[j].border, value, timer[j].taskNo, id);
154

155 if (timer[j].atomFunc == ATOM_GETFUNC(w) &&
156 timer[j] .border == value &&

157 timer[j].taskNo == id){

158 // 00000 border O Oxffff£f£f0 000 OO0
159 timer[j].count = O;

160 timer[j].border = Oxffffffff;

161 timer[j].atomFunc = 0;

162 timer[j].taskNo = 0;

163

164 // 00000000000

165

166 timerCount--;

167 break;

168 }

169 }

170

171 // 000000

172 am.freeAtom(atom) ;

173 am.freeAtom(w) ;

174 mm.decAtomCount (ATOM_GETMEM (atom) ) ;

175 mm.decAtomCount (ATOM_GETMEM(w)) ;

176

177 break;

178 case PUTINT_1:

179 w = APOS_GETLINK(atom, 0);

180 LCDPutInt (LINK2INT(w));

181 mm.decAtomCount (ATOM_GETMEM (atom) ) ;
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am.freeAtom(atom) ;
break;

case PUTCHAR_1:
w = APOS_GETLINK(atom, 0);
LCDPutChar ((char) LINK2INT (w)) ;
mm.decAtomCount (ATOM_GETMEM (atom)) ;
am.freeAtom(atom) ;
break;

case QUADLEFT_RESET_O:
QUADReset (eyeHandle.quadleft) ;
mm.decAtomCount (ATOM_GETMEM (atom)) ;
am.freeAtom(atom) ;
break;

case QUADRIGHT_RESET_O:
QUADReset (eyeHandle.quadright) ;
mm.decAtomCount (ATOM_GETMEM (atom) ) ;
am.freeAtom(atom) ;
break;

case LEFTMOTOR_1:
w = APOS_GETLINK(atom, 0);

MOTORDrive (eyeHandle.leftmotor, LINK2INT(w));

mm.decAtomCount (ATOM_GETMEM (atom)) ;
am.freeAtom(atom) ;
break;
case RIGHTMOTOR_1:
w = APOS_GETLINK(atom, 0);

MOTORDrive(eyeHandle.rightmotor, LINK2INT(w));

mm.decAtomCount (ATOM_GETMEM (atom) ) ;
am.freeAtom(atom) ;
break;

case SERVO7_1:
w = APOS_GETLINK(atom, 0);
SERVOSet (eyeHandle.servo7, LINK2INT(w));
mm.decAtomCount (ATOM_GETMEM (atom)) ;
am.freeAtom(atom) ;
break;

case SERVO8_1:
w = APOS_GETLINK(atom, 0);
SERVOSet (eyeHandle.servo8, LINK2INT(w));
mm.decAtomCount (ATOM_GETMEM(atom)) ;
am.freeAtom(atom) ;
break;

case SERVO9_1:
w = APOS_GETLINK(atom, 0);
SERVOSet (eyeHandle.servo9, LINK2INT(w));
mm.decAtomCount (ATOM_GETMEM (atom) ) ;
am.freeAtom(atom) ;
break;

case SERV010_1:
w = APOS_GETLINK(atom, 0);
SERV0Set (eyeHandle.servo10, LINK2INT(w));
mm.decAtomCount (ATOM_GETMEM (atom)) ;
am.freeAtom(atom) ;
break;

case SERVO11_1:
w = APOS_GETLINK(atom, 0);
SERVOSet (eyeHandle.servoll, LINK2INT(w));
mm.decAtomCount (ATOM_GETMEM (atom) ) ;
am.freeAtom(atom) ;
break;

case SERVO12_1:
w = APOS_GETLINK(atom, 0);
SERVOSet (eyeHandle.servol2, LINK2INT(w));
mm.decAtomCount (ATOM_GETMEM (atom)) ;
am.freeAtom(atom) ;
break;

case DIG_OUTALL_1:
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w = APOS_GETLINK (atom, 0);
OSWriteOutLatch(0, ~Oxff, LINK2INT(w) & Oxff);
mm.decAtomCount (ATOM_GETMEM (atom) ) ;
am.freeAtom(atom) ;
break;

case DIG_OUTO_1:
w = APOS_GETLINK(atom, 0);

OSWriteOutLatch(0, ~0x01, (LINK2INT(w) & 1) <<
mm.decAtomCount (ATOM_GETMEM (atom)) ;
am.freeAtom(atom) ;
break;

case DIG_OUT1_1:
w = APOS_GETLINK(atom, 0);
OSWriteOutLatch(0, ~0x02, (LINK2INT(w) & 1) <<
mm.decAtomCount (ATOM_GETMEM (atom) ) ;
am.freeAtom(atom) ;
break;

case DIG_0OUT2_1:
w = APOS_GETLINK(atom, 0);
0SWriteOutLatch(0, ~0x04, (LINK2INT(w) & 1) <<
mm.decAtomCount (ATOM_GETMEM (atom)) ;
am.freeAtom(atom) ;
break;

case DIG_OUT3_1:
w = APOS_GETLINK(atom, 0);
OSWriteOutLatch(0, ~0x08, (LINK2INT(w) & 1) <<
mm.decAtomCount (ATOM_GETMEM (atom) ) ;
am.freeAtom(atom) ;
break;

case DIG_0OUT4_1:
w = APOS_GETLINK(atom, 0);
0SWriteOutLatch(0, ~0x10, (LINK2INT(w) & 1) <<
mm.decAtomCount (ATOM_GETMEM (atom)) ;
am.freeAtom(atom) ;
break;

case DIG_OUTS5_1:
w = APOS_GETLINK(atom, 0);
OSWriteOutLatch(0, ~0x20, (LINK2INT(w) & 1) <<
mm.decAtomCount (ATOM_GETMEM(atom)) ;
am.freeAtom(atom) ;
break;

case DIG_OUT6_1:
w = APOS_GETLINK(atom, 0);
OSWriteOutLatch(0, ~0x40, (LINK2INT(w) & 1) <<
mm.decAtomCount (ATOM_GETMEM (atom) ) ;
am.freeAtom(atom) ;
break;

case DIG_OUT7_1:
w = APOS_GETLINK(atom, 0);
OSWriteOutLatch(0, ~0x80, (LINK2INT(w) & 1) <<

mm.decAtomCount (ATOM_GETMEM (atom)) ;
am.freeAtom(atom) ;
break;
case SEND_2:
{
int argl, arg2;

0);

1);

2);

3);

4);

5);

6);

7);

argl = LINK2INT(APOS_GETLINK(atom, 0)); // O00OO0OOODO

arg2 = LINK2INT (APOS_GETLINK(atom, 1)); // OO0

// 00 ID00000O0000O0OOO0O0000000

tasks[argl] .genStack[tasks[argl] .genStackHead++]
tasks[argl] .genStack[tasks[argl] .genStackHead++]
tasks[argl] .genStack[tasks[argl] .genStackHead++]

// 0000000000 1
interruptAtomCount++;

(WORD)arg2; // O
(WORD)id; // id
RECV_2; // OOOODO
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mm.decAtomCount (ATOM_GETMEM (atom)) ;
am.freeAtom(atom) ;
break;
}
case PICTURE_REMOVE_1:
// 000000 pix00000000O0OODOO
// 000 pix000O
WORD p, 1, temp;
p = APOS_GETATOM(atom, 0);

while(1){

1 = APOS_GETATOM(p, 2);

while (LINK_ISLINK(APOS_GETLINK(1, 2))){ // 00OO0ODOOO
temp = APOS_GETATOM(1, 2); // NXOOOOO
am.freeAtom(l); // 10000
// 0000 atom 0000000000 O0DOO0ODOODOOOO
1 =rtemp; // 0000001000

}

am.freeAtom(1l); // O0OOOO

if (LINK_ISINT(APOS_GETLINK(p, 3))) break; // 0O OOOOO
temp = APOS_GETATOM(p, 3); // 000O0O0DO p0OD0O000 pOOO
am.freeAtom(p) ;
p = temp;

}

// 0000 pix000O

am.freeAtom(p) ;

// 000 picture_remove 00000

mm.decAtomCount (ATOM_GETMEM (atom)) ;

am.freeAtom(atom) ;

break;
default:
dbg ("unknown sysatom %x\n", ATOM_GETFUNC(atom));
break;
}
}
return O;

}

// 000 ID000000000C0000000CO0O00O00GO00OO0
// atom 000000000000 0O0O0OO0O0OOOCOODOOOOOOO0O
int Task::getSysValue (WORD atom)
{
WORD linkl, link2;

linkl = APOS_ALLOCLINK(atom, O);

switch (ATOM_GETFUNC (atom)){

case ANALOGO_1:
link2 = INT2LINK(0SGetAD(0));
break;

case ANALOG1_1:
link2 = INT2LINK(0SGetAD(1));
break;

case ANALOG2_1:
link2 = INT2LINK(0SGetAD(2));
break;

case ANALOG3_1:
link2 = INT2LINK(0SGetAD(3));
break;

case ANALOG4_1:
link2 = INT2LINK(0SGetAD(4));
break;

case ANALOG5_1:
1ink2 = INT2LINK(0SGetAD(5));
break;
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}

case ANALOG6_1:
1ink2 = INT2LINK(0SGetAD(6));
break;

case ANALOG7_1:
link2 = INT2LINK(0SGetAD(7));
break;

case DIG_IN4_1:
link2 = INT2LINK((OSReadInLatch(0O)
break;

case DIG_IN5_1:
link2 = INT2LINK((OSReadInLatch(O)
break;

case DIG_IN6_1:
link2 = INT2LINK((OSReadInLatch(0O)
break;

case DIG_IN7_1:
link2 = INT2LINK((OSReadInLatch(0)
break;

case QUADLEFT_1:

link2 = INT2LINK(QUADRead(eyeHandle.quadleft));

break;
case QUADRIGHT_1:

link2 = INT2LINK(QUADRead(eyeHandle.quadright));

break;

case PICTURE_1:
link2 = getPicture();
LINK_SETLINK(1ink2, link1);
break;

case TICK_1:
link2 = INT2LINK(O);
break;

default:

dbg("getSysValue: failed. atomname: %d\n", ATOM_GETNAME(atom));

return -1;
}
LINK_SETLINK(link1, 1link2);
return O;

// 0000000pix00000O
// 0000picture 00000 pix.linkO
int Task::getPicture()

{

static colimage colbuf;
static WORD line[80];

int x, y, linkl, link2;
WORD w, temp, pix00;

// 0000
CAMGetColFrame (&colbuf, 0);
LCDPrintf ("image captured\n");

// 0000 pixO0000O0O0O
pix00 = temp = am.newAtom(PIX_7, 1);

for(y = 0; y < 60; y++){
for(x = 0; x < 80; x++){

// 0
linkl = APOS_ALLOCLINK(temp, 0)
if(x == 0){

link2 = INT2LINK(0); // OO
LINK_SETLINK(link1, 1link2);
Yelseq{

link2 = APOS_ALLOCLINK(line[x-1], 2); // 00O NX

LINK_SETLINK(link1, link2);
LINK_SETLINK(1ink2, link1);

>>

>>

>>

>>

B

4) & 1);

5) & 1);

6) & 1);

7) & 1);
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450 }
451 // 0
452 linkl = APOS_ALLOCLINK(temp, 1);
453 if(y == 0){
454 link2 = INT2LINK(0); // OO
455 LINK_SETLINK(1link1, 1ink2);
456 Yelse{
457 link2 = APOS_ALLOCLINK(line[x], 3); // OOO NY
458 LINK_SETLINK(link1, link?2);
459 LINK_SETLINK(1ink2, 1link1);
460 }
461 // 0
462 linkl = APOS_ALLOCLINK(temp, 2);
463 if(x == 794
464 link2 = INT2LINK(0); // OO
465 LINK_SETLINK(linkl, link2);
466 }
467 // 0
468 linkl = APOS_ALLOCLINK(temp, 3);
469 if(y == 59){
470 link2 = INT2LINK(O); // OO
471 LINK_SETLINK(1link1, 1ink2);
472 }
473 LINK_SETLINK (APOS_ALLOCLINK(temp, 4), INT2LINK(colbuf [y+1] [x+1][0]));
474 LINK_SETLINK(APOS_ALLOCLINK (temp, 5), INT2LINK(colbuf [y+1] [x+11[11));
475 LINK_SETLINK (APOS_ALLOCLINK(temp, 6), INT2LINK(colbuf [y+1] [x+1][2]));
476
477 // 00000000000
478 line[x] = temp;
479 // 00 pix 000
480 temp = am.newAtom(PIX_7, 1);
481 }
482 }
483 // 0001000000 pix00000000 i£00000 10000000000
484 am.freeAtom(temp) ;
485
486 return APOS_ALLOCLINK(pix00, 0);
487 }
488
489
490 ///11171771771777777771777777771777777777777777771777/777177777
491 // 00O react 00O
492
493 // 0000OO0DOO0OODOOOOOOOOOOOOO IDOOOOOOOO0ODOOOO
494 // 0000COOO0OOUOO0OOOODDOOCOOOUOOOOOODOODOOOOOO
495 // 000000000 00OODOOOOOOO0O0OODDODOOOOOOOODODD
496 // O00O0O0OOOOOOOOOO
497
498 int Task::reactInterruptAtom()
499 A
500 int i, j, index;
501 WORD atom, w;
502
503 // 0000000000
504 while(genStackHead != 0){
505 // 000000000000 000
506 w = genStack[--genStackHead] ;
507
508 switch(w){
509 case RECV_2:
510 {
511 WORD linkl, link2;
512 // 000 2word 0O OO
513 linkl = INT2LINK(genStack[--genStackHeadl); // id
514 1link2 = INT2LINK(genStack[--genStackHeadl); // O
515 // 000000000000
516 atom = am.newAtom(w, 1);
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}

mm.incAtomCount (1) ;
LINK_SETLINK(APOS_ALLOCLINK (atom, 0), link1);
LINK_SETLINK(APOS_ALLOCLINK(atom, 1), 1link2);
// 000000000000
execStack[execStackHead++] = atom;

break;

}

default:
// 0000000010 000000
atom = am.newAtom(w, 1);
mm.incAtomCount (1) ;
// 00000000000000O0O0
getSysValue(atom) ;
// 000000000000
execStack[execStackHead++] = atom;
break;

}

}

if (execStackHead != 0){ // 000000000000 OOOOOOO
// 000000000
nextreact = 0;
remainRuleFlag = 1;

while(execStackHead !'= 0){

}
}

// 0000

// todo: 00000000 ODOOODOUODOOODOODODOODOOOOOOOODOOODOO
// 00000000000000000O0O0

// 0000000000000 00000000000000000000000000
// 0000000000 0er 0000000000 ODOOODOODOOODOODODO

atom = execStack[--execStackHead];

interruptAtomCount--;

// 000000000000 00000
dbg("reactinterruptatom: %x\n", ATOM_GETFUNC(atom)) ;
index = (ATOM_GETNAME(atom) - SYSATOM_BORDER) / 2;
dbg("index:%x, name=Yx\n", index, ATOM_GETNAME(atom));
for(j=0; j < relatedRule[index].count; j++){
dbg("count:%d, buf[%d]=%d\n", relatedRule[index].count, j,
relatedRule [index] .buf [j1);
react (relatedRule[index] .buf [j], atom);
}
dbg("react finished.\n");

return O;

// 000000000
int Task::reactInitRule()

{

vars[0]

=1;

sysatom_count = 0;

int ret

= interpret(initrule, 0, 1);

if(ret == 0){
reactsysatom() ;
nextreact = 0;
return O;

Yelsed{

return -1;

}

582 // 00000O0O0OOOO0DOOOOOOOOOOO0O0OOOO0O0O0-1000
583 // 000000OO0OO0DOOOOODOOOO-20000
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584 // task[i].remainRule() 0O O0D00O0OD0OODOOOOOOOOODOOODOOO
585 // lockOinterpret 0 30000 000000000000 DODOOOOOOOOOOOO
586 int Task::react()

587 {

588 // vars : member of Ruleset (variable buf)

589 int ret;

590

591 vars[0] = 1;

592 sysatom_count = 0; // sysatom 000 000000

593 ret = interpret(rules[nextreact], 0, 0);

594 if(ret == 0){ // OO

595 reactsysatom(); // sysatom[] 000000000 D0DOOO
596 dbg("rule J%d react.\n\n", nextreact);

597 nextreact = 0;

598 return 0;

599 }else if(ret == -2){ // interpret 00O 0OO0DOOO0O
600 return -2; // 000000-20000nextreact 0000000
601 Yelse{ // OO

602 dbg("rule %d failed.\n", nextreact);

603 nextreact++;

604 if (rules[nextreact] == NULL){ // 000000
605 nextreact = 0; // 0000000

606 remainRuleFlag = O;

607 return -1; // O00O000000-1000

608 Yelse{ // DOOOODOOOO

609 return nextreact; // 0O OO0O0O

610 }

611 }

612 }

613

614 // O000OD0O0O0ODOOODOOODO

615 // OO rules[n] O

616 // [0] : FINDATOM, [2] : 1(task root), [3] : ATOM_GETFUNC(atom)

617 // O00000Ovars[[1]11 0 ateom 000 00pe=4 0000000

618 // 0000000 DOOO0OODOODOOOOOOOO lock=10 interpret 00000
619 int Task::react(int n, WORD atom)

620 {

621 int ret;

622

623 dbg("react for interrupt called. ruleNo:%d, atomfunc:%x\n", n, ATOM_GETFUNC(atom));
624

625 vars[0] = 1;

626 sysatom_count = 0; // sysatom 000 000000
627

628 if(atom !'= 0 && // initrule JO00OOOOO 00O
629 rules[n] [0] == FINDATOM &&

630 rules[n] [2] == 0 &&

631 rules[n] [3] == ATOM_GETFUNC(atom)){

632 dbg("findatom optimize succeeded.\n");

633 // findatom OO OO OO

634 vars[1] = atom;

635 ret = interpret(rules[n], 4, 1);

636 }else{ // 000 findatom(atom) 0O OO 0OOOOOO
637 ret = interpret(rules[n], 0, 1);

638 }

639 if(ret == 0){ // OO

640 reactsysatom(); // sysatom[] 0000000000000
641 dbg("rule %d react.\n\n", nextreact);

642 nextreact = 0;

643 return O;

644 Yelse{ // OO

645 dbg("rule J%d failed.\n", nextreact);

646 return nextreact; // 00O0OOODO

647 }

648 }

649

650 // rulelpc] O0O0OO0O00D0O0OOOD index>=10
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#define ARG(index) (rule[pc+(index)])

// pc:0000000OOO
int Task::interpret(int *rule, int pc, int lock)
{
// 0000000000000000C000000
while(rule[pc] != UNDEF){

// 0000000000000 000o0Oo0

if ((interruptFlag == 1) && (lock == 0)){
return -2; // 0000

}

dbg("interpret %d, pc=/d\n", rulelpcl, pc);

switch(rule[pcl){

case FAIL:
// 000000000000 0000O000o0oOon
return -1;

case DEREF: // [-dstatom, srcatom, srcpos, dstpos]
// src000 AtomOInt 00000000 00Odst 0O Atom 0 int 000 OO0
// 0D000000oooo
vars[ARG(1)] = APOS_GETLINK(vars[ARG(2)], ARG(3));
// 000000000000 0000DOD0ooooog
if (LINK_ISINT (vars[ARG(1)1)){
if (ARG(4) != 0) return -1; // 0000000 pesOO
}else{ // LINK_ISLINK
if (APOS_GETPOS (vars[ARG(2)], ARG(3)) !'= ARG(4)) return -1;
vars [ARG(1)] = LINK_GETATOM(vars[ARG(1)]);
}
pc+=5;
break;
case DEREFATOM: // [-dstatom or -link, srcatom, srcpos]
// 000 Int 000000000
// 0000 1link 000000000000 000OO0O0O0OO0O0O00O0
vars[ARG(1)] = APOS_GETLINK(vars[ARG(2)], ARG(3));
if (LINK_ISLINK(vars[ARG(1)]1)){
vars[ARG(1)] = LINK_GETATOM(vars[ARG(1)]1);
dbg("derefatom : nomal atom derefed.\n");
}
pc+=4;
break;
case FINDATOM: // [-dstatom, srcmem, funcref]
// funcref 0 Int 0O OO0
// 00 IDOD000O000000000 interpret JO0OOOO

{
AtomIt ait;
WORD atom;
am.initIt(&ait, ARG(3), vars[ARG(2)]);
while((atom = am.next(&ait)) !'= 0){
vars[ARG(1)] = atom;
if (interpret(rule, pc+4, lock) == 0){
return 0;
}
}
return -1;
}

break; // OO0O0OO
case LOCKMEM: // [-dstmem, freelinkatom]
// 000000000000 00
vars[ARG(1)] = ATOM_GETMEM(vars[ARG(2)1);
dbg("lockmem: get mem %d. parent is %d\n", vars[ARG(1)], mm.mem[vars[ARG(1)]].parent);
pc+=3;
break;
case ANYMEM: // [-dstmem, srcmem]
// 0000000000
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718 {
719 MemIt mit;
720 WORD mem;
721
722 mm.initIt(&mit, vars[ARG(2)]);
723 while((mem = mm.next(&mit)) !'= 0){
724 vars [ARG(1)] = mem;
725 if (interpret(rule, pc+3, lock) == 0){
726 return 0;
727 }
728 }
729 return -1;
730 }
731 break;
732 case TESTMEM: // [dstmem, srcatom(A?)]
733 if (ATOM_GETMEM(vars[ARG(2)]) !'= vars[ARG(1)]1){
734 return -1;
735 }
736 pc+=3;
737 break;
738 case NATOMS: //[srcmem, count]
739 if (mm.mem[vars [ARG(1)]] .atomCount != ARG(2)){
740 return -1;
741 }
742 pct+=3;
743 break;
744 case NMEMS: // [srcmem, count] 00 O0OD0O0O0O0O
745 {
746 BYTE child, head, count;
TAT
748 child = mm.mem[vars[ARG(1)]].child;
749 if(ARG(2) == 0){ // 00D0OOOOOOOOODODOO
750 if(child !'= 0) return -1;
751 Yelse{ // 00000000 OODOOODODOODOO?O
752 head = mm.mem[child] .next;
753
754 for(count = 1; head != child; count++){
755 head = mm.mem[head] .next;
756 }
757 if (ARG(2) !'= count) return -1;
758 }
759 pc+=3;
760 break;
761 }// 0000
762 case EQMEM: // [meml, mem2]
763 if (vars[ARG(1)] != vars[ARG(2)]) return -1;
764 pc+=3;
765 break;
766 case NEQMEM: // [meml, mem2]
767 // Java0000O000000D0O0O0OOCOOOO0O0OOODOOOOOOO
768 if (vars[ARG(1)] == vars[ARG(2)]) return -1;
769 pct+=3;
770 break;
771 case FUNC: //[srcatom, funcref]
772 dbg("hoge") ;
773 // 000 getfunc, loadfunc, eqfunc 00O
774 if (LINK_ISINT(vars[ARG(1)])){
775 if (LINK2INT (vars[ARG(1)]) '= ARG(2)){
776 dbg("func(int): %x, %x\n", LINK2INT(vars[ARG(1)]), ARG(2));
777 return -1; // 000000000
778 }
779 }else if (ATOM_GETFUNC(vars[ARG(1)]) '= ARG(2)){
780 dbg("func: argl=Yx, arg2=/x\n", ATOM_GETFUNC(vars[ARG(1)]), ARG(2));
781 return -1;
782 T
783 pc+=3;
784 break;
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785 case EQATOM: // [atoml, atom2]

786 // atom1 0 atom2 000 0int 00O ODOOOOOO?

787 if (vars[ARG(1)] '= vars[ARG(2)]) return -1; // 000 atom OO 0000000
788 pc+=3;

789 break;

790 case NEQATOM: // [atoml, atom2]

791 if (vars[ARG(1)] == vars[ARG(2)]) return -1;

792 pc+=3;

793 break;

794 // func J000O00O0atomID 0 intfunc J 0000000 ODOOO
795 // 00 int0 200000000000000000O0OCOOOOOOOO
796 // O0000O000O0O0OOOOOODOOODOOOOODOODOO

797 // case SAMEFUNC: // [atoml, atom2]

798 // getfunc, getfunc, eqfunc 000

799 case GETFUNC: // [-func, atom(I)]

800 // 0000000 link 00O allocatomindirect D00 OO funcref OO0
801 if ('LINK_ISINT(vars[ARG(2)]1)){ // DODOOOOCODOOOOO
802 dbg("getfunc notint atom error\n");

803 return -1;

804 Yelsed{

805 vars [ARG(1)] = vars[ARG(2)];

806 }

807 pc+=3;

808 break;

809 /x*

810 // int 00000000000 atom 0000 atomID OO0

811 if (LINK_ISINT(vars[ARG(2)])){ // atom 00O 00000 1bit 00 0000 false.
812 //000000000000000 LINK_ISINT

813 vars [ARG(1)] = LINK2INT(vars[ARG(2)]);

814 Yelse{ // atom OO0

815 vars [ARG(1)] = ATOM_GETFUNC(vars[ARG(2)]);

816 }

817 pc+=3;

818 break; */

819 case LOADFUNC: // [-func, funcref(A/I)]

820 case EQFUNC:

821 case NEQFUNC:

822 dbg("...func instruction %d called.\n", ARG(0));

823 return -1;

824 case REMOVEATOM: //[srcatom, srcmem]

825 // 00 funcref 0000 srcatom U0 srcmem 000000

826 if (LINK_ISINT(vars[ARG(1)]1)){ // int O OO

827 mm.decAtomCount (vars [ARG(2)]);

828 }else if (ATOM_GETNAME(vars[ARG(1)]) < PROXY_BORDER){ // proxy 0O OO OOOO
829 mm.decAtomCount (vars [ARG(2)]);

830 }

831 pc+=3;

832 break;

833 case NEWATOM: // [-dstatom, srcmem, funcref(A)]

834 // int 0000 NEWATOM_INTO OO OOO

835

836 vars[ARG(1)] = am.newAtom(ARG(3), vars[ARG(2)]);

837 if (ATOM_GETNAME (vars [ARG(1)]) < PROXY_BORDER){

838

839 mm.incAtomCount (vars[ARG(2)]); // ODOOO0OOOOODOOO
840 if (ATOM_GETNAME (vars [ARG(1)]) > NONACTIVE_SYSATOM_BORDER){
841 // 0000000000000 00000O0ooOog

842 dbg("sysatom add %x\n", ATOM_GETFUNC(vars[ARG(1)1));
843 sysatom_buf [sysatom_count++] = vars[ARG(1)];

844 }

845 }

846 pc+=4;

847 break;

848 case NEWATOM_INT: // [-dstlink, funcref(I)]

849 vars [ARG(1)] = INT2LINK(ARG(2));

850 pc+=3;

851 break;
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case FREEATOM: //[srcatom(A)]
if (LINK_ISLINK(vars[ARG(1)1)){
am.freeAtom(vars[ARG(1)]);
}
pc+=2;
break;
case ALLOCATOM: // [-dstatom, funcref(I)]
// 000000000000 00000 LINKODOOOOd
vars[ARG(1)] = INT2LINK(ARG(2));
pc+=3;
break;
case ALLOCATOMINDIRECT: // [-dstatom(I), func(LINK)]
// getfunc 00 0000000000000 0O0C0OOOOOCOOOOO
if (!LINK_ISINT (vars[ARG(2)]1)){
return -1;
Yelse{
vars[ARG(1)] = vars[ARG(2)];
}
pc+=3;
break;
case COPYATOM: // [-dstatom(I), mem, srcatom(I)]
// int 0000000000
if (LINK_ISINT (vars[ARG(3)1)){
vars[ARG(1)] = vars[ARG(3)];
Yelsed{
dbg("int 00O copymem 000 \n");
return -1;
}
pe+=4;
break;
case REMOVEMEM: // [srcmem, parentmem] srcmem J parentmem 0000000
// 0DO0D0O0O0oooog
mm.removeMem(vars [ARG(1)]);
pc+=3;
break;
case NEWMEM: // [-dstmem, srcmem]
vars[ARG(1)] = mm.newMem();
mm.addMem (vars [ARG(1)], vars[ARG(2)]);
pc+=3;
break;
case MOVECELLS: // [dstmem, srcmem] srcmem 00000000 OOsrcmem!=0
am.moveAtoms (vars[ARG(1)], vars[ARG(2)]); // src 000 dst 00000000
mm.moveMems (vars [ARG(1)], vars[ARG(2)]); // src 00000 dst 0000
pc+=3;
break;
case FREEMEM: // [srcmem] free 00 OO0 remove DO MEMO OO
mm.freeMem(vars [ARG(1)]);
pc+=2;
break;
case ADDMEM: // [dstmem, srcmem] remove [0 srcmem [] dstmem 0 O [
mm. addMem (vars [ARG(2)], vars[ARG(1)]1);
pc+=3;
break;
// 00000
case GETLINK: // [-link, atom(A), pos]
// 000 atom.pos OO0 . atom D int 0O00OOOOO
vars[ARG(1)] = APOS_GETLINK(vars[ARG(2)], ARG(3));
pct+=4;
break;
case ALLOCLINK: // [-link, atom(A/I), pos]
if (vars[ARG(2)] & 0x01 == 1){ »//00000000000O00GO
if (ARG(3) != 0) dbg("alloclink: unexpected argument.\n");
vars[ARG(1)] = vars[ARG(2)]; // OODODO
Yelsed{
// atom.pos 000000000
vars[ARG(1)] = APOS_ALLOCLINK(vars[ARG(2)], ARG(3));
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919 pct+=4;
920 break;
921 case NEWLINK: // [atoml, posl, atom2, pos2, meml]
922 // atoml.link[posi] O atom2.link[pos2] 0O O OO0
923 // alloclink, alloclink, unifylinks
924 {
925 WORD 1link1l, 1link?2;
926 //alloclink
927 if (vars[ARG(1)] & Ox1 == 1){
928 linkl = vars[ARG(1)];
929 Yelseq{
930 linkl = APOS_ALLOCLINK(vars[ARG(1)], ARG(2));
931 }
932 // alloclink
933 if (vars[ARG(3)] & 0x1 == 1){
934 link2 = vars[ARG(3)];
935 Yelsed{
936 1link2 = APOS_ALLOCLINK(vars[ARG(3)], ARG(4));
937 }
938 // 000 UNIFYLINKS
939 if (LINK_ISLINK(link1)){
940 if (LINK_ISLINK(1ink2)){ //00000O
941 LINK_SETLINK(1link1, 1link2);
942 LINK_SETLINK(1ink2, link1);
943 Yelse if (LINK_ISINT(1link2)){ // linkl [0 link2 000000
944 LINK_SETLINK(link1l, 1link2);
945 }
946 }Yelse if (LINK_ISINT(1link1)){
947 if (LINK_ISLINK(1ink2)){ //1link2 0 link1 000000
948 LINK_SETLINK(1link2, link1);
949 Yelse if (LINK_ISINT(1link2)){ // 0000O0OOO
950 dbg("0O 00 \n");
951 ¥
952 Yelseq{
953 dbg("unifylinks: link 0000000 \n");
954 }
955 }
956 pc+=6;
957 break;
958 case RELINK: //[atoml, posl, atom2, pos2, mem]
959 // atoml.link[pos1] O 0atom2.link[pos2] 00O 00000
960 // alloclink, getlink, unifylinks
961 {
962 WORD 1link1l, 1ink2;
963 if (vars[ARG(1)] & Ox1 == 1){
964 linkl = vars[ARG(1)];
965 Yelsed{
966 linkl = APOS_ALLOCLINK(vars[ARG(1)], ARG(2));
967 }
968 1link2 = APOS_GETLINK(vars[ARG(3)], ARG(4));
969 // 0O 0O0OUNIFYLINKS
970 if (LINK_ISLINK(link1)){
971 if (LINK_ISLINK(1ink2)){ //00000O
972 LINK_SETLINK(1link1, 1ink2);
973 LINK_SETLINK(1link2, link1);
974 Yelse if (LINK_ISINT(1ink2)){ // linkl1 0 1link2 000000
975 LINK_SETLINK(1link1, 1link2);
976 ¥
977 Yelse if (LINK_ISINT(1link1)){
978 if (LINK_ISLINK(1ink2)){ //1ink2 0 link1 000000
979 LINK_SETLINK(1link2, link1);
980 Yelse if (LINK_ISINT(1ink2)){ // 000000 DOO
981 dbg("OOOO\n");
982 }
983 }else{
984 dbg("link1:%x, link2:%x\n", linkl, link2);
985 dbg("unifylinks: link 0000000 \n");
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986 }
987 }
988 pc+=6;
989 break;
990 case UNIFY: //[atoml, posl, atom2, pos2]
991 // getlink, getlink, unifylinks
992 {
993 WORD link1l, link?2;
994 linkl = APOS_GETLINK(vars[ARG(1)], ARG(2));
995 link2 = APOS_GETLINK(vars[ARG(3)], ARG(4));
996 // 000 UNIFYLINKS
997 if (LINK_ISLINK(1link1)){
998 if (LINK_ISLINK(1ink2)){ //00000
999 LINK_SETLINK(link1, 1link2);
1000 LINK_SETLINK(link2, link1);
1001 Yelse if (LINK_ISINT(1ink2)){ // linkl [0 link2 000000
1002 LINK_SETLINK(link1l, 1link2);
1003 }
1004 }Yelse if (LINK_ISINT(link1)){
1005 if (LINK_ISLINK(1ink2)){ //1link2 0 link1 00O O0O0O0O
1006 LINK_SETLINK(link2, link1);
1007 Yelse if(LINK_ISINT(1ink2)){ // 00O0O0OOOO
1008 dbg("O OO0 \n";
1009 ¥
1010 Yelsed{
1011 dbg("link1:%x, 1ink2:%x\n", linkl, link2);
1012 dbg("unifylinks: link 0000000 \n");
1013 }
1014 }
1015 pc+=5;
1016 break;
1017 case UNIFYLINKS: // [link1l, 1link2, mem]
1018 // 1link1 000000 1link2 000000000000 0Omem OO OO0
1019 {
1020 WORD link1l, link?2;
1021 linkl = vars[ARG(1)];
1022 link2 = vars[ARG(2)];
1023
1024 if (LINK_ISLINK(link1)){
1025 if (LINK_ISLINK(1ink2)){ //00000
1026 LINK_SETLINK(link1, link?2);
1027 LINK_SETLINK(1link2, linkl1);
1028 Yelse if (LINK_ISINT(1link2)){ // linkl 0 link2 000000
1029 LINK_SETLINK(linkl, 1link2);
1030 }
1031 Yelse if (LINK_ISINT(link1)){
1032 if (LINK_ISLINK(1ink2)){ //1ink2 0 link1 000000
1033 LINK_SETLINK(link2, link1);
1034 Yelse if (LINK_ISINT(link2)){ // ODOOOOOOO
1035 dbg("0000\n");
1036 }
1037 Yelsed{
1038 dbg("link1:%x, link2:%x\n", linkl, link2);
1039 dbg("unifylinks: 1link OO0 OO0 OOO\n");
1040 }
1041 }
1042 pct=4;
1043 break;
1044 // proxy OO
1045 case REMOVEPROXIES: // [srcmem]
1046 mm.removeProxies(vars[ARG(1)], am);
1047 pc+=2;
1048 break;
1049 case REMOVETOPLEVELPROXIES: // [srcmem]
1050 mm.removeTopLevelProxies(vars[ARG(1)], am);
1051 pct+=2;
1052 break;
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1053
1054
1055
1056
1057
1058
1059
1060
1061
1062
1063
1064
1065
1066
1067
1068
1069
1070
1071
1072
1073
1074
1075
1076
1077
1078
1079
1080
1081
1082
1083
1084
1085
1086
1087
1088
1089
1090
1091
1092
1093
1094
1095
1096
1097
1098
1099
1100
1101
1102
1103
1104
1105
1106
1107
1108
1109
1110
1111
1112
1113
1114
1115
1116
1117
1118
1119

case INSERTPROXIES: // [parentmem, childmem]
mm.insertProxies(vars[ARG(1)], vars[ARG(2)], am);
pc+=3;
break;
case REMOVETEMPORARYPROXIES: // [srcmem]
mm.removeTopLevelProxies(vars[ARG(1)], am);
pc+=2;
break;
case COPYMEM: // $p 00 000000000000 OOOOOOOODOO
dbg("copymem called.\n");
return -1;
case DROPMEM: // [srcmem]
// sremem 0000000000000 0ODOO00ODOOODOOODO
// {$pl1} :- . OOOOOOOOOOOOOOOOOOOOOOO
// 0000000C¢p00000OOOCCODROPMEM OO OOODODO
// mm.dropMem(vars[ARG(1)]); // 0OOOOOOO
dbg("dropmem called.\n");
return -1;

// 000000

case REACT: // O00O0OO0ODOOO
break;

case COMMIT:
lock = 1; // 000000O0O0OO0OOODOOOOOO
pct+=1;
break;

case PROCEED:
return 0; // 00O0OO

case ISUNARY: // [atom]
if (ATOM_GETARITY(vars[ARG(1)]) !'= 1) return -1;
pct+=2;
break;
case ISINT: // [link] OOO0OO0O0O0O0OOCOO
if (!LINK_ISINT(vars[ARG(1)])) return -1;
pct+=2;
break;
// 0000
case IADD: // [-dstlink, linkl, link2]
vars[ARG(1)] =
INT2LINK (LINK2INT (vars [ARG(2)]) + LINK2INT(vars[ARG(3)]));
pct+=4;
break;
case ISUB:
vars[ARG(1)] =
INT2LINK (LINK2INT (vars [ARG(2)]) - LINK2INT(vars[ARG(3)1));
pct+=4;
break;
case IMUL:
vars[ARG(1)] =
INT2LINK (LINK2INT (vars [ARG(2)]) * LINK2INT(vars[ARG(3)]));
pct+=4;
break;
case IDIV:
if (LINK2INT (vars [ARG(3)]) == 0) return -1;
vars[ARG(1)] =
INT2LINK (LINK2INT (vars [ARG(2)]) / LINK2INT(vars[ARG(3)]));
pct+=4;
break;
case INEG: //[-dstlink, link]
vars[ARG(1)] = INT2LINK( - LINK2INT(vars[ARG(2)1));
pc+=3;
break;
case IMOD:
if (LINK2INT(vars [ARG(3)]) == 0) return -1;
vars[ARG(1)] =
INT2LINK (LINK2INT (vars [ARG(2)]1) % LINK2INT(vars[ARG(3)]1));
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1120 pct+=4;
1121 break;
1122 // 000000D0ODOOOOOOOOO
1123 case INOT:
1124 vars[ARG(1)] = INT2LINK( ~“LINK2INT(vars[ARG(2)1));
1125 pc+=3;
1126 break;
1127 case IAND:
1128 vars[ARG(1)] =
1129 INT2LINK (LINK2INT (vars [ARG(2)]) & LINK2INT(vars[ARG(3)1));
1130 pct=4;
1131 break;
1132 case IOR:
1133 vars[ARG(1)] =
1134 INT2LINK (LINK2INT (vars [ARG(2)]) | LINK2INT(vars[ARG(3)]));
1135 pc+=4;
1136 break;
1137 case IXOR:
1138 vars[ARG(1)] =
1139 INT2LINK (LINK2INT (vars [ARG(2)]) ~ LINK2INT(vars[ARG(3)]));
1140 pct+=4;
1141 break;
1142 // 0000 OOODOOOOOOOO
1143 case ILT: //[link1, 1link2]
1144 if (! (LINK2INT (vars[ARG(1)]) < LINK2INT(vars[ARG(2)]))) return -1;
1145 pc+=3;
1146 break;
1147 case ILE:
1148 if (! (LINK2INT (vars[ARG(1)]) <= LINK2INT(vars[ARG(2)]1))) return -1;
1149 pc+=3;
1150 break;
1151 case IGT:
1152 if (! (LINK2INT (vars[ARG(1)]) > LINK2INT(vars[ARG(2)]))) return -1;
1153 pc+=3;
1154 break;
1155 case IGE:
1156 if (! (LINK2INT (vars[ARG(1)]) >= LINK2INT(vars[ARG(2)]))) return -1;
1157 pc+=3;
1158 break;
1159 case IEQ:
1160 if (! (LINK2INT (vars[ARG(1)]) == LINK2INT(vars[ARG(2)]1))) return -1;
1161 pc+=3;
1162 break;
1163 case INE:
1164 if (! (LINK2INT (vars[ARG(1)]) != LINK2INT(vars[ARG(2)1))) return -1;
1165 pc+=3;
1166 break;
1167
1168 default:
1169 dbg("invalid instruction: %d\n", rulel[pc]l);
1170 0SExit(-1);
1171 break;
1172 }
1173 }
1174 dbg("instruction code finished without proceed.\n");
1175 return -1;
1176 }

B.1.13 task.h

1
2
3
4

#ifndef TASK_H
#define TASK_H

#include "lmntal.h"
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5 #include "atom.h"
6 #include "mem.h"
7
8 typedef struct{
9 int count;
10 int *buf;
11 } RELATEDRULE;
12
13 class Task{
14 public:
15 Task(void);
16 “Task(void) ;
17 int react();
18 int react(int n, WORD atom);
19 int interpret(int #*rule, int pc, int lock);
20 int loadRules();
21 int remainRule() { return remainRuleFlag; };
22 int isStable() {return (('remainRuleFlag) && (timerCount == 0)); 1};
23 void dump();
24 int reactInitRule();
25 int reactInterruptAtom();
26 int setId(int i) { return id = i; };
27 int getPicture();
28
29 static int interruptAtomCount;
30 static Task *tasks;
31
32 // timer 00 000000000000 OODOOOOO
33 WORD genAtom(WORD atomFunc) { genStack[genStackHead++] = atomFunc; };
34
35 void decTimerCount() { timerCount--; };
36 // private
37 int timerCount; // DUOOD0O0OOOOOOOO
38
39 private:
40 int reactsysatom();
41 int getSysValue(WORD atom) ;
42
43 int id; // OO0O0OOO ID
44 AtomManager am;
45 MembraneManager mm;
46 int *initrule;
a7 int *rules[MAX_RULES];
48 int nextreact; // OO0 react OO OOOOO0O
49 int remainRuleFlag; // O00O0000000O000O00MMOOO0O0O oOreact00 10000
50
51 // 00000000
52 WORD execStack[EXECSTACK_LEN]; // 00000 0D0OOOOOOOOO
53 int execStackHead;
54 WORD genStack [GENSTACK_LEN]; // OO0O0O0O0O 000000000
55 int genStackHead;
56 RELATEDRULE relatedRule[MAX_ACTIVE_SYSATOM];
57
58 // interpret [
59 WORD vars[MAX_VARS]; // O0OO0OOO (WORD) DO O OOOOOO
60 WORD sysatom_buf [MAX_SYSATOM_INRULE]; // interpret 00 newatom 0 00 sysatom OO0
61 int sysatom_count;
62 };
63

64 #endif
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B.2 0O00OOO

B.2.1 atomid.cpp

1 #include <stdio.h>

2 #include <ctype.h>

3 #include <string.h>

4

5 #include "atomid.h"

6

7 AtomID::AtomID(void)

8 {

9 int i;

10

11 funcID = new FUNCINFO[MAX_FUNC];

12 for(i=0; i < MAX_FUNC; i++) funcID[i].id = 0;

13 next_id = 1;

14 3}

15

16 AtomID::~AtomID(void)

17 {

18 delete[] funcID;

19 }
20
21 int AtomID::loadData(const char *filename)
22 A
23 FILE *fp;
24 int i;
25
26 if (NULL == (fp = fopen(filename, "rt"))) return -1;
27
28 // 000000 atom O NAMEO OO OO
29 if(1 !'= fscanf(fp, "%x\n", &next_id)) return -1;
30

31

32 for(i=0; i < MAX_FUNC; i++){

33 if (2 !'= fscanf(fp, "¥%s %x\n", &funcID[i] .name, &funcID[i].id)){
34 break; // 0O0OO0OOO

35 }

36 }

37 for(; i < MAX_FUNC; i++) funcID[i].id = 0; // OO0OO0OO
38

39 return O;
40 }
41
42 int AtomID::saveData(const char *filename)
43 {
44 FILE *fp;
45
46 if (NULL == (fp = fopen(filename, "wt"))) return -1;
47
48 fprintf (fp, "/%x\n", next_id);
49 for(int i=0; i < MAX_FUNC; i++){

50 if (funcID[i].id == 0) break; // 0000

51 fprintf (fp, "%s %x\n", funcID[i].name, funcID[i].id);
52 }

53 return O;

54 }

55

56 // id00000000000OCOOOO0OO0OOOOOOO

57 char* AtomID::getName(int id)

58 {

59 for(int i=0; i < MAX_FUNC; i++){

60 if (funcID[i].id == 0) return NULL; // OOOOOOOO
61 if (funcID[i].id == id){ // OO0 IDOOOOOOOOCO
62 return funcID[i].name; // OOOOOOOOO
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63 }
64 }
65 return NULL;
66 X
67
68
69 WORD AtomID::funcConv(const char *funcbuf)
70 {
71 int num;
72
73 if (sscanf (funcbuf, "%d", &num) == 1){ // func OO0 OO0
74 return (WORD)num;
75 }Yelse if(isalpha(funcbuf[0]) || funcbuf[0] == ’$’){ // OOOOOOO
76 WORD tmp;
7 tmp = (WORD)getID(funcbuf);
78 return tmp;
79 Yelse{ // O
80 return (WORD)-1;
81 }
82 1}
83
84 (// 00000 functorJ IDOOUOODOOOOOOOODOO
85 int AtomID::getID(const char *funcbuf)
86 {
87 int i, j, arity;
88
89 for(i=0; i < MAX_FUNC; i++){
920 if (funcID[i].id == 0) break;
91 if (strcmp (funcID[i] .name, funcbuf) == 0){
92 return funcID[i]l.id;// 00000000000
93 }
94 }
95 // 0000000000000D0O00000OoDOd
96 stroncpy (funcID[i] .name, funcbuf, FUNC_LEN); // functor 00O
97
98 // arity 000
99 for(j=strlen(funcbuf); funcbufl[j] !'= ’_’; j--);
100 if (1 !'= sscanf (funcbuf+j, "_%d", &arity)) return -1;
101
102 funcID[i].id = next_id | (arity << 16);
103
104 next_id += 2; // 00O0OO
105 return funcID[i].id;
106 }
107
108 int AtomID::isIntFunc(const char *funcbuf)
109 {
110 int num;
111 if (sscanf (funcbuf, "%d", &num) == 1){
112 return -1;
113 Yelseq{
114 return 0;
115 }
116 }

B.2.2 atomid.h

#ifndef ATOMID_H
#define ATOMID_H

N o WwN e

#define MAX_FUNC 1024
#define FUNC_LEN 32

typedef struct{
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8 char name [FUNC_LEN] ;
9 int id;
10 } FUNCINFO;
11
12 #include "../runtime/lmntal_const.h"
13
14 class AtomID{
15 public:
16 AtomID(void);
17 ~“AtomID(void);
18
19 WORD funcConv(const char *funcbuf);
20 int isIntFunc(const char *funcbuf);
21
22 int loadData(const char *filename);
23 int saveData(const char *filename);
24 char* getName(int id);
25
26 private:
27 int getID(const char *funbuf);
28 FUNCINFO *funcID;
29 int next_id;
30 };
31
32 #endif

B.2.3 bin2lmn.cpp

O 00 N U WN -

#include
#include
#include
#include
#include

#include
#include

#define
#define
// LINK_

#define
(((s

#define
// 20000

typedef

<stdio.h>
<stdlib.h>
<sys/types.h>
<signal.h>
<unistd.h>

"atomid.h"
"../runtime/lmntal_const.h"

dbg(f, ...) fprintf(stderr, f, ##__VA_ARGS__)
LINK_ISINT(1link) (!(((1link) & 0x00000003) ~ 0x01))
GETLINK OO0 UO0O0O00000000 (0DODO 30bit O)
LINK2INT(1ink) \

igned int) (1ink)) >> 2)

MAX_ATOM 20000
goooooooo

struct t_link{

WORD key;

int

value;

struct t_link *next;

}LINK;

typedef
int
int
int
int
int
int

}ATOM;

class Li
public:

struct t_atom{

mem;

arity;

name;

addr;

linkno [MAX_ARITY];

intflag[MAX_ARITY]; // 000 linkno 000000000000 OOOODOO

nkTable{
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37 LinkTable(void) ;
38 “LinkTable(void);
39 int resist(WORD w);
40 int search(WORD w);
41 int check();
42 private:
43 static int no;
44 LINK *head;
45 };
46
47 unsigned int getWord(){
48 int i;
49
50 i = (getchar() & Oxff) << 24;
51 i =1 | (getchar() & Oxff) << 16;
52 i =1 | (getchar() & Oxff) << 8;
53 i =i | (getchar() & Oxff);
54 return ij;
55 }
56
57 1int get_atom(ATOM *a);
58 void output_mem(ATOM *a, int atom_count, AtomID *atomid, int n);
59
60 /+ ODOOOOOCOO
61 WORDn : O0OO0O
62
63 WORD size, WORD atom, WORD, addr, WORD linki ...
64 : size OO WORDODODOODOOOOD twordJ atomd 00 atom OO0 0000 ODODO
65 J00000000004if size == 0 DOOOOOOOO
66 BYTE Oxff : DDOO0O {0000
67 BYTE ID : [0 ID
68 BYTE x : 0x00 000000y 0000, oxff DODDODO {0000
69
70 ODOODOOOOOO
71 */
72
73
74 int main(int argc, char **argv){
75 ATOM a[MAX_ATOM] ;
76 WORD w;
77 int task_count, atom_count;
78 AtomID *atomid = NULL;
79
80
81 // 2id 00 0000000000000 D0O0O0OO IpDOOOOOoOO
82 if(arge > 1){
83 atomid = new AtomID;
84 if (0 != atomid->loadData(argv([1])){ // OOOOO0O
85 dbg("cannot open aid file : %s\n", argv([1]);
86 delete atomid;
87 atomid = NULL;
88 }
89 Yelse{
90 dbg("please specify aid file.\n");
91 }
92
93 // 0000000000
94 task_count = (int)getWord();
95
96 for(int i=0; i < task_count; i++){ // 00O OO0OO
97
98 // 00000000000
99 atom_count = get_atom(a);
100
101 // 0000000000000 0DO0DO00oDOoo
102 if (Oxff != getchar()) return -1;

103
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104 printf("{"); // O0OOOODO

105

106 // 0000000000000 00

107 output_mem(a, atom_count, atomid, 2);
108

109 printf("\n}\n"); // OO0OOOO

110 }

111

112 // 0000

113 // 000/dev/ttysO 00 0000000000000 OOOOOOOOOOOO
114 // 000 xill 0000000000

115 fflush(stdout); // OOODOOOOO

116 kill(getpid(), SIGINT);

117

118 return O;

119 }

120

121 // atom 00000000000 DOOO a0OO0OO
122 int get_atom(ATOM *a)

123 {

124 WORD w;

125 WORD size;

126 int i, j, k, value, flag;

127 LinkTable 1t;

128

129 for(i=0; i < MAX_ATOM; i++){

130 size = getWord();

131 if (size == 0) break;

132 w = getWord();

133 alil .mem = w >> 24 & Oxff;

134 ali] .arity = w >> 16 & Oxff;

135 al[i] .name = w & Oxffff;

136 w = getWord();

137 al[i]l.addr = w & Oxffffff;

138 for(j=0; j < size - 2; j+){ // 1link 000000000
139 w = getWord();

140 if (LINK_ISINT(w)){ // 0000000

141 alil.linkno[j] = LINK2INT(w);

142 alil.intflaglj]l = 1; // linkno 0000000000
143 Yelse{ // O0OOODO

144 alil.intflag[j]l = 0; // linkno O0OODODODO

145 value = 1lt.search((j << 24) | (al[il.addr & Oxffffff));
146 if(value == 0){ // 00O0O0O0OOOOO

147 ali] .linkno[j] = 1lt.resist(w); // D0O0O0OOOO,NoOODODO
148 Yelsed{

149 al[il.linkno[j] = value; // 00000000 NoODOO
150 }

151 }

152 }

153 }

154 if (1t.check()) dbg("link connect failed\n");

155 return ij;

156 }

157

1568 void indent(int n){

159 for(int i=0; i < mn; i++) putchar(’ ’);

160 }

161

162 // 0000000000 DOO0O0OODOOMOOOOO4, yoooooo
163 void output_mem(ATOM *a, int atom_count, AtomID *atomid, int n)

164 {

165 WORD w;

166 int i, j, flag = 0;
167 char *str;

168

169 // 0O000000o0ooag

170 w = getchar(); // 000 IDOOOOO
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171
172
173
174
175
176
177
178
179
180
181
182
183
184
185
186
187
188
189
190
191
192
193
194
195
196
197
198
199
200
201
202
203
204
205
206
207
208
209
210
211
212
213
214
215 }
216
217

for(i=0; i < atom_count; i++){
if(w == al[il.mem){ // O0O0OOO0O0O0OODODODODODOO
if (flag) printf(", "); // 2000000000000
printf("\n"); indent(n); // 000000

if (a[i] .name > PROXY_BORDER){ // proxy 00O 0O°’=> 00000

printf("’=’");
Yelseq{
str = NULL;

if (atomid != NULL){ // atomid 0O OO0O
str = atomid->getName(a[i].arity << 16 | a[il.name);
}
if(str !'= NULL){ // IDOOOOOOO0OO0OOOO
printf ("%s", str);
Yelse{ // OOODOODOOODO IDOODOOO
printf("a%d_%d", alil .name, a[i].arity);

}
}
if(ali].arity > 0){
printf("(");
for(j=0; j < alil.arity; j++){
if (alil.intflaglj] == 1){ // 00000000000
printf("%d", alil.linkno[jl); // 0OO0OOOOO
Yelseq{
printf("L%d", alil.linkno[jl); // OODOODO
¥
if(j+1 < al[il.arity) printf(", ");
}
printf(")");
}

flag = 1; // 20000000000000000O00

}

while((w = getchar()) == Oxff){ // 0000000
printf("\n"); indent(n); printf("{"); // ODODOOOO
output_mem(a, atom_count, atomid, n + 2); // 0O00O0OOO
printf("\n"); indent(n); printf("}"); // OODOOOO

}
if(w '=0{ // 00000000000

printf ("unexpected w %d read.(must be 0)\n", w);
}

return;

218 LinkTable::LinkTable(void)

219 {
220
221
222}
223

head = new LINK;
head->next == NULL;

224 int LinkTable::no = 1;

225

226 LinkTable:: LinkTable(void)

227 {
228
229
230
231
232
233
234
235
236
237 }

LINK *p, *tmp;
p = head->next;

while(p != NULL){
tmp = p->next;
delete p;
p = tmp;

}

delete head;
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238
239 // 00000000 Ohead.next == NULL) OO0OOOo0O0OO
240 int LinkTable::check()

241 {

242 if (head->next == NULL) return O;
243 else return -1;

244 '}

245

246 // NoOODOOOODOOO keyOOODODOOOODO
247 int LinkTable::resist(WORD w)

248 {

249 LINK *p;

250

251 p = new LINK;

252 p—>key = w;

253 p—>value = no;

254 p—>next = head->next;

255 head->next = p;

256

257 return no++;

268 }

259

260 int LinkTable::search(WORD w)
261 {

262 LINK *p, *prev;

263 int i;

264

265 p = head->next;

266 prev = head;

267

268 while(p != NULL){

269 if(p—>key == w){ // 000000000 O0CO
270 prev->next = p->next;
271 i = p->value;

272 delete p;

273 return ij;

274 }

275 prev = p;

276 p = p->next;

277 }

278 // 000000000 o0ODOO
279 return O;

280 }

B.2.4 gental.cpp

#include <stdio.h>

typedef unsigned int WORD;
// 00000000 .tmp 0000000000 0O0O0CDOOO

/* J00000000000
N : OOO0Ooooooooo

n word data (init command)
10 N : 0O0O0OODOO

O 00 ~NO U WN -

12 N : taskl DO0O0O0O0O OOOO

13 n word data (taskl init rule)

14 0 : DO00OO0OO0O0DOO0OO0ODOOOOODOOODOOOOODOOD
15 N : taskl OOOOO0O0OO

16 n word data (taskl rulel)

18 ID : D0O0O0O0O00O0DO0OCODO mDbo:00000
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19 M : 0000000000000

20 mO000000OO0O0O0OOOOO

21

22

23 */

24

25 // 0000000000 woRDOOOOOOOOOODO
26 void putword(WORD w)

27 {

28 fputc(w >> 24 & Oxff, stdout);

29 fputc(w >> 16 & Oxff, stdout);

30 fputc(w >> 8 & Oxff, stdout);

31 fputc(w & Oxff, stdout);

32 }

33

34 int main(int argc, char **argv)

35 {

36 FILE *fp;

37 int i;

38

39 // arge < 30000000task 00000OODO

40 if (argc < 3) return -1;

41

42 // temp_init.tal 0000 OOOO

43 if (NULL == (fp = fopen(argv[i]l, "rt"))) return -1;
44 fprintf (stderr, "tal2bin: read %s\n", argv[1]);
45

46 // init 0000000000000 0CO

47 putword(0) ;

48

49 fclose(fp);

50

51 // init 0000000000000

52 putword(argc - 2);

53

54 // 000000 tmpO000O0O00O00O0ODODOO

55 for(int i=2; i < argc; i++){

56 int c;

57

58 if (NULL == (fp = fopen(argv[il, "rt"))) return -1;
59 fprintf(stderr, "tal2bin: read %s\n", argv([il);
60

61 //

62 while(fscanf (fp, "%d", &c) == 1){ // 0000000
63 putword ((WORD)c) ;

64 }

65 fclose(fp);

66 }

67

68 return O;

69 1}

70

B.2.5 splitlmn.cpp

#include <stdio.h>
#include <stdlib.h>

// lmm 0000000000000 0O0COO00O0O0O0O0O0000O00O0O0

int main(int argc, char **argv)
{

FILE *fp;

int ¢, memcount;

© 00N U WN -
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10 pid_t pid;
11 char taskfile[] = "temp_task00.lmn";
12
13 // 000000000000000
14 while((c = getchar()) !'= °{"){ // 00000000O000O00O00OOO
15 if (c == EOF) return -1;
16 }
17 // 00000 temp_taskXX.lmn OO0 OO0
18 for(int i=0; i < 100; i++){ // 000000
19 taskfile[9] =i / 10 + °0’;
20 taskfile[10] = i % 10 + ’07;
21
22 if (NULL == (fp = fopen(taskfile, "wb"))) return -1;
23
24
25 // 0000000000000 O0000DOo0oOOoooooDO
26 memcount = 1;
27 while(1){
28 c = getchar();
29 if(c == EOF) return -1; // 00000000 O EOFOOOO
30 else if(c == ’{’) memcount++;
31 else if(c == *}’){
32 memcount--;
33 if (memcount == 0){
34 fclose(fp);
35 break; // OO0O0OO0OOO
36 }
37 }
38 fputc(c, fp); // 00000000 OOODODOOOOOO
39 }
40
41 // 00000000000000000OEOFOOOO
42 while(1){
43 c = getchar();
44 if(c == EOF) break; // O0O0OO0O0OOOOOOOCOO
45 else if(c == ’{’) break; // 0OODOOOO
46 else if(c == ’.’) break; // 0DO0OOOOO
47 }
48 if(c == EOF || ¢ == *.?) break; // U0O0O0O00O0COOOO0OOOOOOOO
49 }
50
51 // 00000 temp_init.lmn 00000
52 if (NULL == (fp = fopen("temp_init.lmn", "wb"))) return -1;
53
54 while(EOF != (c = getchar())){// 000D OO0OOO
55 fputc(c, fp);
56 }
57 fclose(fp);
58
59 return O;
60 1}
B.2.6 template.aid
1 3
2
3 pix_7 0x70001
4
5 $in_2 Ox2ffff
6 $out_2 O0x2fffd
7
8 analog0_1 0x1e001
9 analogl_1 0x1e003
10 analog2_1 0x1e005
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11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
a7
48
49
50
51
52
53

analog3_1 0x1e007
analog4_1 0x1e009
analogb_1 0x1e00b
analog6_1 0x1e00d
analog7_1 0x1e00f
dig_in4_1 Oxl1le0O11
dig_in5_1 0x1e013
dig_in6_1 0x1e015
dig_in7_1 0x1e017
quadleft_1 0x1e019
quadright_1 0Ox1e01b
key_1 0OxleO1d
recv_2 0x2e01f
picture_1 Ox1le021
tick_1 0x1e023

get_1 0x1£001

timer_2 0x2f003
timeronce_2 0x2f005
timerkill_2 0x2f007
leftmotor_1 0x1£009
rightmotor_1 0x1f00b
putint_1 0x1£00d
putchar_1 0x1f00f
dig_outO_1 0x1f011
dig_out1_1 0x1£f013
dig_out2_1 0x1£015
dig_out3_1 0x1£f017
dig_out4_1 0x1£019
dig_out5_1 0x1f01b
dig_out6_1 0x1f01d
dig_out7_1 0x1f01f
servo7_1 0x1£021
servo8_1 0x1£023
servo9_1 0x1£025
servol0_1 0x1£027
servoll_1 0x1£029
servol2_1 0x1f02b
quadleft_reset_0 0x0f02d
quadright_reset_0 0x0f02f
send_2 0x2f031
dig_outall_1 0x1£033
picture_remove_1 0x1£f035

B.2.7 translmn.cpp

W 00 ~NO U WN -

#include <stdio.h>
#include <ctype.h>
#include <string.h>
#include <vector>

using namespace std;

#include "atomid.h"

#include "../runtime/lmntal_const.h"
#include "../runtime/inst.h"
#define dbg(f, ...) fprintf(stderr, f, ##__VA_ARGS__)

#define MAX_INST 1024
#define INST_LEN 6

#define MAX_SYSATOM 8
#define MAX_RELATEDRULE 16
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19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76
7
78
79
80
81
82
83
84
85

typedef struct{

int count;
WORD ibuf [INST_LEN];

} INST;

typedef struct{

int count;

WORD atoms [MAX_SYSATOM] ;
} SYSATOM;
int readCode(INST *inst, AtomID *atomid);
int optimize(INST *inst, int max_inst, int ruleNo, vector<int> *sysrule);
int writeCode(INST *inst, int max_inst);
int getInst(INST *inst, int pc, AtomID *atomid, char *buf, int *vartable,

int instID, int argcount, int withFunc, unsigned rawDataFlag);

// 0000000000000 0000000000ooOooo

int

{

main(int argc, char **argv)

INST inst[MAX_INST];

AtomID atomid;

int i, pc;

SYSATOM sysatom;

vector<int> sysrule[MAX_ACTIVE_SYSATOM];

// funcID OO OO

if (-1 == atomid.loadData("temp_aid.aid")){
dbg("file load error.\n");
return -1;

}

dbg("translmn: now translating...\n");

// 00000000000000004inst 000
for(int ruleNo = -1; ; ruleNo++){ // OO0 0OO0O0OODOOODOODO-1.
for(i=0; i < MAX_INST; i++) inst[i].count = 0; // OO OOOO0O

pc = readCode(inst, &atomid);
if(pc < 1) break; // DO00OO000O0000 oxr0000OOOOODO

// inst 00000000000O0OOOCOO
// 0000 sysatom 000
optimize(inst, pc, ruleNo, sysrule);
// 000000000
writeCode(inst, pc);

}

printf("O\n\n"); // O0OOOO

// 00000000000O000O000O0DOO0OOO0OO0
for(i=0; i < MAX_ACTIVE_SYSATOM; i++){
printf("%d ", sysrulel[i].size());
for(vector<int>::iterator it = sysrule[i].begin(); it != sysrulel[i]
printf("/%d ", *it);
}
printf ("\n");
}

// atomID 0O O00O0O0OODOOOO

if (-1 == atomid.saveData("temp_aid.aid")){
dbg("file save error.\n");
return -1;

.end(); it++){
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86 return O;
87 }
88
89 // 00ODOODODOO
90 // withFunc !'= 00000000000 funcref. 00000000 OOOOOOO
91 // 000O0ODO0O0O0O0O vartableJOOODOOOOOOO
92 // rawDataFlag 0 1 0000000000000 000ox06000000000000000O0OO
93 // rawDataFlag O 1bit 00000000000 OOOCDOOOOOO
94
95 int getInst(INST *inst, int pc, AtomID *atomid, char *buf, int *vartable,
96 int instID, int argcount, int withFunc, unsigned rawDataFlag)
97 A
98 int i, count;
99 int p=0; // 000000 but 00O
100 int arg[MAX_VARS];
101 char func[FUNC_LEN];
102
103
104 inst[pc].count = argcount;
105 inst[pc].ibuf [0] = instID;
106
107 // 0000000OwithFunc 00O O0O0O0O0OOOO0OO-1000
108 if (withFunc) count = argcount - 1;
109 else count = argcount;
110
111 for(i = 1; i < count ; i++){
112 while(buf[p] != > *)p++; // 0000000000 ODCO
113 while(buf[p] == > ’)p++; // 0000000 DOOOOOCODOOO
114 sscanf (buf + p, "%d", &arglil);
115
116 // rawbDataFlag 000 0000000000O00CO
117 if ((rawDataFlag >> i) & Ox1) inst[pcl.ibuf[i] = arglil;
118 else inst[pc].ibuf[i] = vartablelargl[il];
119 }
120 if (withFunc){ // 00 funcref 1000000 OODO
121 while(buf[p++] != > ?); // funcref 000000
122 sscanf (buf + p, "%s", func);
123 inst[pc].ibuf[i] = atomid->funcConv(func);
124 }
125 return O;
126 }
127
128 // sysatom 00O 00O0O0O0O0OO
129 int optimize(INST *inst, int max_inst, int ruleNo, vector<int> *sysrule)
130 {
131 int i, name;
132
133 for(i=0; i < max_inst; i++){
134 switch(inst[i].ibuf[0]){ // O0O0OO0OO
135 case FINDATOM:
136 // findatom 000 sysatom O IDOOOO
137 name = FUNC_NAME(inst[i].ibuf[3]);
138
139 if (name > SYSATOM_BORDER && name < NONACTIVE_SYSATOM_BORDER){
140 sysrule[(name - SYSATOM_BORDER) / 2] .push_back(ruleNo);
141 }
142 break;
143 // todo: getfunc O newatomindirect 0000000000000 O0O0COOOOO
144 default:
145 break;
146 }
147 }
148 return O;
149 }
150
161 // sysatom, 0O 000000000000 OOOO
152 int writeCode(INST *inst, int max_inst)
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153 {
154 int i, j, count = O;
155 vector<int>::iterator it;
156
157 // 000000
158 for(i=0; i < max_inst; i++){
159 count += inst[i].count;
160 }
161 printf ("%d\n", count);
162
163 // 000000
164 for(i=0; i < max_inst; i++){
165 for(j=0; j < inst[i].count; j++){
166 printf("%d ", inst[i].ibuf[j1);
167 }
168 printf("\n");
169 }
170 printf ("\n");
171
172 return O;
173 }
174
175 ////177717777777771777777/77777777777777/777/7777/777/777777
176 // 000000000 0O0OO0OO0OOOO inst, atomid 0O OO
177
178 int readCode(INST *inst, AtomID *atomid)
179 {
180 char buf[1024], code[16];
181 char funcbuf [FUNC_LEN];
182 int arg[MAX_VARS], vartable[MAX_VARS]; // argl0] 0O OODO
183 int max_vars = 0;
184 int i, num;
185 int pc = 0; // instlpcl] 00000000
186
187 // jump 000 index 00000000000 OODOOOOO
188 for(i=0; i < MAX_VARS; i++){
189 vartable[i] = i;
190 }
191
192 while(fgets(buf, 1024, stdin) != NULL){ // OOOOOCOOO
193 //\t\t 00000000000000
194 if (buf [1] != ’\t’) continue;
195
196 if (sscanf (buf, "%s", code) != 1){
197 dbg("code read error\n");
198 return -1;
199 }
200
201 for(i=0; buf[i] != °\0’; i++){ // [,L1 00O
202 if (buf[i] == [’ || buf[i] == ’]’ || buf[i] == ’,’) buf[i] =’
203 }
204
205 // PROCEED [ PROCEED OO OOOODOOO
206 if (strcmp(code, "proceed") == 0){
207 inst[pc].count = 1;
208 inst [pc].ibuf [0] = PROCEED;
209 pcHt;
210
211 return pc; // OO
212
213 // COMMIT interpret 00 0J U 000000000 ODODOOOOOO
214 }else if(strcmp(code, "commit") == 0){
215 inst[pcl.count = 1;
216 inst[pc].ibuf [0] = COMMIT;
217 pct+;
218
219 // SPEC
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220
221
222
223
224
225
226
227
228
229
230
231
232
233
234
235
236
237
238
239
240
241
242
243
244
245
246
247
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249
250
251
252
253
254
255
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257
258
259
260
261
262
263
264
265
266
267
268
269
270
271
272
273
274
275
276
277
278
279
280
281
282
283
284
285
286

NEXT:

}else if(strcmp(code, "spec") == 0){

// 0000000 max_vars DOO00 ODOOO0DOODO
sscanf (buf, "%*s %*d %d", &max_vars);

// JuMpP
}else if(strcmp(code, "jump") == 0){

int top = 0;

// Lknum>0 00000
while(buf [top++] != ’L’);
while(isdigit (buf [top])) top++;

for(i=0; i < MAX_VARS; i++){
// 000000000000
while(!isdigit (buf [top]l)){

if (buf [top] == ’\0’) goto NEXT;
topt+;

}

// 0000

sscanf (buf+top, "%d", &arglil);

// 00000000000000
while(isdigit (buf [top])){
if (buf [top] == ’\0’) goto NEXT;
top++;

max_vars = i;
vartable[arg[i]l]; // temp
// 000000000000 vartable OO OOOOO
// vartable[n] O vartablelarg[n]] OOO0OOOOOOO
for(i=0; i < max_vars; i++){
arg[i] = vartablel[argl[ill; // temp
}
int max = 0;
for(i=0; i < max_vars; i++){
vartable[i] = arg[il; // OOO0O
if (max < vartable[i]) max = vartablel[i]l; // OD0OO0OO0OO0O0O0OOO0O
}
// 00000000000000000000000o0oooooooooon
for(i = max_vars; i < MAX_VARS; i++){
vartable[i] = i - max_vars + max + 1;

}

// 000000000

// DEREF
}else if(strcmp(code, "deref") == 0){

getInst(inst, pc, atomid, buf, vartable, DEREF, 5, 0, 0x18);
pct+;

// DEREFATOM
}else if(strcmp(code, "derefatom") == 0){

getInst(inst, pc, atomid, buf, vartable, DEREFATOM, 4, O, 0x08);
pctt;

// FINDATOM
}else if(strcmp(code, "findatom") == 0){

getInst(inst, pc, atomid, buf, vartable, FINDATOM, 4, 1, 0);
pc++;

// LOCKMEM
}else if(strcmp(code, "lockmem") == 0){

getInst(inst, pc, atomid, buf, vartable, LOCKMEM, 3, 0, 0);
pct+;

// ANYMEM
}else if(strcmp(code, "anymem") == 0){

getInst(inst, pc, atomid, buf, vartable, ANYMEM, 3, 0, 0);
pct+;

// TESTMEM
}else if(strcmp(code, "testmem") == 0){

getInst(inst, pc, atomid, buf, vartable, TESTMEM, 3, 0, 0);
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287 pct+;
288 // NATOMS
289 }else if(strcmp(code, "natoms") == 0){
290 getInst(inst, pc, atomid, buf, vartable, NATOMS, 3, 0, 0x04);
291 pct+;
292 // NMEMS
293 }else if(strcmp(code, "nmems") == 0){
294 getInst(inst, pc, atomid, buf, vartable, NMEMS, 3, 0, 0x04);
295 pcH+;
296 // EQMEM
297 }else if(strcmp(code, "egmem") == 0){
298 getInst(inst, pc, atomid, buf, vartable, EQMEM, 3, 0, 0);
299 pct+;
300 // NEQMEM
301 }else if(strcmp(code, "negmem") == 0){
302 getInst(inst, pc, atomid, buf, vartable, NEQMEM, 3, 0, 0);
303 pct+;
304 // FUNC
305 }else if(strcmp(code, "func") == 0){
306 getInst(inst, pc, atomid, buf, vartable, FUNC, 3, 1, 0);
307 pct+;
308 // EQATOM
309 }else if(strcmp(code, "eqatom") == 0){
310 getInst(inst, pc, atomid, buf, vartable, EQATOM, 3, 0, 0);
311 pcH+;
312 // NEQATOM
313 }else if(strcmp(code, "neqatom") == 0){
314 getInst(inst, pc, atomid, buf, vartable, NEQATOM, 3, 0, 0);
315 pct+;
316 // SAMEFUNCO OO func OO : OOOOOO
317
318 // GETFUNC : 0000000000 newatomindirect 00 OO OOOOOO
319 }else if(strcmp(code, "getfunc") == 0){
320 getInst(inst, pc, atomid, buf, vartable, GETFUNC, 3, 0, 0);
321 pct+;
322 // REMOVEATOM
323 }else if(strcmp(code, "removeatom") == 0){
324 getInst(inst, pc, atomid, buf, vartable, REMOVEATOM, 3, 0, 0);
325 pct+;
326 // NEWATOM 0 int OO0 NEWATOM_INT OO OO
327 }else if(strcmp(code, "newatom") == 0){
328 sscanf (buf, "%*s %d %d %s", &argl1l], &argl[2], funcbuf);
329 if (atomid->isIntFunc(funcbuf)){ // int 000
330 inst [pc].count = 3;
331 inst [pc] .ibuf [0] = NEWATOM_INT;
332 for(i=1; i < inst[pcl.count - 1; i++){
333 inst[pc]l.ibuf [i] = vartablelargl[il];
334 }
335 inst([pc].ibuf[i] = atomid->funcConv(funcbuf) ;
336 Yelse{ // atom OO 0O
337 inst [pc]l.count = 4;
338 inst[pc].ibuf [0] = NEWATOM;
339 for(i=1; i < inst[pcl.count - 1; i++){
340 inst[pc]l.ibuf [i] = vartablelargl[il];
341 }
342 inst[pc].ibuf[i] = atomid->funcConv(funcbuf) ;
343 }
344 pct+;
345 // FREEATOM
346 }else if(strcmp(code, "freeatom") == 0){
347 getInst(inst, pc, atomid, buf, vartable, FREEATOM, 2, 0, 0);
348 pct+;
349 // ALLOCATOM
350 }else if(strcmp(code, "allocatom") == 0){
351 getInst(inst, pc, atomid, buf, vartable, ALLOCATOM, 3, 1, 0);
352 pctt;
353 // ALLOCATOMINDIRECT
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}else if(strcmp(code,
strcmp(code,

getInst(inst, pc,
pct+;

// COPYATOM

}else if(strcmp(code,
getInst(inst, pc,
pct+;

// REMOVEMEM

}else if(strcmp(code,
getInst(inst, pc,
pcH+;

// NEWMEM

}else if(strcmp(code,
getInst(inst, pc,
pcH+;

// MOVECELLS

}else if(strcmp(code,
getInst(inst, pc,
pc++;

// FREEMEM

}else if(strcmp(code,
getInst(inst, pc,
pc++;

// ADDMEM

}else if(strcmp(code,
getInst(inst, pc,
pcH+;

// GETLINK

}else if(strcmp(code,
getInst(inst, pc,
pct+;

// ALLOCLINK

}else if(strcmp(code,
getInst(inst, pc,
pct++;

// NEWLINK

}else if(strcmp(code,
getInst(inst, pc,
pcH+;

// RELINK

}else if(strcmp(code,
getInst(inst, pc,
pcH+;

// UNIFY

}else if(strcmp(code,
getInst(inst, pc,
pct+;

// UNIFYLINKS

}else if(strcmp(code,
getInst(inst, pc,
pct++;

// REMOVEPROXIES

}else if(strcmp(code,
getInst(inst, pc,
pcHt;

"allocatom..") == Il
"allocato..") == 0){
atomid, buf, vartable,

"copyatom") == 0){
atomid, buf, vartable,

"removemem") == 0){
atomid, buf, vartable,

"newmem") == 0){
atomid, buf, vartable,

"movecells") == 0){
atomid, buf, vartable,

"freemem") == 0){
atomid, buf, vartable,

"addmem") == 0){
atomid, buf, vartable,

"getlink") == 0){
atomid, buf, vartable,

"alloclink") == 0){
atomid, buf, vartable,

"newlink") == 0){
atomid, buf, vartable,

"relink") == 0){
atomid, buf, vartable,

"unify") == 0){
atomid, buf, vartable,

"unifylinks") == 0){
atomid, buf, vartable,

ALLOCATOMINDIRECT, 3, 0, 0);

COPYATOM, 4, 0, 0);

REMOVEMEM, 3, 0, 0);

NEWMEM, 3, 0, 0);

MOVECELLS, 3, 0, 0);

FREEMEM, 2, 0, 0);

ADDMEM, 3, 0, 0);

GETLINK, 4, 0, 0x08);

ALLOCLINK, 4, 0, 0x08);

NEWLINK, 6, O, Ox14);

RELINK, 6, 0, 0x14);

UNIFY, 5, 0, 0x14);

UNIFYLINKS, 4, 0, 0);

"removeproxies") == 0){
atomid, buf, vartable, REMOVEPROXIES, 2, 0, 0);

// REMOVETOPLEVELPROXIES

}else if(strcmp(code,
getInst(inst, pc,
pct+;

// INSERTPROXIES

}else if(strcmp(code,
getInst(inst, pc,
pct+;

"removetoplev..") == 0){

atomid, buf, vartable, REMOVETOPLEVELPROXIES, 2, 0, 0);

"insertproxies") == 0){
atomid, buf, vartable, INSERTPROXIES, 3, 0, 0);

// REMOVETEMPORARYPROXIES

}else if(strcmp(code,

"removetemp..") == 0){

getInst(inst, pc, atomid, buf, vartable, REMOVETEMPORARYPROXIES, 2, 0, 0);
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421 pct+;
422
423 // COPYMEM, DROPMEM OO0 OO0
424 // REACTO O ODOO
425
426 // ISUNARY
427 }else if(strcmp(code, "isunary") == 0){
428 getInst(inst, pc, atomid, buf, vartable, ISUNARY, 2, 0, 0);
429 pcH+;
430 // ISINT
431 }else if(strcmp(code, "isint") == 0){
432 getInst(inst, pc, atomid, buf, vartable, ISINT, 2, 0, 0);
433 pct+;
434 // IADD
435 }else if(strcmp(code, "iadd") == 0){
436 getInst(inst, pc, atomid, buf, vartable, IADD, 4, 0, 0);
437 pct+;
438 // ISUB
439 }else if(strcmp(code, "isub") == 0){
440 getInst(inst, pc, atomid, buf, vartable, ISUB, 4, 0, 0);
441 pct+;
442 // IMUL
443 }else if(strcmp(code, "imul") == 0){
444 getInst(inst, pc, atomid, buf, vartable, IMUL, 4, 0, 0);
445 pcH+;
446 // IDIV
447 }else if(strcmp(code, "idiv") == 0){
448 getInst(inst, pc, atomid, buf, vartable, IDIV, 4, 0, 0);
449 pct+;
450 // INEG
451 }else if(strcmp(code, "ineg") == 0){
452 getInst(inst, pc, atomid, buf, vartable, INEG, 3, 0, 0);
453 pct+;
454 // IMOD
455 }else if(strcmp(code, "imod") == 0){
456 getInst(inst, pc, atomid, buf, vartable, IMOD, 4, 0, 0);
457 pct+;
458 // INOT
459 }else if(strcmp(code, "inot") == 0){
460 getInst(inst, pc, atomid, buf, vartable, INOT, 3, 0, 0);
461 pcH+;
462 // IAND
463 }else if(strcmp(code, "iand") == 0){
464 getInst(inst, pc, atomid, buf, vartable, IAND, 4, 0, 0);
465 pct+;
466 // IOR
467 }else if(strcmp(code, "ior") == 0){
468 getInst(inst, pc, atomid, buf, vartable, IOR, 4, 0, 0);
469 pct+;
470 // IXOR
471 }else if(strcmp(code, "ixor") == 0){
472 getInst(inst, pc, atomid, buf, vartable, IXOR, 4, 0, 0);
473 pct++;
474 // ILT
475 }else if(strcmp(code, "ilt") == 0){
476 getInst(inst, pc, atomid, buf, vartable, ILT, 3, 0, 0);
477 pctt;
478 // ILE
479 }else if(strcmp(code, "ile") == 0){
480 getInst(inst, pc, atomid, buf, vartable, ILE, 3, 0, 0);
481 pct+;
482 // IGT
483 }else if(strcmp(code, "igt") == 0){
484 getInst(inst, pc, atomid, buf, vartable, IGT, 3, 0, 0);
485 pct+;
486 // IGE
487 }else if(strcmp(code, "ige") == 0){
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488
489
490
491
492
493
494
495
496
497
498
499
500
501
502
503
504
505
506
507
508
509
510
511

getInst(inst, pc, atomid, buf, vartable, IGE, 3, 0, 0);
pct+;

// IEQ

}else if(strcmp(code, "ieq") == 0){
getInst(inst, pc, atomid, buf, vartable, IEQ, 3, 0, 0);
pct+;

// INE

}else if(strcmp(code, "ine") == 0){
getInst(inst, pc, atomid, buf, vartable, INE, 3, 0, 0);

pct++t;
// 00000
}else if(strcmp(code, "enqueueatom") == 0){
}else if(strcmp(code, "dequeueatom") == 0){
}else if(strcmp(code, "copyrules") == 0){
}else if(strcmp(code, "norules") == 0){

}else if(strcmp(code, "loadruleset") == 0){

// default
Yelsed{
dbg("cannot translate code:%s, buf: %s", code, buf);
}
}
return 0;

B.3 U0O0U0Oo0ooooodd

B.3.1 eyeconv.sh

#!/bin/sh
# please set LMNEYE = (executable file dir)

# remove temporary files
rm -f temp_init.lmn temp_task*.lmn temp_init.tmp temp_task*.tmp atomid.dat

# split lmntal file to init & tasks

if ! ${LMNEYE}/splitlmn < ${1%.1lmn}.1lmn
then echo "cannot split $1"; exit;

fi

# copy atomid template
cp ${LMNEYE}/template.aid temp_aid.aid

# convert init
java -jar ${LMNEYE}/lmntal.jar -d temp_init.lmn | ${LMNEYE}/translmn > temp_init.tmp

# convert task

for i in $(1s temp_task*.lmn)
do
java -jar ${LMNEYE}/lmntal.jar -d $i | ${LMNEYE}/translmn > ${i%.lmn}.tmp
done

# concat temp and generate binary tal file
tasktmp=$(1ls temp_task*.tmp)
${LMNEYE}/gental temp_init.tmp ${tasktmp} > ${1’.1lmn}.tal

mv temp_aid.aid ${1%.1lmn}.aid

if [ $# -1t 2 1; then
rm -f tempx*

elif [ $2 != noclean ]; then
rm -f tempx*
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35 fi
36

B.3.2 runeye.sh
#!/bin/sh

# run Q@ eyebot

cat ${1%.tal}.tal > /dev/ttySO

echo "now waiting output of eyebot"

${LMNEYE}/bin21mn ${1%.tal}.aid < /dev/ttySO > ${1%.tal}.out
java -jar ${LMNEYE}/Ilmntal.jar ${1%.tall}.out

W N O WN

9 if [ $# -1t 2 1; then

10 rm -f ${1%.tall}.out

11 elif [ $2 !'= noclean ]; then
12 rm -f ${1%.tall}.out

13 fi

B.3.3 runpc.sh
#!/bin/sh

# run Q@ pc
${LMNEYE}/1mntal < ${1%.tal}.tal | ${LMNEYE}/bin2lmn ${1%.tal}.aid > ${1%.tall}.out
java -jar ${LMNEYE}/lmntal.jar ${1%.tall}.out

if [ $# -1t 2 ]; then
rm -f ${1%.tall}.out

elif [ $2 != noclean ]; then
rm -f ${1%.tall}.out

fi

= O W OoWNOOD WN -

o



